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244.  Ls3sghm gagdBHHmydsdgdo bsbol smzswogmgds dgwdwros dobodvyd ... xawmxol ddmby ghom
0mdmBsgqls? (3mbero 57 3 2)

S. +IL
0. II1.
G- Iv.
. V.

245.  fglgdoo s30dsernemos 1000 gmew@l Bgdmo Lsdsgmm bsbbg, dofjsbg ©saIdME gs9EsMmb
dosbaomads ... Ag@HbY sbenm 856dowby. (3baro 57 3 3)

S. 2.
0. 4,
G- 6.
. +8.

dbero 58. 3MBomds Lgab-ob 3B 55339000l S FosbEEMYBOL SEYOdd0

246. 306 Mbs MBOWMB3IgEYML GHOBLIMOGHOL ©EOMIBom FgBgMgds, LoBGMBLIMOGHM BogaoLGHMIOl
2900533390 Lo3ogBH ™ bsHBg 3mTomdoboL? (Fmbero 58 3 1)

5. +0mdG5000L bsdLobwyGHob FoMdmdoyqbgards.

0. Lodndocl AFo®Imgdgends.

G- Lo3Foml bgerddmgobgends.

. 296% 9ol 408(399ds.

424. G  wbo  3953300ml  Lo@G®obL3mMEBHM  FogolBMool  FmdMomdol  LodLsbvGol
§o600m0s00gbgeds, Lo3sghm boBolb dogh LaGMsbldmME™ FoaoLEHMOEOL 35053390l 5EA0Egdd0
3995md0LOL? (mbewo 58 3 1)

5. +Lo oMM MM 995hgMHML BHOMIBL3MMOEHOL INIHOMDdS.
0. MLoggMmbm  Lodsmwgbg sbfoml ImdMmsmdol bgerdgddwgmwo 2593sMgd0, GHMmBL3MMEHL
20LGMGOS.

G- ©55949bmb BBy dqloabaowmggdo.
Q. 299030000 253503MmMbOWwgdgwo 3¢0353)00.

425.  153596m bsbol dogh aBoB39E0wgdol 96 FoMogbols 20e533000l $a0wgddo FMdsmdobsls
9mgddgo Falgdoom dmombmggds Igloabagrggdols synbgds 29s33gmol mMogg dbstgl 35339000l
50000 3M3653egd . ....0 IsbdonBy. (3mbeno 58 3 .2)

5. 2540.

d. 50 a.

G- 75 0.



Q. +100 0.

247. 306 ¢Boos a965¢magml Agliogbsemggdo 3BoB30G0wgd0L 3593390 Bs3sgMm bsbby ddsmdolssls?
(@mbamo 58 3 2)

s. +15999 oMU AfFo@Imgdgends.

0 LogBom LEALab GO FoMdmdsyqbgards.

S, LoGEoBL3MEOEM Bog0LEHMool MIMOMBdOL LoAbobwMol FomdmBoygbgewds.

3 Lodw)doml bgerddmgzsbgends.

dbero 6.2 9m8smds gergd@HmIbmdo Bsmfimbgdoms s Lsbmdo 3Esbygdom

248. 906003 Gv89bds 385305 Fg0degds dgoltrmmmls Lsdmdsmgdo gergdd®masdbmdo dsemfjmbgdom
29635Mmegdom 1000 3 bgdmo gergd@mmsbsas®gddo? (dmbwmo 62 3 1)

s. +2-05 0905305.

0. 3-05 0v9d530.

G- 4-05 0v935305.

. 5-05 0v9d530.

249.  gwgdBHeEMbsgcmbmgdol Gmdgwo xamno wbos 3Jmbogl  dmdsggdl, 1000 3 bgdmod
09JGHOME650y5Hgd30 33635MaMWgdom gegdEHmysdbmdo ds@fmbgdoo dwdsmdolob? (dmbwo 62 3 1)
5. + 960Ub IV xamg0 dgmemql III xamso.

mM03qL III xamgo.

9oL III xama0 dgmdgl I xamao.

9ol IV xama0 9gmdgl II xamao.

@ v @

250.  BgdooMmen0d, gergdBH®mmasdbmdo bywbsfigmgdoo 1000 3-3wg sbsystgddo 0dmBsmls g@Hods
34985305 9egdBOMLIBOHPHBMGdOL 5653 gd. . ..... (Bbero 62 3 2)

S. +III xamg300.
0. IV x3m500.
G V X30300.
. II xamx00.

251.  B09m0mYm, HEOL 565 LoFoMmm 0L BP0 by msmdsbgdol godmynbgds? (dxmbwo 62 3

3)

s. + 250DMdo 9¢obaom 39Fomdolsb.

0. 1000 3 B99mo ©sbs@s¢M9080 gargd@®masdbmdo Jocfbgdood 393smdolsl.
G- 153596 bsBob 49800083900l RO MNZo-458MMmM30Lb.

Q. 1000 g Bgdmo Lgab-Bg dsd30L sM5MLGOMBOL dgdmFAGdOLSL.

252.  s509qogb 98s3L 89vydenos doolitryenml Lsdwydscmgdo gsdbmado 9Eebagdom? sMbs3ergd. . . (Ambemo
6233)
S. +2 9w93s3L.



0. 3 3w9do3L.
G- 4 3M053V.
. 5 9mds3L.

253.  99d@OHmnLIsgcmbmgdol HMmIgwo xamno vbs 3Jmbogl 2sd%bBmdo JEBbyom dmdwdsgy

91853907 (3mbero 62 3 3)

S. +9M0b bs 3Jmbogl IV, sba®bhgbgdl I11.
0. mMogqU 1L

G- 6oL 111, sba®bhgbgdl I1.

Q. mMogqUL I1.

dmbo 64. b53wdsmgdo dgasmddgGmoo

254.  6HmIgewo ©sa30L  Lsdwgsmgdadol godmygbgdss smEomgdgmo  3gasmddgBmol  39359Gmgdgmo
359356900l 1000 3mmBl Bgdmo 9ergd@OHMmEIboasMgdol ©gbasdds® bsfowgdmsb dolsgMmgdams?
(@mbamo 64 3 3)

5. +050DME0Mgdge0 FEobys, 0gwgIBM03MEo by msmdsbgdo.

0. 0593930 LOMZowy.

G- 350DME0MHgdge0 bogroBs.

. 0BMEoMgdmEbobgewmosbo 0blEMmmAgbEgdo.

255. MLogmmbmgdol s BmIgdol Foegdss LsFodm  OgasmddgE®moo  oBmmsgool  fobswmdols
25Bmdz0Lsl? (Imbero 64 3 4)

5. mbs  dmbgl 00  ©3bysdGHIM0  Bofomgdol  BOMEIMO?  FOIIOMYDs,  BIDTWYdOEG
90960900 3900399 @HO0L 8mdFgMhgdby.

0. +56 9900905 00 b3 BHM b5{0wgdmsb Tgbgds, MmIguBg ogHmgdwyeos dgaemddgd®o.

G- by ©sdofiglb ol ©gbysdEIM0 bsfowgdo GMIgdos Boghmgdwyeros dgasmddg@mol
9m3396H90by.

Q. 65 2o9tm0300ML 3es358gd0: , ]! do0355%, ,,50 BIOMMM™, Fdscmdl bogrbo®.

256.  9mgdgoo fglgdoom 65d5sMmmYE0s 0BMEsEoolL Fobommdols gobmdzgs 9gaemddgdEmoom Bgslityemls
96035 3485395, gEgdBHOHMMBOBOMNLMGIOL 5M0Bs3Egd. . . XarIBom. (BMbero 64 3 4)

S. II.

0. +I11.
G- Iv.
Q. V.

dmbeo  77. Lsdn3smgdo  geodBHmmmsbsas®gddo  53G™ImdOEYdol, GH30Mmsdfy  dsbJsbgdol,
39d560gd0ls s 3087900l gsdmygbgdoom

257.  9mgdgo 9egdGHHmEsbaasmgddo G300 s6gdobgdol s dgdsboBdgdols godmynbgdoo dmdsmds
b5 3090bsMgmd©IL... (Bmbero 77 3 2)
5. + 396G gboo.



. 29635Gmwgdom.
G- 90806567 9Ju3MsE 300l 30M:MdYOTO.

. 909000 56 5MHOL FobloBLZMHMEO

258.  golo 9gm3zseng@gmdoo vbos Fom3mgdwgl mad-8o ©s bgab-ob sE30L Bmbsdo sg@mImdoErol,
G3060ms0fg 9s6dsbgdols s 9ggsboBdgdol dmdMsmds, Fsmo ©yghgds s 3mdsmds? (mbemo 77 3 4)

S. + M39653H0Mwo 96 m39M5@0m-LsMgdmbEm 3gMlmbocol, 25B{gbol gsd3gdol, Lsdwdsml
b9wddegsbgarol dgmgewyyHgmdoo .

0. IIT xma30L dgmby 3060l Fgmzo¢ygwyHgMdOm.

G- V xa9530L dJmbg LoegdmbEm 3gMLmborol BgmgzsemywMgmdoo.

Q. §9L9000 56 5L FobloBLZHXIEO.

259.  @sbs839005, ) 565 OLMSBO BHZ0MMTfY F9dsboBIGBOL EIYghgds s FMFsmds dsd30L J39d IgmBo
35 33-dog Lggab-ob Logbgdol §39a? (dmbero 77 3 7)

s. 55339000 (3939w d90mbg9g35d0.

0. +530 o000,

G- 553390005 FbMEMmE Hgdmdol bgdsGmzom.

. 55339000 LodwYTomb bgerddmgzsbgeol bgdsMmzom.

260.  3mob® LoyMI6gdbYy 0BMEEHMMIdOL, Loghgdol g33wslmsh b sMTsGMGOL 8g3909d5L0sb
053538009000 LdMAocmdob BodoMgdoLl s3MAserwos: (Gmbero 77 3 10)

S. 335mdS 3OO 2odBHMOL oMy 39MboEb.
0. +39wgb3m3wIHo 3093900l ©sYgbgds Lagbgdol dogH Fo@dmgdboro 3mmbol dogboo.
G- §909000 96 5HOL FobloBOZHNEO.

261.  8mgdgoo Faligdom, HMEOL 56 Fmombm3zxds 300050 3o6Jsbgdols s dgdsboBbdgdol sdofjgds?
(@mbeo 77 3 11)

5. 9] 369300mm3wgd0sbo  B3060Hmsdfg 056456900 s 9JoboBIgdo  ©iygbgdMos dgEM™bol
bog3)d39bY.

0. +00¢) 3bEbom3wgd0sbo EH30Mmmsfg 356456980 ©s 39doboBIgdo oyqbgdwos MBmswm
260996 bg.

G- 09 36930mm3gd0560 B300mdfg 56496900 s dgdsboBTgdo ©Ygbgdos b3gwr MbEHBY
(Fomdo, BHds s bbgs).

dnbeo 78. booBmgd by, BoEsMboagdby, 3mbLEGHMMI3000bg o Imfymdowmdgdby sbigwoliosb
05353800900 Lsdvydomgdo

262.  obgomo bsdnTomgdol FgliBvyengdolisl, GmEILsE 5 SMOL dgbsdegdgmo 3330 JsAMOL XSG
53590l 3mbLEHMNI30sLS O LoyMEgbgdbY, 49dmygbgdrmo Mbws 0gdbsl: (Bmbemo 78 3 1)

S. 3009.

0. + 3BM3930 Boa060, M™Igwoi Hobsle® 0dbgds  ©sdsyMgd o 3mbLEHMYY305%Y,
L5gMabol yEHIWbY s 5.9.



G- §9L9000 56 5oL gobloBLZHXIEO.

263.  bs5BMYPRdOL, FoEIMBIRgOoL, Logzoamwol bsxggbgdo Mbs Fgdmommdml mvy) dsmo Lodswerg
236BEOL Bgs30600sb 96 39abMMH39d0b smgdsdgds: (Ambero 78 3 3)

s. 0,8 dgBH™L.
d. + 1,3 99OL.
3 0,5 993OL.
Q. 0,7 99 oL.

264. 65 DmIgdo Mbs 0gbgls Goegdmeo dsd30L J3gd Iymao ©9bysdEsMo bsfowgdol bgdmon
3MBLEAHOMJ3090Dg FMTomdOLLL LooMR3gdoL s 0bLEHMYIIBEJdOL FoHEBOL 153006 SBoEOEYdWsE?
(@mbeo 78 3 4)

S. 0bLEHMG6EH OO0 b IMMs3LgL Bsbamado.
0. +0BLEMMI96EH 9GO0 F0dTMOo MbEs 04bsl 3BLEHMW305DY.
G- §909000 o6 5HOL FobldBOZHXEO.

dmbeo  80. Loghom dmmbmgbgdo  Llm-b  3gOLlmbogrol  Lodwdome  ©sd3gds  dmddgwo
99933 MEBsYMIBOLS S JErgdBHH M990 boBgdoL ©sE30L Bmbsdo

265.  9mgdgoo figbgdom, Bmombmggds mvy 56, bogdudErmo@sgom bsfaddmdo dobgerolsl, Lsddgbgdewrm
Ls3mbGs7m MMRB0BoEooL 3gHLmboemolismgzgols 0BliGMmwYIE g0l PodoMgds? (3mbero 80 3 4)

5. +0dmombmgzgds.

0. 36 dmombmgzgds.

G- §909000 96 5HOL FobldBOZHXEDO.

Q. 1535 EJOMEMs FbMEMmE LsdIGbgdM LodMbE oM MMABOBsEoOL dmmbmgbom.

266. 306 sbmMEogwgdl Loddgbgdem-lsdmb@ogm 3gMlmbogrol 30M3gwoE s33gdsl Lodmdomgdby,
6HmIgdog Imombmgl  gegdBHMmmMsbsasMgddo gs3mMmmggdols Bo@IMYON ©s dd3z0L g3gd dgmxyo
09dHOMY©593900 bsbgdol o330l Dmbsdo ymybsls? (3mbeno 80 3 6)

5. 153d9bgd e M-L5MBE M MEYBOD300L 35Lboldygdgwro dgdbMmEgdgEro 3060.

0. +0050339%0 LogdudEMOESGOM LofoMTml 3gMlMbsOEIb.

G- 15399690 M-L5TMBE M MORBODIEOOL 3gMLMmbowo IV xamaom.

. 9090007 56 5L FobldBLZHXIEO.



dbero 82. L FomBy 333905 258sbsforgdgee dmfigmdogrmdols 9gdmmm@dsg 36  bsfjogmmdmog
399mm®d0owo b53xsm bmbsdo

267.  6Hmam® mbs Fglevamgl  bsddgbgdwm-1sdmbEegm  Lsdwdsmgdo, 153d6gdMM-LsdMbEFSgM
6560300l 3gHLmbseols dog, dmgdgo gugd@OM®sbsysMIBOLL s JurgddHmMassdgdo bsbgdol
©5330L Bmbsdo, 0y LsddgbIdEM-LsdmMbEgM MMHYBOBOEFOOLIMZOL godmymaoo Lsdwdom Bmbs sMos
399mmmdoro? (3mbero 82 3 2)

3. +159999om9dL SLbOEgdL 15889690 M-5dMbEo5gm m560% 0oL 396Lmbowro,
L59gdL3EsGSEOM LEFoMIML FomBMBoAgbwol FgmzswymGmol BgsTbgElg™MdOm.

0. L53omgdl SbMEdL LoddgbgdM-LsdMbEIM MEYBOBEOOL 3gMLmbsro, Jogwobgdwo
3960bMbsE Ol MBRWGd0m, IgIZowYMeg 56 0bodbYds.

G- §9L9g000 56 sHOL MY 5TIBEMYOIMEOO.

Q. 50 dgdmbggzsdo Losdwdsmgdol dgbdmeErgdol MBEgds g3l dbmemo  gbgMymzmaddsbool
»BgdILo 3gMLMbsl.

dmbero 83. bsdmBsmbg 53905 9EgdBHHMYSTE7d0 boBgdol o330L Bmbsdo

268. Lo vBs o9Yyghml 8339035  ©sofgdgdo,  bOATYBYIM-LodMbEIFM  MEYIBboBsGOOL
3sbrbolidagdgeo 9gdltrvyengdergdols (3gMLmboeols) bodsg@mm baBbby Lodwdom ©339d0LL? (Frbero 83 3
2)

5. +000M ©530fgds Ym39w0 dMH0YSEOL Lsddom 5RO DBY.

0. 96000 ©530fgds Y39ed dEI0YSOLIMZOU.

G- 4mM39e0 30Ol bddsm 5EOWDBY MOO SBOfYd..



ahly

9/ 396Lebagro (2019)

1) 969629303190 65030 s 5070 JergdgbBgdol BomZols s FMALIBMEOIBIBY
bEsIomgdEo s 3MTsmdsdo 6 m39bg 990 §y39G 0L dmbg 39MLMbscols sdzgds
39L5dgdg0s dbmeome (3 4. 3 8)

50MB0g 9OH0:

a. 35003 LsdMdomgdol [omdmgdol 0bLEMWJE70L o3¢0l 3999

b. LozmbEHOMM 535600506550 IAM S bobdaMLofobsomdgym 35Mx0dol 9999y
c. 3Hmdob MBsgOMbMYdoL 0bLEMWJEo70Ls s (3EboL T9dm{idgdol 909y

The correct answer is: 330l MLsgONHMIIOL 0BLEOMJEo7g0Ls s 3mEBoL 8gdmidgdols
9903

2) (0390 0bLEOMIGog0 Mbos BorEsMgl 3ds3ls, 3w9dsmdsdo 30 ok 6 ™399y
093930L dg0mbgggzsdo? (3 4.3 9)

500MB0g 9OH™0:
a. 30039050
b. 30bbmdM0z30
. 056909

d. 396Hommo

The correct answer is: G0g56939

3) $9J603M60 9Ju3eMSESE00L, MBsBOHDHMIIOL BHYJbolz0l s LabsbAMM MLsBROMbMIdOL
{9LgdoL, 05650 YdMdMOZ0 s LfjoMmBmm obliGMvd30gdol (3m©bol 3gdm{dgds beogds: (3 4. 3
12)

50MB0g 9OH™0:

a. 306395 - Lsddombg EsIMM30IOWSE 5339d0L H0b; 39MHOMPWH® - sy bow
3500903d0; H0yASM9T9 - §9LgdoL s 0BLEBHMMJ309d0L MM3930L d9dmbggzsdo



b. 3063905 ol sbsfiyoldo; 3gMH0MmEs - 2 fgardo ghmbgw; Moayscgdg - ymggw 6
®39do ghmbge

€. 3060395 - ol dmeml; 39M0MmEWs - gwoffodo ghmbgwm; Moyasmgdy -
3390@5wdo ghombg

d. 30639ws - ™39d0 ghmbgw; 39HOMOYIEs© - Fgarofodo ghmbgar; Gogyscqdy -
3390@5wdo ghombg

The correct answer is: 306395 - LsdBocBY M 30YdE5 ©533900L f0b;

39600 - Y60 35009330; 0™ - Hgligdol s 0bLEMMI309d0L
©MM3930L 900mbggzs80

4) 399603960 9gu3w)s@sEo0l, LsbsbdMem MlsgMmbmgdol fgligdol, Lofs®dmm s

056500098MdM030 06LEBMI30980L 3MmELOL 890m{j0gds Mbws bEgdmEal sMsbs3Egd ... (0
4.312)

50MB0g 9Omo:
a. bmo fgerofodo geombgem
b. 06 Hgeroffodo ghmbgen

c. bod fgeroffodo gMmbgen

The correct answer is: b8 {fgerofjsdo ghmbgem

5) G5 396H0Mm©YYEMmdoo MBS brgdmEgl MisgHmbmgdol Ggdbozol Fglgdol gdmfjdgds od
396LMbsoLmZ0L 30L0 LJd0BMBsE 35380MYBM0s JEgdBHFHMEPIBIYIMJOOL
9JU3¢EBHS305LS S FmAlsbYMYBdLME? (3 4. 3 12)

500B0g ghmo:

a. bod Hgerofodo gembgem
b. 06 Hgeoffodo ghombgen
c. Pgarofodo gbmbgen

The correct answer is: {fgerofjs8o ghmbgen

6) 306 16005 3965bMM30gEMl gbgPymmdogdEHoL JengdGHMmEboasMgdol Ggdbozmmo
3 m3s69mdoL d9dozo 3mbGMmeo? (8 6. 3 5)



a. 0MESGHMMO0L 39MHLMbETs

b. Lo6gdmbE M 3gOLMmboeds

c. 530bolEBHM30Mw-G9gdb03MBs 39MLMbIEDs

d. m3965@0wds s M39MEGH0ME-boMgmbEM 39MHLmbsds

The correct answer is: m396M5@035 ©5 M39M5EH0Y-LMgIMbEHM 3g9OHLMbsends

7) 39360360 9du3es@sEool Fabgdol msbsbds, MmIgmo wmbolidogdgdo
MBOHMB3gymgls dsenmzgsbo G®MIBLEMMAsEMMHgd0L bsbaMdwog s Ldodgm 3vdsmdsls?
(0.33;3.1)

500B0g 9O 0!
a. 3O MBS 0yml BHMIBLGEMOToEHMMIIOL EHZ0MMN3700L, IBIOOLS s (35 3JME0
99396@9d0L 39339093 M9gdoL LOWOYJOO OB B®mIoL Gotmywrgddo

b. 530 MBS 0yml GHMIBLBMOToEHMM OOl oGHZOMMZ900L, d5039d0LS O (391 3J IO
99396@9d0L 3H9939M9¢M9d0L LOWOWYJOO IYIBOE0 BMOTOL BoMYWdTO

C. 3530900, dod30L MHgA0MmgdOL s Bb3s 9egdgbEJdOL QomToMmeg IYMIsMYMdS0
99656Pmbgds

d. bsbdMol §OHMdoL LEsE0Mmbs Mo BsdwgsegdgdOL odsMmwe IERMIsMYIMdSI0
99656Pmbgds

The correct answer is: 5320 MBS 0gml GHGHIBLBMOHTsGMMIdOL IGHZ0MM39d0L,

d5939%0L5 5 (39390 9¢rg99bEHJd0L Bga3gMoGMMYdol LoEOEYJd0 WsEyIBoo
BMIol BoMymgddo

8) (9db03m60o 9du3egs@oEool Fgbgdol msbsbdsw, Mmdgwo mmboldogdgdo
MBOHMB3gymgl dsenmzgsbo GMmIBLEMMIsGMMmgd0L bsbaMdwog s Lsodgm 3vdomdsls?
(@.33; 3.1)

50MB0g 9O mo:

a. bsbdMol JOHmdob LEsE0Mbs Mo 15dw95¢gdgd0L oBsMmMwe IERMIsMYMdSI0
99656Pmbgds

b. Bgomol dsbsliosmgdegdols s GHEMBLBMOTSEGHMMOL 0DMEWsEo0L 5MBMMI0MmgdME
D03m90d0 996560R1bqds

C. 3530990, gbols M9 gdol IMFYMdoEMdgdoL s bbgs 9e9dgb@gdol 3sdsmovye
90 Mdo6gmdsdo 99bscBmbads



d. 3530990, d5d30L M9AY0MgdOL IMFYMdOEMBJdOL s bbgs 9e9d96@gdol 35350
9 Mdo6gmdsdo 99bscPBmbads

The correct answer is: 5309000, 353306 Mg3ME0MIBdOL Jcmfigrmdomdgdols s bbgs
999963900l 585M00YE 8EmIsMgmdsdo 99bsOBMbyds

9) B9dbozmto 9dudegs@ozool Fabgdol msbsbdsw, Hmdgwo wmbolidogdgdo
BOHMB3gymagls dsenmzsbo G®MmIBLBMMIsGMMmgd0L bsbyMdwmog s Lvodgm 3vBomdsls?
(8.33; 3.1)

50MB0g 9OH™0:

a. Bgol JobslosmMYOEGOOLS S BHEMIBLBMOT>EGHMOOL 0DMsE0OL BgbmMHI0MmYdY
D03m90do 996560B1b6qd0s.

b. Bgomols dsbsliosmgdegdols s GHEMBLBMOTSEGHMEMOL 0bDMmsE00l Brn®moMgdmem
D03m90do 996560R1bqds

c. bsbdMol JOHmdoL BESE0MbI MO 1153w95edgOOL oMM JERMIMYMdSI0
396568690

d. 3530930, dsd330L MYAP0MYdOL s BBZS gergdgbBgdol owds®msg MIsMgmdsdo
396568690

The correct answer is: 900l Fobsl0s0YdEGIOLS S BHOBLBMOT>EHMOOL OBMESEOOL
BmH3docgde Bm3z™gddo dgbsmBmbgds

10) 990d¢0gds, 09 565, dsd30L J399 3gmBo GHOBLBMOsEHMMIOOL oBHI0MMZ0L J370 dsd30L
6930Mgd0lL dmfigmdoemdols bgerom (bLabgwHom) assmmgs? (3.33; 3.7,)

50MB0g 9OH™0:
a. 9909905 B9damdo m3gMoGoo 33530l 39635MyMwgdom
b. 56 9godegds

c. 9909905, 0¥) GHMBLBMOTsGHMOO 0994Mmz39gds ©99do Lgwrol Mgx0ddo

d. ©5083905, 9696mLoLEgdoL 9dbolzmEmo bgwddm3sbgwol 3ssfy3gEowgdoom,
365533MA5GH 16 H950030 949bgds Mg JugeErdo dsd30L (335 GdIEMBS 0TYMRIdS

LoBE3M90T0, HMIYE0E 53059MBogdL 9e9dGO™M9bacyool Bmdbdsmgdewols Immbm3bgdls

The correct answer is: 56 390de0gds



11) L@ ®BLRMOT>GHMMM J3gLoAMMIBLS s 3999MYdOL 39bEGHOMsE0s bs
"bBOHMO3IYYREIL GOBLERMOTsEHMMYdOL 3Tsmdsl (3.33; 3.8.)

506MB0g 9OH™0:

a. 53500 M9s50ddo

b. 439w 6mGIoMgde M90dd0

c. Lo6gdmb@m Mgg0ddo

d. 5356099 ©5 LMYIMBEHM 30OHMBYOL

The correct answer is: ygges 6mHdoMgdE Hgg0ddo

12) 0515339000, 037 565 doem3560 GMIBLRMMIsEHMMmgd0L bobaMderogo 3domds
(56579993l 6mFobsermo LoddEPs3MOLL) MB0EIGdOL MOMMYME 2563BHMYdsBY 53
395633 ™gd0L bmdobserm®o dsdgol 10 %-bg dg@o dsdgzom? (9.33; 3.14)

500MB0g 9OH™0:

a. QdLv339005 yz9ws dgdmbggzsdo

b. ©sl5d390005, ) 5035 Y39 360D 56 50gdo@gds dds dsd3ol

€. 15339005, M¥) 35035 YM3gW 3MbobY 59T gos 3ds dsd3sL

d. 839090

The correct answer is: ©sl5939005, 09 d5d35 Y39 3M33b0bBg 56 50gdoEds mds dod3L

13) 39693 Mgdol bmdobsgrMo gbols Ms8gbo 3Mm3gbEH0m 890dwgds 43I0EGHZOMMML
900560 GHMBLBMOGTsEMAOL Bgdolidogho gMsabowo, 030 59 563EMgd9dBY dsd3s
Bm3obsgor®By dgBo 56 sGols? (9.33; 3.15.)

506MB0g 9OH™0:
a. obdEGHmgd9gd0oL bndobsgrmo qbols 10 %_oom
b. 29683Mgd9gd0l bmdobsgrm@mo gbol 30 %_om

c. 3963390930l bmdobswrm@mo gbol 5 %_oom



d. 3963@™9q0900L bndobswrmo gbol 20 %_oom

The correct answer is: 569&™gd9d0L 6mdobsgro gbol 5 %_om

14) 5 396H0Mm@MEmd00 vbs begdmmal Lo@®sblgmmds@mmm 3mbJ@gddo dswrmgsbo
AMBLGEMOHToGHMOGIOL EIMZ5¢r0gMHgds 350MMMNZ0L otgdg? (9.33; 3.26)

50MB0g 9OH™0:

a. 3565390 3900 gOHMbgw  LoGMsbLBMOsBHMmeMm 31bJE9gddo

b. 5656530090 6 3990 gMH bgew LoEOBLBMOTsEG MMM 3bJEgddo

c. 56 5M»ob bn®doMmgdMwo

d. 565653090 Fgrofodo ghom by Lo@G®mbLEMOIsGMO™M 3bJE9gddo

The correct answer is: 505653e9d 6 ®379d0 9O by LOGHOBLBMGOT>E MMM 3MbJEgddo

15) ®m3gemo  Bmdgdoms MHBOHMO3IXYMBOOo 356 IYTMEMBOL 3mI3gdEBMMo
398565509090 dmfjymdogmdol gangd@®OHmEsboasmgdol boodgom 3dsmds, dsmo

©5006dMH O S5EIMBRIOML 306MHMdJB0 S ©FMFY0569dme S0 gddo
296ea900LsL? (3.34; 3.2)

506MB0g 9OH™0:

a. 3503%9%0L 39639303000 S OHBMWHE00L 30EOMBMINMOO 35BEJO00 3v)ds39d00
b. 39650900 A5ROMMYds-d9dFoMmgdom s (Hdgbom

C. 39659d0L 39639BH0BSE00m O 0HBMEsE300L 30EOMBMINMOO 35LEHJO0M S3v)Is39d0m
d. 3965©900L IBRIMZ0m 30OMABMOMEMO 35BEJO0D S 35090930l T9dF0MMIO0M

The correct answer is: 35G50900b 39639G0BSE000 S 0BMEH300L 30EOHMBMIMGO
35b39000 339539000

16) ®5 LoEOEIL 56 MBS 509353 JPMPIL EIBMBEO godsbsfowrgdgero dmfigmdowmdgdols
Lomoglimgdols dogboom 35900l $9a3gGmad@s? (0.34; 3.3)

506B0g 9MHMO:
a. 30 CO

b. 20 CO



c. 45 C0
d. 40 CO

The correct answer is: 40 CO

17) oo mbs 0gml 890 30MM39dw9e0 1553509 5GbYdT0 b3odgwrm 653390vGMgdOL
3oLLZEgMgdo? (8.34; 3.6.)

500MB0g 9OH™0:

a. bHMoxs 350 bogmoghgdom

b. 565{35000 bogmogMHgdgd0om

c. 899300060 ™M3905 3509900L 459mLsligEegddo sMOlsg5ePYdIIMS
d. bols beagngdom

The correct answer is: 55{35¢000 60300090Hgd9d00>

18) M5 g9MoL LoMgds3000 Wb 0ymL F9rgdowo 3 33 S BMmo dsd30L gsdsbsfowmadgero
dmfigmdomdols sds30figdgwo sbgdol LabgwrmMgdo (0.34; 3.12.)

50MB0g 9OH™0:
a. foorgero

b. ogmeo

c. 803569

d. dsgo

The correct answer is: ffomgeo

19) M5 g9MHoL Lamgds300 1bs 0gmL Fgmgdowo s3ofjgdol sbgdo gadsbsforgdgu
dmfigmdogmdsdo 333 s bggzom (9.34. 3.12.)

50Mb0g 9H»O:
a. foogwo
b. {3969

c. 9530



d. ygomgwo

The correct answer is: 3530

20) bse 96 Mbs ogmls FoMfghgdo sdsbsfoegdger Imfymdomwmdgddo, MHmIwgdos
5060365396 30659000l 60369 gdsL s LaEOL3YEBIMM EILEbYgdSLs (0.34; 3.13)

500MB0g 9OH™0:

a. 850900l 3569wgdol Fobsliabgls s ©93565 Tbatrgydby

b. 333-0L fobsliobgls s ogs bsfowgdbyg, 8993090 396059dBY

c. ©3d-0b 35M9d90bg s 35996Mm9d0L Fogs 390WYdbY, VAT-0l bsYIMGODY
d. 339-U g99mlogm®gdge 9egdnb@gdbg

The correct answer is: 333-U 3530mUbogmMgdge gegdgb@gdby

21) 65 3960MmEMEMdo0 br®M3090©gds 358565f0mgdgeo dmfymdommdgdol 308wobsmy
09390909007 (3.34; 3.24.)

306MB0g 9OH™O:

a. 2-3 flgwofodo ghombgwn

b. Hglm®LOL Sdmfwym30L T9009

c. boFommgdol Jobgz0m, ¢9d603w9M0 bgerddmzsbgarol doge oygbowr 35¢gddo

d. 6550l 3933900056 2 ool 8939

The correct answer is: bs3oMmgdol dobgzom, B9dbozm®mo bgwddwgzsbgemols doge
©3©y9b0w 35©gdT0

22) G039 399963900056 glsdsdolicmdoo MbBos Bs@oMgls godsbsfogrgdgumo
3mfigmdomdol gergd@®HmEabsas®gdol ysdmsgdo? (9.34; 3.25;)

506MB0g 9OH™O:
a. LobobdOM MLsgOMbMgdOL (glgdo

b. MLsgzOHPbMYdOL FHgdbozol Fabgdo



. 3996039600 9du3Ems@sEool fialgdo
d. 999 BHMo sbssMgdoL 25dmEwgdoL bm®mIgdo

The correct answer is: gegd@®Eo ©B5YMHIOL g53mEEYdoL brMdgdo

23) 306 MbBs 39bsbmM309wmL 3MmbBHMMEOo gagd@HMEro Jugargdol o330l faligd by, s
306 Mbs gosBMmmMboEMl Lo3sgMHm boBOL FoBoMgdol Bmbsdo 4obrsggdmeo Lsfs®dmgdo
M3560D530900 ©s dmbsbergmds, s6LYdWEo Faligdol dglsbgd? (337. 3.8)

500MB0g 9OH™0:

a. 999 BHMMEo Jugegdol dsgdL3EwYsEH0MYdEds Lofo@dma

b. Bs5d89bgdM -LodMbEs7M MMYI6ODoE30sad
c. 09 mOY60Bs30933ds, 30L BHIOOGHMM05BYE 39Ol Jegd@mwo Jugergdo
d. LobLs.39d. B9eTb39wMdOL MOAS6MYdTs

The correct answer is: gengd@®eo Jugagdol d59Ju3ewo@0MgdgEds Lafs®rdma

24) 6500960 99959M093¢0L 996935 L3900 3mgdgEo 1s3s9MmM boBol g3s833900
15359600 bsBol oMM 2sdGHoMDBY 96 3356 DbY, Lbgs Lodsghm 56 353806083 mdOL
1535960 bsbob 35¢05339m0L dsendo? (8.37; 3. 12)

506B0g 9HMO:
a. 3od@9M9d0Ls s 335MEgdOL F9ds9MHMNJOEGOOL MroMPIBMdS 5G5S MYA5TIBEHOMYOEO

b. @sl5d39000 565dgE gL Lodo F9ds9M09dOLS oS3 339000 Lo3sgMm bsbol Mommgmwn
239939OBY s 9059 E L MOHOLS MOMMYME 435MsDY

€. 5339005 5539G gL OO F9TogMHYIOL sYghJdS 250533390 Lo3s9gMHM bobols
000MJ 259BHoMDY 96 4350 BY

d. ©ob5d39005 56599993gb MmMbo FqdogH MOl ©Y96gds 3953339000 Ba3dsgMm bsBol
000MJ 259BHoMDY 96 350Dy

The correct answer is: 315339805 56539EIL MO FgT59MH00JdEOL sYxhgds 39053339000
1535960 bsbol mommgme 359EHsMBY b 3g39MeEby

25) 65 3960M©EImd00 MBS bEgdmgl bodsghm gergd@®mmyswsdigdo bsbgdol doge
LogMdgby smzsogMgds? (9.37; 3..15.)



50MB0g 9O 0!

a. 565653190 3 fowofodo ghombgwn
b. 56056530090 6 ™39d0 gOHmbgw
c. 960565390 Hgwofodo gMmbgen

d. 565653090 5 fgwrofodo ghombgw

The correct answer is: 565653099 §igerofjocodo gBmbgem

26) 65 99000bg935805 530G 1s359MM JEgdBHOMYS3730 boBYdoL s Jsmo
3939790 v9369030L GoyRsMYdg G90Mm3ms-Imz5¢0gMgds? (9.37; 3.16.)
50Mb0g 9H»O:

a. LEMYEgM 1330 dMJdggdOL F9IRO© Bo3sgMM bsbob 53EMI>EHMO STMMM30L T9dI

b. L3ogM™ 9gdBHOHMYssd(3990 boBgdol 9JudoEs300L BraMdsEowo m3w9dgbEol
89630l 8790y

c. L3596 99dBHMMR5s939d0 baBgdBg Logbol {y3930oL smbol 8999y

d. L3596 M 9agdBHOHMYS9(39d0 bsBYdBY 96(glom 96 F9B39MY M gd0m Tglslitrergdgero
Lodwgdoml sdmoz3M9doL 909y

The correct answer is: Lo©9gEgm 3306 ImgdgEgdol 99Ias© Bo3sgMm bsBOL s3GMI>EGHMOO
50mGmgz0ol 99909

27) 65 8900bg935305 5309890 1535gMm gergdBHMMyssd3g9o ba®Hgdol s dsmo
3939990 336930 GoyAsMgdg 890m3ms-s035¢0gMgds? (8.37; 3.16.)

500b0g 9OH»O:

a. LO359MHM JegdGHMMYSI3930 bobgdoL 9l YSESE00L brmEMTsEomwo m3wdgb@ol
99330l 99973

b. LogbgdLY S A35MWYdBY W03Y0bEols Fotdmgdbolisl. yobmeligeolis s dobstggdol
39530050 2odMbigerol, Logbgdol Mm3zol dgdmbgzgzsdo

c. 8000b569900L 35es3mGdo Yol mbols s3mgdol 9999y

The correct answer is: LoEbgdLS s 435MgdbY o3gobmerol oGdmgdbolsl.
4obyamligerols s 3eobsMygdol 3oesd3mEH0sb godmliganol, Loggbgdol Grm3gzol
399mbggzsd0



28) 5 3960300 MBS ImfiEgdmEgl Bs3sghHm JagdGHMMyssd3gdo bsbol bols
569980l gB9Ergdol 9gdmfjdgds Losd3dwyby? (8.37; 3.17.)

30MB0g 9OH™O:

a. 999 BHMMY559(3990 bsBob 9JL3EYOE 30580 J0LYd0sb 3-6 ol 999y, d9damddo
365653090 3 {geofiodo ghmbgen

b. 99dGHOM50593990 boBob 9JL3E)oE 30580 J00gd0sb 2-3 erol 999y, 99damddo
365653090 2 fHgarofsdo ghmbgen

€. 999 BHOMY559(3990 boBob 9JL3E)oE (30580 J00gd0sb 4 {erols 909y, 99damddo
365653090 5 fgarofodo ghmbgen

The correct answer is: gagdGOMYs©93980 bsbob gduders@ezosdo domgdowsb 3-6 ferol
03990099, 9990mddo 563653 9d 3 fgeroffsdo ghmbgen

29) 65 3960MEMEMdom MbEs ImfdgdmEL Ls3s9MM gangdEMHMYsI3gdo bobol bols
5609800 g gd0l 90mfdgds Losd3dwmgdy? (0.37; 3.17.)

506MB0g 9OH™0:

a. 9e9dGHOM5593990 BsBOL gdudw s sE0sdo 300gd0sb 4 fierol G389y, d9damddo
565653090 5 fgwrofiodo ghombgwn

b. 9a9dGHH™50593980 bsBoL gdudwys@oE0sdo 300gd0©sb 2-3 fierol 938w, d90amddo
9656530090 2 Hgerofiodo gembgen

c. Loy gbgdbg ym3z9wo sbgerobsls 6 gEIwgdol 9933w obols

The correct answer is: bygMgbgdbg ymzgeo slsgeolsl 56 gEoEgdol gi33erolisl

30) 65 3mcnbmzbgdl vbs 53059mBOEIdEIL 9e9dBHMMEIBYMYIOL sdofgdols
dmfiymdogmdgdo? (9.40; 3.1.)

50MB0g 9H»O:

a. 16 MHBOMB39wyml 9egdGHO™MIMHYmd0™dGOOL LogdudwmsdsEom 0970806
2499my365

b. 9605 MHBOMB39wgml 53056900l gargdGHMmMLonMmbmgds

c. 99605 MBOMB39wyml 9e9dBHOMBIYMGOOL FogMowgds



The correct answer is: 965 MBOHMBIGagML 50053056980l JegdBHOMYLIBOHNbMYDS

31) 65 3mcmbmzbgdl vbs 53059MmBOEIdEIL 9e9dBHMMEIBYIMYIOL sdofgdols
dmfigmdogmdgdo? (0.40;3.1.)

506MB0g 9OH™O:

a. 165 MHBOMB39wymlL 9gdGHOMIMHYmd0w™dGOOL Logdudws@sEom 0970806
2459my36

b. 9605 MHBOMB39ggmlb 53056900l gorMmbogds

c. 99605 MBMMB39gwyml 9e9dBHOMbsYMIOOL 330

The correct answer is: 165> MBOHMBIGEyML 9egdEHMEBsYIMIOOL 330

32) 65 3mcnbmgzgbgdl vbs 53059mBoegdEgl 9¢9dBHMmMIBs©YsMgdOL sdofigdols
dmfjgmdogmdgdo? (0.40;3.1.)

50Mb0g 9O »O:
a. 9960 MHOMB39wygMmlL 9e9dBHOMIBIYMIOOL JogM0Egds

b. ¢bs 5385453093l 9GO Mb5PMJOOL 3TomdOL bogJu3EYSESGOM
695009000 1) HBOHb39wdYMmager 3060090

c. 99605 M HBOMB39wYgml 53056900l gogdmboergds

The correct answer is: ©b5 53054M530¢93©IL 9GO MEIBYIMIdOL FTocdOL
159dL3Eg5ESEOM MY500900L NYBOWBlgEIYnggm 306HMIJOL

33) 999 BHMMBYMHGIOL MMIgEo bsffoemgdo Mbs sdofigl s6 sbmergl? (9.40;3.1.)
50Mb0g 9H»O:

a. 999 BHMM650PM0L yzgams bofowro, HmIgmoi 39dsmdols bedsw® Mgg0dd0 6oL
dsd30L J390

b. yg39ws dgBow©o Boffowo, G®MmIgeoa 890dergds 50dmBbgl dsd30L 398 0bmesiool
©26¢3930b 99900

c. yzgms bsfoero

d. y3gws 0BmEomgdmeo bsfforo, G®mdgeos 990dwgds $50dmbbogl dsdg0l 4399



The correct answer is: yggas 39@seMo bsfioero, HmIgmog 090dergds 50dmBbgl dsd30L
398 0bmEs300L sBGR3930L 8730y

34) Gy MbBs s3530f Mo sbsYIMol Msdgbody gurgdgbdo gMo sdsdoffgdgwby?
(0.40;3.3.)

506MB0g 9OH™O:

a. 808qy3MHMd0m - 990905 5350f909e0 A59BHMJO0M IBIAIMOL MrodmMmgbody
9093960 s gL K90 J0gHNIYdS T50(9d9Wl

b. 35M5@@ O - gMZILO B3I 0 JdIgbGHo Jor)gHmEIBs ©Fs30fjgdgl 3539
239593960l Lodwsegdom

c. 1000 3-0¢q0g d5030L obs@sMgd0L JogMHmgds 5gd9IMMNY0s BsoMMML J0d©I3M™MdOm,
boeoem 1000 3-b Bgdmod IbmErmE 3560509 IMH5©

d. 809g3M®B00 - gM3gL0 39O Jgdghdo JorgHmEIds ©sFs30fjgdgl 35w3)
239593960l Lodwsegdom

The correct answer is: 3505@9EIMH5@ - YMZIE0O (5¢39MIE0 JergdgbGHo dogMmgds
053590§909el (35e039 359BH9MOL b3S gdOc

35) 0595309090 25833300l sd590fgdgw 3mbLEHMWI309d0056 Bg9MHmgds begds . .
.(0.40;3. 4)

306MB0g 9OH™0:

a. BogMgbzom

b. 3563031960 dg9m0gd0m
c. 890009000

d. 35630300

The correct answer is: 3905300

36) 595309090 258B3MJBOL 535653 JdMB, B5YIMYBMB s b3sgMm bsbols
L5YMmEYbId™MB ggMmgds bgds(d.40; 3.4)



50MB0g 9O 0!
a. PogMgbgom
b. 9900909000 56 356303100 Fg900gd0m

The correct answer is: 390M©qd00m 56 F963F03MM0 9990009300

37) 660 9953960¢mds 16 3§mbgl 005 g993960en 535d0{gdge 258@SM9dL? (0.40;
3.5)

50MB0g 9O mo:
a. 8530

b. 56 009090
c. foogwo

d. ygomgwo

The correct answer is: 3530

38) 5 Ls3MbEBHGMEM WMBolidogdgdo MBS &ML BgdoLdogMo sTsdofigdgwro
3figmd0mdoLsm30l gguderysdsiool 3GmEgldo? (9.40 ; 3. 6)

30MB0g 9OH™0:

a. 595909890 dMfymdowmdol Fobsmmdol 4oBmagzs. dgMBgzomo dgdmfdgds mwbE L
239bbbom, dofjodo B gdwo s3sd0f9d9e0 IM{igmdomdol gergdgb@EHgdol 3mmmbowmwo
900 Mdo69gMdol dgLodmfdgdws

b. ®(3935000 83390900l O BsDs-649eo FoMrysol 060 FHg350MdOL Tgdm{agds.
(10003-800g 9b55693d0)

€. Q0535909090 Ym0 MdOL (3H935™dOL 4oBMAZzs. FgMBgz000 Jqdmfdgds MHbE L
oHMH30m, J0fod0 B OO sds530f909wr0 JmHymdomdols gargdgb@gdol
30OMB0MEo IMIoMgmdol Fglodm{dgdes

d. 9gbgdol dsd30lL s Fobowmdols 4oBmagzs

The correct answer is: ©58530{}909¢0 3MfjgmdoErMmdol fobsmmdol 4sBmagzs. 89MBgz0m0
399m{jdgds aMmbE ol goblibom, 8offsdo Bogdmmo sdsdofjgdgmo Imfigmdogrmdols
999963900l 3OMDBoEo IEyMTsMgMdOL Fglsdm{jagdes©



39) 65 Ls3mbEHOMEM MMboLdogdgd0 MbEs F3EHIMEIL 69d0LT0gMO ST>T0fgdgEo
3mfigmdomdolsm3zol gbdvysdsiool 3Gmagldo? (9.40 ;3. 6)

506MB0g 9OH™O:

a. Q059590989 IM{igmdoMdsBY d99mHdgl (Lo9bAsM0TM) gbol LooOL glsdsdolmds
99§ 9mmbm3zb93msb

b. ®(393500 8339900Ls O Bsbo-bv9eo Fo0rygmzgol 0560 fobswmdols dgdmfjdgds.
(10003-8009 0965056 93d0). ©53530{gdgan 458E9MLS s ©sdsd0(gdgE0 JargdbEHgodl
dmE0U, 0693M030 s3530{gdEgdOLS s sTOFIIOL A5EIMOL 35300MHOL sGOLYGdMBOL
d99m{jagos

c. 0393500 3339900l 5 Bsbo-bv9eno FoMymzol 0560 3g350MdOL dgdmfdgds.
(10003-8009 0965096 9330). ©53530{gdge 45E9MLS s sdsd0(gdgE0 JergdbEHgodl
dmMob, 86900030 53530(gdgdOLS S STO[IOOL Jo@IMOL 35300MOL 56 SMLYdMdOL
d909mfjdgds

d. dgbgdol dsd30L gobmdzs 9egdEHMmEobsysMdd0, HMIGEmS s3530fgdgo
9mfymdoEMmds 96 560U JglervEgdeos dgbgdol dsdz0l bm®mIgdol yomzawolfiobgdoom

The correct answer is: G(393500 33399005 S BoBs-bMEro FsGYyMol doneosbo
{obomdols 990mfjdgds. (10003-009 ©s650a30Mgd80). ©5d530(gdg 53BIMLS ©s
0535909090 9egdgbEgdl dmeol, 3698030 s3530{igdEgdoLs s 0[O0l JoESMOL
3938060L 5OLYdMdOL dgdmfjagds

40) 65 Ls3MbGHMMEM VMboliIdogdgd0 Mbws JoGIMEIL 6xdoldogMHo sdsdofgdgero
dmfjgmdogmdolismzgols glderms@ogools 3hmsglido? (3.40 ;3. 6)

506MB0g 9OH™0:
a. Q0595909890 IMFYMdoE MOl (3H9350™mdOL QoBMAZs

b. 0053590909 Imfigmdomdsbg d90mfdgl (Losbas®0dm) dsdz0l Loool Fglsdsdolicmds
99§ 3bm3zbq0msb. Ggbgdol dsd30L 2oBMmdzs gergd@®MmMmEIbsys®gddo, HmIgEwms
0505309090 dMfymdowmds dglieregdmeos d9bgdols dsdgol bera®dgdol
2390035¢0bfiobgdom

c. 99bgdol dsd30L 25Dmazs 9argdGHOM™MEsbsYRMJOT0, HMIgGEms Hsd0(gdgeo
9fymdoEmds 96 560l Fglervegdeos dgbgdol dsdz0l bm®mdgdol yomzawolfiobgdoom

The correct answer is: ©53530{909¢ dm{gmdomdsBg d9amfogl (Losbgseodm) dsdzol
LooEOl Iglsdsdolimds gaff dmmbmzbgdmsb. 9gbgdol dsdzol gsbmazs



99993 BHMM65yM9330, HMBgEms s3530(909eo dmfiymdogmds IglMergdmos
dgbgdols dsd30l ben®dgdol gsmgzswolifjobgdoo

41) &5 3g6H0mEME®d00 bgds dofsdo Bsgwmmo sdsd0fgdgero dmfigmdogmdols
300mb0sBY dg9mfidgds OHmbEoL 9gMBy30m0 doblbom? (8.40; 3.6.)

506MB0g 9OH™0:

a. 6 Hgeroffodo g nbgwn
b. 12 fgeroffodo ghombgen
c. 3 fowofsdo ghmbgar
d. foerofisedo ghobye

The correct answer is: 12 fgeoffoedo gombgen

42) &5 3g6H0MEME™d00 bgds MH®393500 9(339¢7gd0Ls ©s BaBs-bmero ygmeaol bemmo
{obomdol 4oBmdgzs 1000 3 g 9ergd@dHmesbsys®gddo. (3.40;3.6)

506MB0g 9OH™0:

a. 933 fowofiowdo gombyw

b. bsd Hgerofodo gMmbgen

c. bmo Hgwofodo ghombgem

d. ©m®39¢ Hgwofodo gembgem

The correct answer is: g3l figerofjodo ghmbgen

43) 058530§909¢0 dmfiymdoEMdYdol sbmdzgdo guergdE®mmbsam®gddo, Jaglswygddo
5 Bs35g0m babgdbg Mbs Bo@stgl: (3.40; 3.7)

50Mb0g 9OH»O:
a. 3933060 5MH5MgBHIL Fawrofodo ghmbger

b. 565993939 12 {gerofodo gMmbgen



€. ©59580(909wo dmfiymdowmdol ImbEs710l, 39056M50OOLS S 3930GIWMEMmO MgImbE oL
39993
d. 35000l 3096 0BMEHBHMMYI0L MH©3930L O FOWIRIMZ0L 5BMBYbol gdmbgzgzsdo

The correct answer is: ©58530§909¢0 dmfiymdogrmdols JmbEsg0l, F5s05MMIBOLS S
39303)5eMo MHgdmbEol d90wgy

44) 65 9E3MEMdoo 1b©s Bo@oMEgl ©sdsdofjgdgeo dmfigmdowmdols 3mmmborwo
dpM3sMmgmdol dg0mfjdgds badsgm bsbbyg? ( 3.40; 3.9)

506MB0g 9OH™0:

a. 05359098900l dJmbg Loy gbgdol 4%-bg
b. ©©53590§90¢q00l dJmbg LagPgbgdol 2%-by
€. 005359098900l dJmbg Loy gbgdoli10%-by
d. ©58590§9de9d0l IJmbg Loy gbgdols 5%-bg

The correct answer is: ©53530{90¢gd0l dgmbg LoygMbgdol 2%-by

45) HMaMM0 3593560l bgdbo omgwgds LmGmso 1000 3-dg Lsdsghm baBol bydolidoghH wos
89056550 9dge Imfymdommdsdo? (3.41; 3.2.)

506MB0g 9OH™0:

a. odmynbgdmo Mbs 0gml Bgm0sbo 35d9egd0. 35dmygbgdeo Mbs 0gmb 3509gdo
239MLs3dom 35935600 doedo Bsgdyeno doffsdo

b. boBob g093560LsL 259mygbgdeo Mbs oyml Bomlbioglg 35090
c. 399myg9bgdmeo Mbs 0yml WomMmbol go®lsdosbo 3sdgwgdo

The correct answer is: g59myggbgdeo 1bs 0gml ommbol gsMlisgdosbo 308gwgdo

46) HMMM0 2593560 bgdbo 0mzmgds Lm®ms 1000 3-8¢g Ls3sg®m bsBol bydoldoghH o
3905650 9dge Imfymdommdsdo? (3.41; 3.2.)

50MB0g 9O mo:



a. 9dmyqbgdmeo MBs 0gml 35d9gEgd0 FoMlsEdoL Jocqdy goyzsbowo dowrdo hogdweo
dofjodo

b. g98myg9bgdmEo Mbs 0gmlb Bgm0sbo 3od9gEgdo. 359mygbgd o Mbws ogml 3539w gdo
239MBsE3dom 35935600 doedo Bogdyeno doffsdo

c. boBob 9093960l 359mygbgd o »bs ogmlb bBgmboglg 3odgwo

The correct answer is: g59mygbgd9eo Mbs 0gml 3589egd0 oML 456y gogzsbomo
dogdo Bsgdvyemo dofjsdo

47) 65 396H00M©EME™md00 16s GHoMIdM©IL 39059583900L596 o330l dMTsMIgMdOL
399m{jdgds g995bsfowgdger dmfiymdowmdgdls s badsghm bobgdby? (3.41; 3.3.)

50MB0g 9OH™O:

a. ymz3g oG Fgdo-gobowol ©sfiggdob ob

b. Hgeoffocodo mexqe

c. B30l 39MHom©do

d. @6 fowofodo ghobgen

The correct answer is: ymggefieror®o F9do-gmbool sfygdol fob

48) 5155339005, MY 565 0 350565f0gdge dmfiymdoErMdsdo I3Ergegdol dodmMmmgs?
(0.41;3.4.)

500MB0g 9OH™0:

a. 5339000, 2odmbs3wols dgdmbggzsdo

b. ©5993909¢05, 32039350830l 893390 @ 39bEHOw MO d3Erggdo
00030350 b 094Mmx3gdMmEIL RoGI0 e ByMIsMgMdSdo

€. Q315339005 BHFNGMOL 39MH0M©T0, JoM50 bMEME 00 I3egEgdOLs, HMIGdO3

3963933600005 5EHIMVBIOO 4505d903900L5296 OLOEIZIW - FMORIOO JoGgdols
50069080, 034obmaol Foedmgddbolsl, ¢gd3gms@ ol dgologho 33woegdolsl s
06@9b6LoMHo IH0BIdOL BMbsTo

d. 515339005 25BoRbBNMEOL 39MH0M©T0, Doxgbrwols Fgds-dmbowol LyBmbol wsfygdol ob
dBoqd0Lsly



The correct answer is: ©59993909005, §505993Hd5330L F90BM39™gd0 ©s 395G GO
33Egmgdo 39930350 bs 08gmBIdMEIL BsOen dyMmds®gmdsdo

49) 39 ©™399963900s6 Tglsdsdolimdsdo Mbs begdmgl dogroligd®o I3ergagdol
3GHMB0IIE03MM0 45dm3gdo? (0.41; 3.5)

306MB0g 9OH™O:

a. 650096930l ©IRIJGHJOOLS S MHILOZOMBOL HMMbowrols

b. 909dGHO™IM[Ymdo@mdoL  godmiEol Bm®mdgdol dmmbmgbols 9glsdsdols
c. 39960399600 bgarddmgzsbgarol domomgdom

d. 3996039960 9JL3 @300l Fabgdol Jobgwgzom

The correct answer is: gangdGHOMAMymdomdol 3sd3mEol 6m®mdgdol dmmbmgbols
d9L5d5d0BS©

50) bgaols gosbs@sbo Labsmgdo, LaMgdmbEm gobs0gdolm3z0L Lomaglimgddo, Losa 56
560l bsBodMMgds 9egdBHMMEgbol BgImJdgEgdolsgsb s8s3930Ls MBS 033989dMmEIL
JB9ge0sb 56M5 MTgBgL (9.42; 3.4.)

300MB0g 9OH™O:
a.24 3
b.42 3
c.123
d. 603

The correct answer is: 42 g

51) 3mdgEHgdyeo bsgmmbol dJmbg Lomeglimgddo, bgerol go@slis@sbo Lsbsmgdo «bs
03390999l Jbge0sh sGomdg@gl: (0.42;3.4.)

50MB0g 9H»O:
a.42 3
b. 60 3

c.243



d. 123

The correct answer is: 12 g

52) 3507565009090 gbol Mo dsgdlodseryMo 3609369emdOL EMmMULSS ILIZ9d0 (iMoo

39360 6-10 33 358300 Jugerols MOl 3ofy3g@o 3odmn0dzgol bsdwoergdom? (
d.523.11)

50Mb0g 9H»O:
a.70 s

b. 305

c. 10

d.5s

The correct answer is: 70 5



Lobobddm

1) gd-b GMIge dMfymdoEMdIdBYS L3700 FgEMMIdOL s bbgs
393beL3080o LsdMTomgdols Bs@BoMgds
500b0g 9MHmo:

a. Ibmm JoM0mdE L5dw)5eqdgdbY

b. 3m{gmdomdgdHg OMIGms 45@9bs 89w gdge0s bobdsMUbsofiobssmdgym wmbolidogdgdols
239350900 d909y

€. 5363505 Y39 Imfigmdoemdsdy

The correct answer is: 3m{jymdo®d9dbg HMIganms 3o@sbs 8gmdmgdgeros
bs6ds®L[obss0Bgym mbolidogdgdol gs@s®gdol 3909y

2) Grym® 1bs 0gmb 503FMH30e0 9bgMamUsfoedmgdo, Lobsbdmm Misxgdmbmgdols
635G 0g-3H9d60396M0 dmmbmgzbgdols Gglisdsdolo?

50MB0Y 9H0:
a. b6dsmlogdOrmdo Fyaol Jugewoom. bsbd®ol s0dmBgbol s JOHMdOL 5356M5Egdom
b. Log9bG0wsEOM 3599MHJdOM s sObIdOM

The correct answer is: bs6ds®bogMMd0 Hyeol Jugmoom. bsbdmol s0dmBgbol s JOmdols
5350539000

3) BMBLRMOTEHMODBY 96 B90056 5FMIMNZgEBg bobdMol Ggdmbggz980 53050
506MB0g 9OH»O:

a. HMobLRMMI>EGHMM0 MBS Fo0M0dM 39S dsd30L FbHOWD s sdoficgl

b. ®5bLBMOT>EMOO MBS 2oTMOMMML FooE0 dsd30L FbOHOWID

€. 39900358 Bgm0 3MM3M0ID MY 5856 Fgodegds godmofigoml 393berol dmgds
3M5360cBg s ZosMreml bsbdmol JOHrmds

d. LobsbdO™ (330 2odmdsbgds s 8999y babIMOL JOHMBdOL M3gMoE0wwo 3gadol dobgzom
dmgdgqds

The correct answer is: 3530009356 900 3M3MBOEO MoEY6 5356 Fgodergds 2odmofzoml
393beol 3mgds 3MsabowBg s o5MIIMEML bsbdMols JOHmds



4) 306 03905 969MMLsHsMmBMTo, bsbdMmol JOmdols bgeddmgsbgms bsbsbd®m
J390565gmxzols doligersdg?
50Mb0g 9P mo:

a. 6904mR0WMB0MO LobsbIMM MHYBIgMob 9360
b. 330590 56590090Md0” MBROMLO (395Gl FME0YY)

The correct answer is: 33¢0590 3565d©g0MBdOM MBROMULO (J39L5YGOL dmBOoy])

5) bobsbdMm EsbsgmBol obgEolmsbsgy (33eol MBOMULO 56 OL3YEBIMO 3500
bsbdMoL JMHmdoL bgerddm3s69wMds 25es5505MMUL Lobobd®Mm sbsgmaxl: soMBog ghmo:

a. §9H0md0m0 6gdsOM30L 353930 2oM9dg
b. PoBowmdomo 6gdsem3z0L Y3900,

The correct answer is: {jg©0@Mdomo bgdsM™M30l 3539000

6 ) 306 560Ul 3sLvbolidagdgao 96gMgE03E Lsfs®dmgddo bobdo®lsfobsswdpgam
dpMdoMgmdaby?

50MB0g 9O MOo:
a. 6904mBOWMBOMO LobsbdMM MHYBIgMol 9360
b. 53 LEHoMIML byeEdd3zs69wo

The correct answer is: 59 Ls{jo®dmb bgerddwgsbgwo

7) 306 560l 35Lbolidgdg0 3060 (35¢3YME0 BdsTIOMIIOL, EBBMMHGMMOYIOL,
LobgEmUbmgdob, Lafiymdgdols s BT BoggdMdsms LobIBEAGM MisgMmMbMYdsBY? s0MbOY
9600:

a. bLofo®mAmL bgerddmgsbgaro

b. 53 LAHOMIGHMIOMO J3909659MBGdOL bgeddV3969EdO 56 3060, MMTgEros SLOYIEGdL dols
dM35¢gMdIl

c. Lobobd®m GsBIgmerob (g3eo



The correct answer is: 59 UEBOMIEGHMOMO J3905659MmGBgdOL byeEddm3s69ergdo 56 3060,
63903 SMeErgdls dols Jmzgsegmdsls

8) 5 39600 d0m dmfjdgds bsbds®lsfiobssmBrgym 0blGMvds0gdo?

floofjaedo ghobyer
. Doxofodo mérxg®
Lod fgeroffodo ghombgen

The correct answer is: 1153 {gerofjodo ghmbge

9) 306 5@oMgdls FgLsgaem 0bLEHMWIBHFL Lobobd®Mm MlsgMmMbmydol fglgddo?
506B0g 9MHmo:

a. md0994GHob LobsbdMO™ 330l b3gE0swoLEO, JoLo sSOYMEBbOL gdmbgzgzsdo Loffo®dml
b9wddm3zsbgeol d0dsbgd00m sb0dbmwo 0bgobge-39dbozmemo 3gMbmbaocro

b. LoHo®IML Jogzs6m0 0bgObgMmO

The correct answer is: m309g&ob LobsbdMm s330L B3gEosEolEBo, dolo sGYmxbols 9gdmbggzsdo
LsGoG3ML byerddgsbgaol 33569800 ©sbodbmwo 0650696-@H9dbogneo 3gMlimbseno

10) 306 53o690L LEbIBINM MBOBOMbMYdOL 30M39W5, FI6AYMMIdOM s 5MSYYRTOIO
0bLEGHOWJGHozL?
50Mb0g 9P mo:

a. 3060, HMIJo3 35LvYbolIYYOIE0S LsTJOHMU, (LofoMdmm MBdbOL, Lobgemlibmls
@3MMSGHMOO0L) LobobdOMMBsgOMbMdsBY

b. ®50mbob Lobobdm G3Bdol bdgoswobo
c. LOfoMIML Iog35M0 0bgobyeo

The correct answer is: 3060, ®39o3 3551bolidygdgEos BssddMml, (LsfsGdmm MdBOL,
L5bgEMBML WsBdMOSGHMMOo0L) LsbsbIOMMLsBOMbMYdsBY

11) ©5 396000 ™Md00 ©96s brgdmEall sbOWWO godsbsfiowrgdgwo dmfymdowmdgdol
L5093LMYOOLS s IMFIBBIOOL LVBMS39ds? s0Mb0og 9OMO:

a. 5M9b53e9d Hgarofodo ghmbgem



b. 5656530090 2 fgarofocdo gembge

C. 95653 9d 6 ™39d0 ghombgw
The correct answer is: 565653090 {geoffocdo gohmbgen

12 ) 5 19306M9L L5390 J5b6dobg Mbs 0gml Lo3sdgEm BoggdMdgddo golsligegwgdols
3563969990 dmbodzbgdo?

36565390 308 565653000
250
c. 565653¢09d 50 9
The correct answer is: 5656530090 50 @
13 ) ®5 3960MMd00 ©bs IMjdErdm©al LoEMYBs M IMFYMdoEMdS, HMIgEo;
MBOHMD39YmRL Fyarol go@s®mgdsls sb ol s3@mBo@we s3m@GH«yddzsl? s0MmBog ghmo:
a. 3390 Gowdo ghmbge
b. ®39d0 gembgem
¢. 993 »39d0 gH by
The correct answer is: 33503owdo gemnbge

14') 306 256L5B3ME3L 969MAgE03Mo LEHoMmTMLImZ0L bobIMOL JHMdOLLL 3gdbozwme
159)5EGOIMS Q3TN0 FEYMToMgMdOL 9dm[dgdol Hobli? soMBog ghmo:

a. MLogOmMbMYdoL Fgdbozol 0bgobgmo
b. 96963930390 Lsfo®ImL byeddwzsbgero 3oMo
¢. 95963930390 LsfoMmmL BxdYMBOEMdOMO Bobsbdm MsHIgmeol bywddwgsbgwo

The correct answer is: 969609303290 LHoMAML byeddr3zs6gEo 3o6Mmo

15) 306 539693l dglogoe 0blGHMMI@ogl bobdsMbofobssmdgym olsdo?

a. LOMBOYJBH™ LobsbAMM HE30L B3y OLEO, FoLO sOYMBLOL Fgdmbgzg35d0, dIA69d0M

56086990 0650696-3H99603160 39HLMbsero 96 LGMYIEIOHo J39sbsgmzol MBOMLO,
g0 009gdL sboen dwdsll.

b. MLsBOHPBMYdOL 39dbozol 0bg0bgeo



The correct answer is: Lomd0ggd@ ™ LobobdHM o330l L3gEoswoliEo, Jolo sGHYmabols
9990mbg93580, 06069000 ©B0TBMO 0650bgM-E9db03M0 39OLMbsEo 56 LGHOMIGHWOMwo
J390565gmxn0l Ma®mlio, G®mMmdgeog 00gdl sbogn 399ds3U.

16 ) 5993090905 Y 565, 30030, J5639JMOHIO0M0 O 553gR0IMO
0BLEBHOBHo710L Bo@9gds bobdoMbofobsswdgym 33580, Bodwdsm S0 DY, Mm3s 398530
3900500l 03539 MMAB60DIE300L GO0 Lv5TJMMEL Lbgs LosdMMTo?

330 YOIE0S S SGOL
3IBOLIBILO
The correct answer is: 599300909005

17 ) Hm0b 5oL LsFoMmM bsbdMol JMMdOL M3gMHE0I0 39330l baewrdgmMgo
5913033905 9696393032 LEHo®IMTo? s0MBog gPHmo:

a. 9696039303990 Md09JGoL bgedd3z569wol 8933 0bOL. LobsbdMm oE30L oMbobmbol
wRO®LOL d933w0LsL

b. m3099@b9g bobd@ol JOmdoLsL LsFomm fywol 53B9d0lL S0l Fg33oboL.

The correct answer is: 9696930390 Md09JEOL bgeddw3sbgwol 9gi3eolsls. LobsbdGm
53300 29MHboBMbOL »MRG™LOL Jgz3Erolsl

18 ) 5 ®5m9bmdolL Losbgdo Fsbogol gbobgss bgdsIMMYE0 bosTJMHMYdTo 56 LT Tom
5Q090d0? s0MB0g 9H0:

a. LM F>MmgdOL FM(3)PMOOEIL Q5TMIEObGY
b. 3bmEm© 9H0 (33¢00LsM30L byFoMHM MOMEIBMdS
c. IbMEmE 9OH0 Lddom 33060l o0

The correct answer is: 3bmMm© 9OHMO (33¢00LSMZ0L bOFOOM MOMEIDMdS

19 ) ®5 30603s¢r ™o Lo sbg Mbs 3JMmbgl J0B0MHO WHBMESEHMMOIEO LoMOgLMYdOL J5MI?
506MB0g 9O »O:

a.0,8d

b.1,58

c.1,00



The correct answer is: 1,0 d

20 ) 96960M009JGBg bsbdMOL O™ 53EHMEHMBL3MOEHOL Yghgdol SO0 Mbws 0yml
MBOHMD39YmR0wo LsdJioMm GMmMLYdom: S0MR0Y 9OMO:

a. 10 394560%d%g 1 (30000

b. 3 999560D3%bY 1 3o¢00

c. 539945603%g 1 goero

The correct answer is: 10 39J5603%g 1 goero

21 ) 515339005 0179 505, G9bMBYOT0, LG J9BM I3V 53BHMEHMIBL3MOE 0, IMS3900L
239000M05 05 393bLWOM? s0MHB0Y gHO:

a. sL5339005, M) 53 J9bMdsd0 03YmMe3gds IbMEOME 1 53¢ MAobgsbs
b. 515839005, M¥) 533MIMOOL V)M Yds MgdmbEo

€. 599399905 Y39ws d9dmbggzsdo

The correct answer is: 593390905 439ws d9dmbggzsdo

22 ) 536035005, 0049 569, 39305 MS© IM{igmdo s3EMLobgwmbbmgddo
333MULsGHMBLEMOGM LM gdOOL MBMBE0 M) Bsbdsbols 53BTo sibos bsfizs30? s0Mhog
9O»Oo:

a. 536350
b. 56 560l 530Mds )0

The correct answer is: 536dsq)e00d

23 ) b 958565(0egd9e Imfigmdowmdsdo gargdBmm@gdbozm®o dmfigmdowwmdols
F939obo @ bo¢rgdobogeb 4olsfidgbs 990dwgds mvg 565 359mygbgdwyero 0dbsl 3oo0
Lombggodo (3o d96D060)? s0MBog ghmo:

a. 135000 LoMbygdoL godmyqbads sMBz9dgEos

b. 890dgds, 039 {13500 LOMbOL MOMPYEMBDS 56 50953 JdS 1 OGO, JOHOXJMSWO
dmbdsmgdolsls

The correct answer is: 990d@ 905, ) 35000 LOMOL M>MEYBMBS 56 509B53HYOs 1 WOBHOL,
900X JH5O dmbdoMgdobols



24) ©0.9.9.-80 3509900l MY OJJOIME s b3S IM{igmdoMddmMb d0yz560L sl Mbos
3Jmbql MfH3900 d983F0MH™M3905, bobds®dggamdoo ... s0MBog gHmo:

a. 45 o

b.1bom

c. 30 foo

The correct answer is: 45 (oo

25 ) Lo 96 AoBEOYIL BsBIMOL JOHMBdOL 30MHZ9W SO LTS 9dId0 ©..0._80? s00B0g
9600:

a. ©0.9.0.-ob Loz gE b

b. 3m®oMmMH9ddo

c. Lomoglimgddo

The correct answer is: ©0..3.-0b 99bolgE g6

26 ) Lo Y6 AoV ©.3.0._do bobdMOl JHMBOL 306H39o@O Lo s gdgd0? S0MROY
9O»Oo:

a. 390LMbsEolsMZ30L FMLsbgMbYdYW L3gEosWME 3mbEHgdDY

b. 99Loligergmsb

c. 3m6MH0EMmM9ddo

The correct answer is: 396LMb5EOLOMZ0L IMBobyMbYdgE B39E0CME 3mLiEJd DY

27 ) 65 3960000 Mmd0m b 0093bg0m@gL M9306090Me0 Boystro doermzsbo
GOBLBMOT>GMMOL §398? s0MB0g 9PHmo:

a. fowofodo 3-x96

b. fgrofodo gombgw. dwogmo ©sFFgosbgdol mml fowoffodo memxgm, yoboxbrmwby s
d99mpamdsby

The correct answer is: {j9c0{o8o gOMbgw. de0gmo ©sFMFY0s6930L GOML fawofodo
OHX IO, 5DoxBbMbY s 99dmEymdsby

28 ) 59930090905, 349 565 bobdMol JOHMBOLOL ©.3.d._d0 ©s30fjogl ImdMogz0 Lobsbdmm
39960352 s0Mbog gPrmo:



a. 96 5™l 5309090, oY LEbLIBIOM 39dbogsl ymzgErm3z0L 5d3L Mogolio
LGoEoMboE MO ©sdofjgds

b. 5930w 9dge0s

The correct answer is: 59300093905

30639050 IHTMGdS

2020 g565bengdmeo

1. M0y MBS  2oaMdgeEgl  M9oB0do30s  OMES  EIBIMIGIMEL 33900
39306903905 5J3, FogMsa 56 5J3L gmEol3gds? (msgo 2)

506MB0g 9OH™0:
a. 3560l B9MOL 25350M0LBIMHGOIY

b. 2905335 gd0l 60dbgdol  490m339m9d©g (3960L BRIl T3, 350l ASMLOL
399536905, Lbgmob &9d39Ms@«mol 3560Hbs)

c. 505999¢39L 5 fymobo

d. + 3900396LMbsEol dmbigzesdqy.

2. MO0 (956035300l 3M3gdlol Bo@s®gdol figbo (BsdgMzs s Mol as6gasbo
3sb530). (0530 2)

506MB0g 9OH™0:

a. + vy 959390 dmgddggdl dosM@GHm, dsdob bgumgbm®o bbmdzol 2 ,,RsdgMm3zsl” 5390093L
50@I3900D) ynggwo 15 wsfjmerol 959@gy. ™ @bdamgdst ¢fjggb 3939w XyBO!
95306 2 B5096M35 - 49d 3960 5 sfimerols 9999y.

b. vy 953390 8mddggdl domGm, 35906 bgrmgbm®mo bbmdaol 2 ,,Bsd9Mm35L” 539m9dL
39wI3OEDY Ynggeo 20 @dfmerol 998@gy. 7 @bsmgdsl ¢fjogh 85939wos XyIBO,
05906 2 Bsd96m35 - 3d39mbg 10 ool d999y.

. 090Lom30L MM 5939 s Q55X MIGLMUL BoLLBYOO 3596H0L boolbo, 3sb Hobolifo® mbes
3993900mL ©59m©9b0dg Mds Ggbbmdgzs — godmlmbordgs.



3. 5L 609653 393060 ,,5HBMSEGIMOL 3T5GHMBYHO IEYMBMYMdS”? (0530 3)
506MB0g 9OH™O:

a. 56 5g43L 3bio Lodorg sMEYMH0sDBY S 9O SHOL HMHIbMOSBY.

b. 56 5®oL 3OHABMBSBY s 56 GLobXds 3o Lydowrg SOEJMH0SDY

c. 56MH0b MHdbMdSBY, Fo®5d 56 593L 3o Lodowrg 5MEJMH0SDY

d. + 56 560l MdbMdsDBY, JogMsad 5J3L 3ebo Lodowg sOEHIM0sDY

4. OO  0ymIsmgmdsdo  bs ImZsmsgbmm  3MIsdo  TYmyBo  EsHBoMIEgdMEO,
15990306 39OLMbsewols Imligersdg? (09530 3)

50MB0g 9OH™0:

a. BMMBy Ifmerostg IbM9d43939 o BgHgdJ398 o960 Boohol OO0
b. BB M09 395909398 Togo60 Bocrobols ogdom

c. Bmeybyg dfmerosty

d. + 3939wBg Ifrrrose.

5. 4390m BsImm3ommoysh, MHmIgmo dmgdgpgds Mbs Bos@sMEgl 3060390 ®oydo
M 3H9Mm0MEo Lolbergbol Mml? (msgo 4)

306MB0g 9OH™0:

a. ©5900Mb Lolberol d9dshgMgdgaro sb@o (MgHBobol FaE0) («dxmdIBOS 500
@obGo (HgHobols 5393 0)”)

b. + bolbdsM 30 M0MYdom 56 3dEom 0930 ™ML ol J398 sGBYOE dZ5¢l glodsdols
oo Bowgddo

C. 59 LoLbEOoL dq0sPM9dIEO WsbEO (HHBobols 0) 3OoErmdol Bgzom
Q©3JQ© Q 005609090 ObEG J J32960) 3Oo J3

Q. 59000 Lolberol dgdsbgMgd9w0 sb@o (H7Hobol FaE0) FHOWMdOL J3gdmo

6. Bo0Mbs335e00b M5 03Mdoegds 306390 EabAMYdOL EMHML IBIMIEYdEOL
3993e00L 899535¢00 FHoErMdOL 99dmbgzg3s80? (0030 7)

50MB0g 9OH™0:
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L5gg69d0l JobodserMo 33gmol GgMbgzs? s0MR0Y gMmOo:

a. UBHObIMOL IMPHBMZBsMs TGlodsdobo

b. bn®ds@GHom - 39460360 306HMdd0L dobgzom

¢. 39356039960 LodE30EOL 30MMBdYdOL JobgE300

d. @s@30Mm30L dobgzom

The correct answer is: 3975603760 Lod@3030L 30OHMBJdOL dobggzom 2
) ©00 560L 496306H:MdYd0o ge. Jugedo 39db03IM0 Ibs3MYIOO

50Mb0g 9P mo:
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30bBgbgdom

d. 99dEHMMgbgm00L 3H9d60396M0 6535000 2563060 MBYOME0s J39L5YMGOOL
3996mmy0m®0 Imfigmdomdgdol 399dsmdobs s dmdbobwmg 39OLMbswrols dmddgwpgdom

The correct answer is: 9029d&HO™gb9M00L 3H9g60396M0 6535602900 A56306MHMBYOME0S

99dEHO™ Jugergddo gergd@mmgbg®aool gowso3gdol mml do0dobstg gobozmM®o
360398900m. s Jugob gegdgb@gddo gbgMaool boffools LoMdM® FowsdEg30m

3 ) B®5bLBMOT>GMEOOL I Fomdob HMIgeo Mg0d0 0deg3s Bodw)oEgdsls 9B3LsBOZOM™M
GOBLBMOT>300L 395303096G0? s0MBog gPHMO:

a. 3dobomg Mg:000

b. mddo bgwrols Gg0d0

c. 9m3w9 d9mm30l Mgg0d0

d. sGH30Mm30L Mg50d0

The correct answer is: v3Jdo Lgerols Mgg0d0

4) LARSDs HMYEOL oBHZMMZ0L LMo LOddszcg S = 14 335, ©9odGHOwwo Q = 9,5 3356. Mol
MOOL GHZ0MM30L LoAdEs3MOL 3:m95303096¢0?

50MB0g 9O MO:

a.cos¢p=0,73

b. cosd = 0,68

c.cosd=0,4

d.cosp=0,8

The correct answer is: cos¢ = 0,73

5) 259Dma GO5BLRMO oML J093mm3b9gds: s0Mboy
9oH»Oo:

a. 93GMAMBLBMOTsEHMOYO0

b. dsd30L5 s YbOL BHEBLRMMTsEHMMYd0

c. LOARODO WY (35 RDO 0T3MYWLLIMHO FHOIBLBMOT>EHMOYOO
d. 353560 ©5dY0GE0 BHEOBLRMOT>EHMMGOO

The correct answer is: dsd30L5 5 IHOL GHEBLGZMOTo>EMMYdO



6 ) 93999900 396GHMG09d06 30MH3bMROL 306390 356mbol dobggzom dg-2 3356doLsmz0l
3950PB0gm LHMMO gobBHmegds: s0MBog ghmo:

a.12+15+13=0

b.12+15=13+11

c.12+15=13+11

d.12+15-13=0

The correct answeris: 12 +15-13=0

7 ) H™Igero bgeolisfym o6 990degds 30359M0mo dsd30L GMIBLBMMTSEMEOOL 45dBMmad 3mFoBg?
50Mb0g 9Mmo:

a. 3mWwGIYGHMo

b. 35339BHE0L 503960 3mFo

c. 53396M3gGH®0

d. 3G03Eb39wol 45039600 3mFo

The correct answer is: 5d39®39&®0

8 ) Hmdgwo bgebsfigm 259m0ygbgds dmabdsmgdemol 5g@o0)Mo LoddwsgzMol golisBmds? s0MBog
9600:

a. 5939m3gGH®o

b. 8925m339GHM0

c. 3530960

d. 3mwGdgEHmo

The correct answer is: 35339360

9 ) 9a9dEHOHo Hobosmmdols sbmaz0L ghmgmeos: s0Mbog
9o»Oo:

a. W-35¢0

b.V-g3mw@o

c. Om-mdo

d.J - xmmwo



The correct answer is: Om - mJdo

10) 300mM0bs@ms bobiEgdol Mg 3350MBEHT0 bs oymb la )b 39dEMM0, O3S
54BH0IM0 S M95dGH0MO BLOIEs36M9d0L J0T>MI0I)GdSS bsDB0Ib LogEoL3gh? s0oMBog
900:

a. | 3350Ms6Edo

b. 1l 33500M56&d0

c. IV 33500656@&3d0

d. Il 33500563 3do

The correct answer is: | 3350065630

11) ®oo 560b 2563060)MdGOE0 9. Jugedo 3O E0LIE0 I635MPd0 S0MmBOY
9600:

a. 999 EHOMgbgm00l 3003gMH 300 6535602900 39BOLEBPZMYO0B godmygbgdmwro
bgbsfgmgdol IgE MMMy doboliosmgdmgdoms s 318smdol M19:50d9d0m

b. 999 EHOMgbgmo0l 30039MH 300 6350900 39B30MMBYOM0S J39U5YYIMYOOL
3996w my0m®0 Imfigmdommdgdol 329dsmdobs s dmdbabveg 39mLmbsgols dmddgwpgdom

c. 999 EHOMgbgM00L 39O 300 6535602900 A9B30MHMBYGOME0S Jengd@®mm Jugwgddo
99dEHOHMgbgM00L 3505(3990L ML J0dE0bsGg B0BOIMMO 3MHMEILYd0m. s Jugerol

99396@ 9030 9bgMH00L Boforol LoMBdM® QoIJ3I30m
d. 999 EHOMgbgmo0l 30039MH 300 65350900 39B30MMBYOM0s gegdBO™Mgbatyools
©539(3900m, IM03b39wgdoL B39Bgd0Ls s MBI gdOL J0gM obsMX Mo

99dEHO™9696M00L LogslryMOL goobEOL FgLsdsdmdom s S15939 9bgMPO0L ImbIsMmgdols
3MbGHOHMOol MmMHA560D300L bLgOML Lbgs JoBgbgdom

The correct answer is: 90939696000l 30009OHE0I0 653502900 35630MHMBYOME0S
99dEHM™9b96M00L ©oB939d0m, IM0Eb39wgdoL B3969d0Ls s IMIbTsMGdEgdOL doge
QbsOX M0 9e9dBHM™gbaMa00ol LogslMOlL gosbol G9Lsdsdmdom s sl939 9bgMaools
dmbds69d0l 3mbEHMMEOL MmGOYB0BsE00L LEgeml Lbgs 0BgBgdom 12) bogmoghgds,
H™IGE0E 00mMJAoL 56 5EHsMOL 99 ME ©gbl: soMbog ghmo:

a. 309bmgyd OO 989JHO
b. ©@0gwgl@®0go
c. foboommds

d. @omEo



The correct answer is: ©099J@®030

13) 890333905 09 565 IMIHT509090l LsdRsBs IMs30L dMHY630L 0TsMmIYgds, ) Jugerdo
3503900l 3060530600 308Y3MMdS F90(3319ds 349803 I3OMBdOM? 50MHBOY 9OHO:

a. 50 890mbg935d0 IMIBA>MdGEOL BodgsDBS B30 QoBIMYdS
b. 3db3o6m9d9e0l LodBsbs dMsgol dMHB3OL 0TsMMYGdS 56 G033 gds

¢. 3dbdsr9d9eol LsdRsbs dM30L dMHMB30L J0dsMNEgds Fgo(33egds La3oMmOL3OMH™
9005600 gd0m

d. 3m3bdomgd9geols bsdgsBs IMS30L 3630l F0TSMMMEGds 56 TJOE3EYdS, Bo3G5T AMEZ30L
Lodderogztg 9993060

The correct answer is: 3mdbdo9d9e0l Lodgsbs IMs30L dMHVB30L J0oMNMEGds TJ0E3LYds
L5306H0L30OM 0B IOOD

14') ®5b 9oL gbol dserol LooY, HMIYEo3 39906905 R1 HgHBolEM®To, oy dolo
0bs0Mds BHmeos R1 =100 md, R2 H9HoliGm®ol §obspmdss 500 md, bagnm gbol dows,
MMIgeo 2990bgds JoLo 393w00 dgogbli 12 =0,1 5

506MB0g 9O ™O:

a.50»

b.0,15

c.0,5%

d. 0,025

The correct answer is: 0,5

15) 220 3 6m3065¢rm@o dsd30l 3563509001 6507)MHgdl H6396 380 3 bobwEmo dsd30l Lsdgsbs
0690d0. 2563L5BO3OM™ b50YMHYdOL J0gMgdOL Lidgds: soMPog ghmo:

a. mmbbybosbo 3oM33ws3M0

b. Lsd3Mmbgo

c. bs0r®gd0 56 Jgodegds BogMomma 380 g3 boB®mo dsdzol ddmbg Jugerdo
d. bLYALOYBOsBO F5MIZE 53O

The correct answer is: m»bbY60560 3oO33ws3M0

16) G5 56H0b gargdBHermwo gbo? soMbog

9o »o:



a. 35935630 ©3MbEHME0 Boffos39d0l J0doMmrm¥eo IMglitr0ygdveo JmdMomMmds
b. 99dGHOME0 3MHEHYOOL MYOHMOYOHNJIYdS

c. 603009900l bsfos3900L MHglmogm IMIMSMDS

d. gl G0l Im{igmdoMds 9.0.d. FoLsbdMIs©

The correct answer is: 5935®d0 ©3MbEO bofiows3gdols Jodsemmeo dmfglmoygdmwo
9mdMoMdS

17 ) BHBLFMOTEHMO0 45639m3b00s: s0Mbog
9000:

a. 399000030 9boL (3309 23MJIbOLIMZ0L

b. 33090 ©9bOL AoMalisddbgws

C. (3350 9oL JobOMIdS®

d. 3350 960l 3990350 FoMOJdboLsm3z0L

The correct answer is: 330050 96OV QoM LOJIBYEs©

18 ) LEAGYBS M9 Yddo LObMLMOIW YOO §.0.d =900 BB JMHTsbgmMOL 0O SIBIMEOS
Jmombom: s06Mbog ghmo:

a.m

b. 2rn/3

c. /2

d. /6

The correct answer is: 21t/3

19) G5By 9M0b ©s9M30I0E0 IMIegE FgOHMZ0L Bs39MYG00? S0MmB0Y

9600:

a. 939 99H 30l 9653502900 ©sdM30YINI0s oolagd LoddErsgzMmgbY, 49390l
bsBob 33900L5 s LogMdgbg, boBAo BHGIBLBMOT>EMOIOOL M5MEIbMBsBY s UbZ. s
36MM3MMHE0I0s 9e9dGOIo Jugeol 9egdnb@gddo 2535350 oGH30MM30L Ibol
33900M5@0bLY, MMIgeoi OMyme3 Fgbo 033w gds MOl Jobgwzom

b. 939 F9H N30l 653560900 296306MHMBYOME0S 2306330605 s B0 d5d30L
0BMWHEGHMMJOT0 5:b30L Ybgdom



c. 939 9H 030l 96535602900 ©sdM30IOIE0s dsd30L I30609 BB Ys305HY
500036090056 GHMIBLBMOT>EHMOGOOL ogb0EWE 359BHMJOT0 OBIZ0MMZ0L Q5093

d. 9390 9H 030l ©sb535602900 89035396 MO0 Lobols sbs39MAL: IBsZMYRJdO
33062306L5 5 259Mb30L 96930 godm{izgme sbs39MAIOL Fooeo dsd30L Ladsghm bsbgdols
Q5 939L5PMGOOL 0BMESGHMOYOT0. 039 Lobol s6S39MR0 FMZ0YOY0S 5d0bEOL
306)190bY

The correct answer is: 339 99OHNZ0L 6535MRGO0 TMI0WIII0s FoIB(39D
LOddE63MBY, 49390l bsbob 3390Ls S LogMdgHyg, bsBdo BHOIBLGMMTsEHMEMYdOL

650096M05%9 @ bb3. s 3OM3MOE0I0s 9egdGHOMEo Jugerol 9egdgb@gddo dsds35¢0
©53300m30L 9oL 335MEHOLS, MMIgEoa OMmAMmM3 Hgbo 033egds ™oL Jobgz0m

20 ) bLsdMBOL 9bxMAOL Q9MOJdBOL gargdBHBer 9bgMos: s0MRoY
9600:

a. 5¢MIM©o 99dGHOMLIYMOMYd0

b. Jo60b gargd@BHmmboy®gdo

c. 30006099 GHMMBOOAMOHIO0

d. 0dM9g9dGHOMLoAOH9d0

The correct answer is: 39w 9JGOMLoOYMJdO

21) Hmam©0 Labol sEH300mM30L MM odmoygbgds LsdBsBS MMbLEYbosbo LoliBgds? s0MmBoY
9O »Oo:

a. ®m3germs 309gdol BsDBYd0 T99MH 0GOS Bsd3MMbgs©

b. ®mIgerms 303mgdol goBgdo 9gMmgdmwos 0os LsdzMmbgoeo

c. H©mdgms 3089d0L BsHYdo 899MH MO0 Boybogs©

d. H©mdgwms 8080900l BsHYdo 899MHm9dE0s 35MI3IZE350

The correct answer is: ©mdgms 8080900l BoHYd0 T9gMHmYdME0s 35MLIZE035Q 22
) 29965¢00Bgm, MMM Fgo33wgds 1, 11, 12, 13 096900 3oLomgdol 3oblbol 9999y
50MB0g 9O mOo:

a. | - 56 990333909, 11 - 4o0DMEY0Y, 12 - 450BOEYdH, 13 =0

b. - 3899306000909, 11 - go0BOYdY, 12 - 50BOYd, 13 =0

c. 1 -89930600909, 11 - 56 90330909, 12 - 56 89033090, 13 =0



d. - 2506909, 11 - 350D6MHYd, 12 - goobMgds, 13 =0
The correct answer is: | - 39930000909, 11 - 56 90330909, 12 - 56 Fg033eds, 13 =0

23) 220 3 6030bseM0 ds030L 356M356900L BsNMIOL G396 220 3 boBMMo dsd30L LOdBIBS
0690d0. 2563L5BO3OM™ b50YMHYdOL J0gMgdOL Iidgds: soMBog ghmo:

a. 6™ YO0 56 G90dgds BogzMmMo 220 3 bsbmE@o dsdz0lL ddmbg Jugwrdo
b. Lod3Mmbgo

c. LYALOIBOsBO F5MIZE 3O

d. mmbbogbosbo 3oM33ws3M0

The correct answer is: 5937)mbg0

24) 9900905 0960 3560339350 F996M009d9 MmmblLo)bosb HHgol boyenmgsb bogbdo ogmls
B0l Bmeo? soMbog ghmo:

a. 5M5bEMML 61Ol BHMEo 56 SGOL

b. 8g90degds

€. 4ym39em30l 6ol BHemeos

d. 56 890dgngds

The correct answer is: 99o0dqngdos

25 ) 6oblnm®ds@mmo 3293503 mJdo Lgerol Mg5080 gl 0dsl 60dbsgl, Mmd: soMBoy
9o»Oo:

a. HMbLRMMI>EGHMOBY J09MMJd0s 39903030 ©gbol Hgstrm

b. 306395 265260l 56 09HmYdS (33O dsd30L 33900l Fystrc

c. 30505 MHo3b30 30639005 S IJMMH M6 gddo gMMNBs0MOs

d. 39m650 3Moabobg 56 sHOL J0gMHMJIO IGHZOOMZO

The correct answer is: 3gm©5 305360 bg 56 sG>0l J0gMYOYWO OIGZOOMZS

26 ) 9¢099H™394960399600 dmfymdormds, HmIgeos 29b3mm3zbowos gegdd®eo gbgdaool
099960399650 356odabolomzol: soMbog ghmo:

a. d®s30

b. 39696M5¢ ™Mo



C. H6obLBMOI>EGHMM0
d. 5839639E®o
The correct answer is: d®530

27 ) 30060065 Lol gdol GmIger 3350MsbE30 mbos 0gmb la gbmo 39dGH™O0, MmEs
39&H0mEo LoddeszMg 80O 0s (d99meOL) boBosb LyenEHolizgh, bmwm MgsdEowmeo
LoddEs369 (Foob) LoenEosb baboliznbh?

a. | 335006Ms6&do

b. Il 33500M56&d0

c. IV 33500656 do

d. Il 335006563 do

The correct answer is: Il 335006563 do

28) 5% 560l ©sdMm300gdYo v94do bgarol bs3stygdo?
500b0g 9P mo:

a. ©ddo BgEol sbs35M9d0 ITMI0IOME0S d5d30L B30 BJG¥ISE0SDY S
500036090056 GHMIBLBMOT>EHMOOOL ogboEWE 359BHMJOT0 OBHIZOMMZ0L Q50993

b. ©4do BgEol 653503700 B35MRJd0 oB30MMBdYIM0s 430602306005 s Fos®owo
35030l 0BMEsEHMMGOT0 495mb30L Ybgdom

c. 430 BgEol sbs35MAJO0 ITMIOEIOME0S 25sL3A LT s3MY Y, FowOEJoL
bsBob 33900L5 s LogMdgbg, boBAo BHGIBLBMOT>GMOIOOL M5MEIbMBsDY s Ubg. s
36030309905 JengdGHOMwo Jugeol gargdgh@gddo godszswo oG3060mM30L gbols
33900M5@0bLY, MMIgEoi OMYme3 Fgbo 033w ds MOl Jobgwzom

d. ©ddo BgErol sbs35M9d0 9039396 MO Lol BsoMYL: IBZMYIdO 3306M430bLS s
2951630l 9690007 459m{39e B3PIl Fo0oe0 d5d30L Lodsghm boBgdols o

939500 IMJIOL OBMWHEHMMYIT0. MEM039 LEHOL OBS3MYO sTMI0YIIE0s 5TobOl
30690y

The correct answer is: )Jdo L3Ol E6535MYJOO0 STMI0YIY0S dsd30L Jz0MY
BJGHY9E05HY O 500d3M90056 BHEMIBLBMOTGHMEMGOOL JoboEE 2593M9dT0 OGHZOMHMZ0L
3509993

29) 9a09dBHMHMygbgsG Mol 30696530 bofforo sol: soMbog

9o»o:

a. bBHOGHMMO



b. Hm@mMo

c. 3msaboero

d. 3m3m@EsGH™MO0

The correct answer is: ®m@mMo
30 ) /5800960 g9dBMd0 9egdnbE0 593L gargdBHOM9bgMHR00L LsdBsBs AM0Eb3gWL? soMbog
9600:

a.2s564

b.1562

c.2563

d.3564

The correct answer is: 2 56 3

31 ) B53m»300 sliobgegdgd0esb sdms®mBogo 30bE©Mdo 9.0.d. o®dmddbols dmgzergbs,
MMIgeo 2odmfi39meros 58539 3mbEHWH3o ©gbol 33er0wgdom s0Mbog ghHmo:

a. ®30000bwJ30s
b. mB»ogemnobomdsos
c. 35pbo@mmo 0bwdios

d. 0bwgomcmds

The correct answer is: 3000699309

32) 3185000 G5 ©9:509Dgs 490300 3HBMI0 d5030L BHMIBLBMOTGHMOO? s0MboY
900:

a. vgdo Lgerol

b. 9b 3™ 30O OGOHMYOVIE 25dDMT bgerbsfiymbg

c. dm3w9 d9Mm3z0l

d. 439es 35Lbo LHimGos

The correct answer is: v9Jdo Lgerols 33

) ©5 560b 9egdAOYwo §Hgeo?

50Mb0g 9P mo:



a. 399GHoM30 s3MbEHMo b5{ows3gdol dmfgicmoaqdmwo dmd®momds

b. 3m{gmdomdgdol gHMMI0Z3Mds, GO0 3ob3Mm3b0wo0s gegd@®vero Fobswmdol
3900boYgbgds

¢. 99dBHMMo HMH90L 3M9x303w0 4odmbobmegds, GMmIguoa 96396906 gargdgb@gdol
d99600900b oL s bollosml

d. 3m{gmdOwMdsms GOMBC0MBS, MMIgd03 39639336005 gargd@ o gbol
90b50g35Q, BOIB(39F, FoMILOJIBYEs© S IMLOLTsMO;

The correct answer is: 30{ymdOEMd05 GOHNMIWOMDS, HMIYd0E 39633600
99930 ©9bols Jobomgds, 39oLOEJIT5©, F9MEILOJIbYS© s FMbobIsM;

34 ) B©sbLbRM®s300L 3098303096E0 9GOl 1 -Bg dg@o gl 0dsl Bodbsgl, MMA BHMIBLGMMIsEHMOO
56ob: 50MHB0Y gOHO:

a. 25005bsdM9d9w0o

b. 535350 gdq0

C. 5350 GdGI0

d. 8995056b39d9wo0

The correct answer is: ©535©50¢gdgero 35
) 290050935690 200 35 533969330 S0MBOY
9o»Oo:

a. 0,0002 5

b.0,25

c. 0,002

d. 0,00002 5

The correct answer is: 0,2 5

36 ) 30mOEObsE M LoLE IOl MMIger 33506M6EHT0 Mbs 0gmL la b 39]EHMMO, Hm3s
39BH0M0 5 ©95dGH0wMO L3900l J0T>MI0I)EGdSS LOEIEH0IL baBolgh? soMbog
9600:

a. lll 3350M56Edo
b. IV 33500656 3do

c. 11 33500563 do



d. | 33500656&do

The correct answer is: 11l 335006563 do

37 ) Hmam©0 GHOMBbLBMOTEMOHO0s ©Ibol s dsd30L BHMIBLBMEOTsEHMMGB0? 50Oy
9O»Oo:

a. 3%mdo

b. dsgrmgzsbo

€. 5050509090

d. bobdoMmol Qo6 sdJdbgero

The correct answer is: 330

38 ) Hobommdol 990Mbgd o ooy sGol:

50MB0g 9O mo:

a. 2593 5MHMdS

b. 3mo®o fobspmds

C. 45039

d. 3960m©o

The correct answer is: 459@56MHMdos

39 ) ®5 560 353Dmdo §96E0 s HOLMZ0L fodmoygbgdgb dsl? so®bog
9o »Oo:

a. 3760 gl 560 MHgDBOLEBMMO, MHMILSE 2998605 FgEMYdOM F306MY, Do sd ddogo
§0bomMmds. Aol 498Mm0y94gb9096 bl gobmIz0l LoBPZMGOOL F9x3sMMM39d0L Jobbom

b. 396@0 gb 560L 3069 HobsMdOL BJMmbg BOWIMS. oL Yodmoygbgdgb IMoEblgwrol doge
999 EHMMgbgMH00L smoEbgzol dgdi30Mgdol dobbom

c. 399630 gb 5MoL 3069 Hobosmdol AJmbg BOMEMSs. oL 2odm0ygbgdgb IMobggwrols
3B §M9d0 9995300 gbol I9d30609d0L doBbom

d. 399630 gl 5HOL HIBOLEHMMO, HMIYELsE FosBbos FgsMgdom I300g dgToz0 Fobswmds.
3oL 459094969096 ©gbol gobmdz0l Lobrgzmgdol 99doMgdols IoBbom

The correct answer is: 3160 gbs 560U HgHBOLEHMMO, OMIGELSE 2o5Bb0s FgsMgdom d306MY,
053650 393030 H0bs0Mds. oL 259Mm0Y9gb9gd96 gbol 45BMIZ0L LEBOZMGOOL YoRsMmM39d0L
dobbom



40 ) 25965¢00Bgm, OHMaMO 90330905 13000609300 9.8.., ) 0bMJ30IH™MdOL
360526000l bg0sms bsbgzsML Bs350m3egdm s0MB0g ghHmo:

a. 91 0g6905 4IM30YOIEO MABOWTo bgosMs MO3H3DY
b. 56 9033w 9ds

€. 999306905 MOHX IO

d. 2506 ©gds ORI

The correct answer is: 999306905 MOX IO

41) 39935030 Mo (950D 490300 FbmIo ©gbol GHGMIBLBMOT>GHMMO? s0MBOY
9o »Oo:

a. ygzgwos 3sbvybo LfmGos

b. dm3wg 9gHmgz0L

c. vgdo Lgeol

d. 9b ©58M300JdY0s F0YMMGOI sdBMA by lisfymby
The correct answer is: 3039 99HN30L

42) 5 9bgM05L 3mobIsML Juger0sb 9egdEHOMEo BomwEs 2 bod -0l gobdsgarmdsdo, o Jobo
§0b50Mds 5G0L 440 ™, begnm Jugerol dsdgzs 220 3? s0®BRog 9Hmo:

a. 180 3¢%.Lo
b. 220 3¢.bo
c. 240 3¢.bo
d. 340 3¢.bo
The correct answer is: 220 3¢).bo>

43 ) BHOBLGEMOoEHMMO 5350 gdL dsd35L 5 3 -6 20 3 -dY , HMAMOO 0d6gds Josbermgdom
©960L LoEOY BHMBLRMEOsEHMOOL GO FMsbowdo, M) 30639wsET0 Fogobgds 0,5 5
©9bo? s0Mbog gMmo:

a. 2,0
b.0,125 %
c. 0,55

d.0,255



The correct answer is: 0,125 o

44 ) 3oHOMdS W1/W2 2560L5D03Mqds Gmgm®is: s0MBog
9O»Oo:

a. HMoblym®Iszool 3m9x303096@0

b. 3560 J8ggd0lL 3m95303096E0

c. Lo Oz3MOL 3MIBO(3096EGHO

d. s3H3060m30L 39530309630

The correct answer is: 3Osbbgm®dozool 3095303096@0

45 ) LY GHOOWO EIHEBZ0MMZS BSOMIE0S 15T MMLYH. ZOBMAZ0LL 5339MTgBHMTS 583965 10
5 BBMEOO ©gbols 3603369 Mds. HOLo B0 0dbgds ©gbo bobM Logbdo? soMmBog gBmo:

a.3.335

b.17,3 5

c. 10

d. 205

The correct answer is: 17,3

46 ) HmMym6 06003905 6oL BHGMBLBMOTGHMEOOL 3503950 Msabowro iMgdo? soMmboy
9600:

a. 3565 MO

b. 8960

c. 300qY3mHMdOm

d. 396033 53MO©

The correct answer is: 300¢0)3O>Md0m

47') 4399 dmygzsb0eo 93430390 90900050 J396 HMIgeo dogoBbosm sGLHMGs©: soMmBog
9o»Oo:

a. 35abo@ 9943L M0 3meMlio: BOHOW® s LETbEMYMO, 0LOBO F9BLBZ53WYd06 Ms3056m0
309090007

b. 8999990905 30300Mmm FoaboGo 9hHmo dmwriom



c. 35360@0 - s3MbEHMo bsfowszgdol odsMmnveo dmdMHoMmdss

d. ©9s30{ols bxzgmM - OO Jogbo@os

The correct answer is: 3536030 - sdbE M0 bsfors3900L 0o IMIMOMdss 48
) MmO 992303005 353BoMEM® Lo s3MOL 3MIBR0G0I6EHO by mzbm®o aBom?
506MB0g 9O ™O:

a. bLodds3MmOL 3mg803096GOL oBOOL JoBbom godmoygbgdgh do3ma3gbloMgdgw
9mfymdoEmdgdl — 3dEregzm 49bgMoEMM9dL s SLOBJOMBME IM390L

b.bodds3M0OL 393030960l FoBOHOL FoBBbom Fodmoygbgdgb ds3md39blocMmgdgw
9fymdoErmdgdL — 3dEreg® LobdMmmboe dM5390L s LESE03ME 3mbgbLsEMMIBL

€. 4395 B9gImom BsdMmmM3e0wo L35 gd9d0m

d.50dds3Mm0L 39303095 EHOL FoBOOL JoBbom 45dM0Y)bgd9b TIBEIGOIE o MZsb
GOBLBMOT>GMOIOL S MG 96960l FMIBAsMYdg FMFYMdOMdIIL

The correct answer is: Ll0ddo3MOL 39B03096EOL FoBOOL F0BbOM Q5dM0Ygbgd9b
053339bL0MYdg FmfiyMmdoEMdYdL — dd 536 LobMMbM dMs390L s BESG0INO
30bgbLoG ™GO

49 ) G605 9bol dsgrol ooy iM9gdo, 049 1B356Bg 9e 9GO Fobswmdoom 4 md dsdzs
AM05 2 3? 506B0g gOHmo:

a.1,0s

b.2,05

c. 0,255

d. 0,59

The correct answer is: 0,5

50 ) bLodgEBHMOM BsIBIBS M0 BoBMO 5035 BME0s 220 3, B>DBMMO ©9bo 10 5, cosd =0,8.
23963L5BP3OM™ 50O LoddWs3zMg: s0MBog 9PHmo:

a. 1760 35¢
b. 3000 35¢)
c. 5280 35¢)
d. 2200 3s¢)

The correct answer is: 5280 35¢)



51) Hobosmmdol d906»Hbgdyeo Loogs: s0MBog
9o »Oo:

a. dsd3o

b. 3mom®o fobspmds

c. 3mB39b30swo

d. 2593 56OHMdS

The correct answer is: 45935OMd5

52) 9m6 356d0¢mgdbHg 490053990L5L 9e09dGHOMgbgMH00L ©sbs356M900 30639 Mogado
5353306090905 0356, HMI: s0MHB0Y 9O MO:

a. 35056 0O BYHYBOL BTwYSEIGOO oIB(39T0 YBOL LTS3

b. 909d&HMME0 960 5MOdMBL JargdEMmMYS939d0 bobgdol Logbgodl

c. 9099AH™gbgmao0l 396sddbgen BMIBLBMOsEHMMIOL 5J3L O30 FoMyo Jdggdols
3038060gboo

d. 969600L 36083690 M3560 bsffowo obstrxgds Jugerols Imabobwygeg bLolEgdgdol d«wdsmdsby
The correct answer is: 9¢29J&H®0 960 s5POMBL JergdEBOHMYS(3990 bsbgdol Loggbgdl
53) 90990 3mEgbE0swol 4oBmaz0l 9hmgEos: s0Mboy

9600:

a. V-gow@o

b. W-3530

c. F- 356o0

d. A- 533960

The correct answer is: V - 3m¢@o

54) 300 3533960:335DmdgBHMobL (BAD) bgarlishymdo, Gmdgeo dsd30b 39dGmMol dodstom begds
969960 39JGHMOIOOL 53905 s G5 3INHOM 5MOL IIMIEO MOPOLEOL WgMIoL J0Ts0rIN?
50Mb0g 9P mo:

a. UCB 95030l 39dGHmM0lb 303560 s 020 0sdMH¥)en0s mM©obs@ol gdols dods®o -900
3M5MLoom



b. UBA d5030L 39d&H™M0l 30356MH3 s 030 ©odMgem0s mMmobs@ol wgmdol dodstod 1500
235O

c. UA 350300 399460l 3035600 05 030 ©09d0Mve0s MmMobs@ol 0g®dol dods®o 00 yGmomlom

d. UAB d5330b 39J&™60L 3035000 ©5 030 30005 mOobs@ol g@dol dods®o -300
35O

The correct answer is: UAB d5030L 39dG™M0b 8035600 s 030 ©odMm9an0s mMm©obs@ol 0wgdols
90356 -300 Moo

55) 5 56H0b 5030l GHEMBLEBMOTSEHMOOL sb0dbgds? s0MmB0Y

9O»Oo:

a. 895930MML BAIMOL 30MH39WsO o

b. 39BMIMb 306H39WdO dod35

C. 39BMIML 300390 9bo

d. 8958306ML 300390 {90l Jomowo dsd3s

The correct answer is: 89593060mb 306039050 {HO90L Fooe0 dod3d

56 ) 220 3 Jugabg F0gHMGOME0S (35CRsDS BHOMIBLBMOTEMEO0. IbToMgdweo LoddErsgzMgs 2,2
333 0960 dgmEs gM536000d0 5MH0L 2,5 5. 563LsDBOIMGM BHMIBLBMOTs300L 395303096G 0,
MHmEo cosd =17 s0MmBog ghmo:

a.K=2,5

b.K=5

The correct answer is: K=4
57) 5L 330639690 360353900l 3odmwsBy (Hobs 3s69wbg) s6LgdMmo 50bodzbs? s0MBOY
9o »o:

a. 3m39999o 50bodzbs 230B39690L JoMbobs — sdsBowgderols doge dobo Fgdmwo IGoEbggwols
bsolbols 5odsbls

b. 33999900 50603365 4306396901 IHOEb3gEP0L 353BMT0 JergdgbEHIOOL MoMEIbMBLL
c. 3m 399990 50608365 3306396908 IMOEbZYEOL BsBYOOL MoMm©abmdsL

d. 3m399mwo 50bodzbs 430639690L IM0Eb3 Ol LoBMBEOL 3ESLL



The correct answer is: 30399990 50603365 3306396901 IHOEb39gEOL LOBYLEOL JEsll

58 ) Hmam©0s 50308 Lo 3I030 IboL {HMgEOoL MBIEDY 2 M3 gegdG o Fobswmdols
5 4 5 960l dserol LooOL OML? s0Mbhog gOHMO:

a.4,03

b.2,03

c. 803

d.1,03

The correct answer is: 8,0 3

59) 65 59m356900L 45050939 bgds 9eadB®Io Jugerol bodmswgdom? s0Mboy
9600:

a. 99dAH™M9bgey00l Foedmads

b. 9e099dBHM™9bMHA00L 2553905

c. 9e09dGHMH™M9bgMo0l dmbds®mqds

d. 439w Bgdmo Bsdmmzeromo sdmisbs

The correct answer is: 9¢29J&M™9b6OR00L 203905

60 ) R =440 03 (j0b50md0ol 3561350900l bs0rMs Bs®ovenos U = 110 3 dsd30b dJmbyg Jugendo.
239bLsBO3Mgm IBOL dogms bsnms8o soMbog ghmo:

a.0,25»%
b.255
c. 0,755
d.30s

The correct answer is: 0,25 o

61 ) 90999600l 2os3gdobol 6535000l 8933096900l y39esDY 9539dGHwE Igomml
§oM0moqblL: s0MBog ghmo:

a. 350513990 gbol Loddgsg®mol 9d30MYdS
b. 9094 &HOM059398 boHgddo dsd30L gobMs

€. 3905153990 6ol LOAIES3MOL FSBO



d. 9099 Myosd390 bobgddo dsdgzol 999306090

The correct answer is: 9029dGHOMyo©59398 boHgdTdo dsd30L gobMH©s

62) 60 3333 250053093560 Fo65dd0 s0MB0Y

9O»Oo:

a. 60x10-12 3

b. 60x10-6 33

c. 60x10-3 g

d. 60x10-9 g3

The correct answer is: 60x10-12

63 ) 299BM30 ©gbols BHMIBLBMMAsEHMEMOL M5bogdol bgosms Gogbgos W1 =20 s W2 = 100.
396L5BEOZOIM BHEMBLGBMOT5300L 3gB03E0g6EH0? s0MBog gBmO:

a.5

b.0,20

c. 2000

d.50

The correct answer is: 5

64 ) HMamO 06003905 d5030L GHGMIBLBMOT>GHMEOOL 306390 MRbowo [HMgwdo? soMbBog
9600:

a. 300 93M™MdOm

b. 35659 Mo

¢. 89699

d. bed3MmbyEMEs©

The correct answer is: 350509 IM>Q©

65 ) 30505 MHo3b30 MOMMYME0 BsBOL 300391 3Msbowdo 5oL 1000, OMMYYO BsDOL
39mM50 3Ms3boedo 30 200. 33390530 Jugerol bsbmE@o dsd3ss 1000 3. 45BLsbBEZMYm bobmEo
35035 BHMBLBMOToEHMOOL 58MbOLZEGE DY, ) 4Msbogdo FgaMmgdEos ,,35M1330030 -
39033530 bgdom s0MBog gPmo:

a.2003



b. 5000 3

c. 200/Vv3 3

d. 1000/v3 3

The correct answer is: 200 3

66 ) d5330L dmddgo 3603369 Mds GHMer0s 220 3. HOLO GHMeo 0dbgds dsd30L 533 oE MO
Um 36039369mds? s06MHBog ghoo:

a.3803
b.157 3
c. 4403
d.3103
The correct answer is: 310 3

67 ) LoIYGHOOYWO IGZOOMZS BoME0S Z5MLIZES35¢0. JoBMIZ0LLL 5339MHTgEHMTS 583965 5 o
35DBMO0 ©gbols 603369 Mds. Moo BHmeo 0dbgds gbo bsBO Logbdo? soMBog ghmo:

a. 8,7

b.5,005

c. 2,959;

d. 7,07 s

The correct answer is: 5,0 o

68 ) 356LsBZMYI? 5JBHOMMO IBHZOMMNZ0L MM 59dEH0IMHO LOTAES3MY GO GBIBS J0TVYdTO, 0
§0b50Mds BHMEos 100 md, bmerm 8080gdol gbo sGol 5 ds. s0MB0g ghHmo:

a. 0,0025 3¢.

b. 2500 3¢.

c. 500 3¢.

d. 2,533

The correct answer is: 0,0025 36).

69 ) 03oLom30L, OHMA 9e9dGHOMHMIbgMRRO0L 2503390 boBAo dsd30L AoBEMEOL ML
3930650Bbmm 4905L539d0 LOAAES3MY FOMbMZgds IbOL dogrols: soMBog
9o»Oo:



a. 03039 LOEOOL BHMZYdS

b. 899306905

C. 29mMToy9)dS

d. 256

The correct answer is: 9993060905

70 ) H6obLnm®ds@ MO0l d29dsmdol Hg50al, Mol OMLSE ImdbTsmdgEmsb 9bo 56
ool 9fimgds: s0MRog gMm0:

a. bmdobsgrm@o Mgg000

b. dm 39 9mHm30L Mg000

c. 39985 Mgs080

d. vgdo Lgerol Hgg0d0

The correct answer is: v9Jdo Lgerols Mgg000

71) Mg 9H»GMEgddo 459molobgds € (g3o00mds? s06mBog

9O »Oo:

a. 39e30bo

b. 3mw@o

C. BoMOQO

d. 39660

The correct answer is: 53065000

72) 5800960 300305 0093990 dsd30L GHMIBLBMOTEMEOOL IgmMmo0 4Ms3bool
Bmdobser® dsd350? oMby ghmo:

a.53

b. 1003

c. 503

d. 220

The correct answer is: 100 3

73 ) H6Moblgm®ds@m®ol o@30MHmM30L IBO 350BIMEs JOHMbIHYZ5MXIO. MMAMM TJ03E3w9ds
05260@1M0 653500 BHOBLFMOT>EGHMMOL gesbsdo?



50Mb0g 9P mo:

a. 8993060905 9O MbsbgzsMmX M

b. 3450B6M©9ds Lsdxge

c. 56 89033 dS

d. 3506935 9O MBsbgz5MR M

The correct answer is: 99930600905 90Mbsbgz56MX G

74 ) Hmam6 93w gbsBHgs 00531936900 GHOMIBLBMOTsGHMOOL 3MTomds?
50MB0g 9O™o: a. doabo@ Mo

b. 99dEHO™Asxb0 MM 0bmdiool

. OGO
d. gegdoOeo
The correct answer is: 9¢9d&®™3sa60E M0 0bmJzool

75 ) ©m3900 GHOBLBMOTGHMOO0 0de93006 LoF5gdsl FEMMIO 3(339¢M0d Jsd3ZS
2990bolgEger ImdFgHgdHg? s0Mbog ghmo:

a. 93GMAHMBLBMOTsGHMOJO0

b. 398%Bmd0 GHEMbLRMMIsEHMMYd0

€. 353560 GHMIBLBMOTsGHMOYOO

d. 990090900L GHGbLGRMOT>EHMMYd0

The correct answer is: 53¢ M@OBLFMOT>EMMHJdO

76 ) LoAGsDbs M0 bobmEMOo dsd3s BHME0s 220 3, bsBMMo ©9bo 2,0 5, 5JB0EO Loddesgzhy -
380 35¢). 303m3Mmm 1O 530L 3Mm9R030Y6EHO s0MBOY

9600:
a.0,8
b. 0,5
c. 0,7
d.0,2

The correct answer is: 0,5



77 ) Hmam® ©9bL 9fimgds 330s0? s0MboY

9600:

a. ®39o 033wob 5306 LOWOIL OMOL 2obdsgEMdsdo

b. ®mdgeroi 0330l 0e30L LoEOIL S F0TSMMYIEGOIL OMOL Fobdsgermdsdo

c. O©™3goi3 0330l 530 LOEOIL S 56 033l 0TI GISL EOMOL 45BTog3wMdsT0
d. ®©mdgos 0330l 530l J0ToMm0¥YEgdsls EMMOL gobdsgzermdsdo

The correct answer is: ©m3dgo3 0330L 530l LOWOIYL S F0T>MMYYIENGOIL OMOL
296353amdsdo

78 ) sbobdHMbmo dMsgz0L BEBSGHMMOL BsabodMo 3gol d6MB3ol J0dsMmIegds dgodergds
393335wMm: 506hog gOmOo:

a. 56 990dgds 8Mm9630L J0oMmMMEgdOl 9933w

b. 3 5350l 5YOGOOL 45633 gd0

c. 69903090 2 BoBOL QP0G 2ob(33CgdOM

d. bEOGHMOMOL 3 MgdOL Y300l Momgbmdol dgE3wrom

The correct answer is: 550030960 2 ZoBOL 5 YHOEGOOL 20633 gd0m 79)
MHMIger 9609900 2odmolobgds dmdbdsmgderols MgodEomwo gbghyos?
500b0g 9Mmo:

a. 3560

b. 3mwm@o

C. 35¢0

d. xmmero

The correct answer is: 3560

80 ) Hmam©0 330090 gds5 IHOL BHEBLRMMTSEHMMOL 306H39woE S FJMEIS©
30536093l ImGmoL? s0MboYg ghmo:

a. Wi=W2
b. W1> W2
c. 99Mm©50 Ms3bomo 306039woob bofowml Fomdmaowagbls

d. Wi< W2



The correct answer is: W1< W2

81 ) b305m5 MHO(3HZ0 MOMMYMEO BsDBOL 30MHZ9E FMBoEITo 5GOL 1000, POMNMY)EO BSBOL
39mM50 3Ms3boedo 30 200. 33390530 Jugerol bobmE@o dsd3ss 1000 3. 35BLsBZMYm bobmEo
35035 BMBLBMOToEHMOOL 5dMbOLZEGE DY, M) 4Ms3bogdo FgaMmgdYEos ,,35ML33¢030 -
bsd3mbgo” Bgdom soMBog gPmo:

a. 1000/v3 g

b. 2003

c. 200/V3 3

d. 5000 3

The correct answer is: 200/V3 3

82 ) ©m39w0 GH®MBLBMOTGHMOOL BHEMBLRMMIs300L 309B0309D6EH0s K> 1? s060Bog
9B00:

a. 2505056500909 0 FHMIBbLFMOTsEHMMOL

b. 05050509090 BHOBLFMOSGHMMOL

c. 09 BHMBLRMO>GHMMOL, OOl 30639150 B0l bgosms MHoiEbgzo bsgagdos
390650 gM5ab0eol bgosms Gosbgzby

d. 5350505390 GHMIBLBMOTEHMOOL
The correct answer is: 535509090 BHMBLRMOSEGHMMOL

83) 36006(30305M5© 0O 25635303 93EMEHMBLBMOT>EGMEMGOO
AMBLGRMOTSEGHMMHGOOLOYSE? s0Mbog ghrmo:

a. BHMBLBMOT>:300L 39B03096EOL (330 9dOL Lsdwysegdom

b. Bmdom

c. HMbLBMMI>300l 30609 3mgB0E0gbEH0M

d. 3063950 s 39MM50 iM9q00L gegd@ o d99mHmgdom

The correct answer is: 3063905005 3gMEOH>O §H9Jd0L 9e9dEHOMEo 99 NJIdOM

84 ) 9e9dBHO™9bge00L LodgBHMOMEo BsdBsBs MIHAsMYdJO FgMGdY0s 56U 3IZL935
Bmemzs60 Logbom. HmymE 9go;33egds 9bgdo A, B 05 C 35H9030 s 960 bmermgzsb N
Lo9bdo, M) BsBsdo Imbgds BsBM@mO Bogbol yofy39@o? F0MOMM® sMLMEO 3slvbo:
506MB0g 9MH»O:



a.N=0

b.IA=0

c. IC 56 890333190

d. IB 56 99033900

The correct answer is: N =0

85 ) 39bLoB3gmgm PV2 3 3dg@®mol B39b9ds, 0049 30e@dg@©gdol B39bgdgdos PV1 =50 3, PV3 =
80 3.

506MB0g 9O ™O:

a.30g.

b. 80 3.

c. 50 3.

d.1303.

The correct answer is: 30 3.

86 ) Hm3dgo bgelbsfigm 56 d90degds 0359000000 ©gbol GHGMBLBMOTSGHMEMOL 35dbMmd 3mFoBg?
50MB0g 9O MOo:

a. 3mGHdgBHMo

b. 53396dgGH®0

c. IMobz9wol gbmemo 3mFs

d. 35¢39GHM0L ©gbMMo 3mFo

The correct answer is: 30 3HIgGHM0O

87 ) 9943 m9bghaool dMobggeds seMoibs 100 33¢).bo 5 o -0l 2obdsgermdsdo.
2396LsBP3Mgm LMo M FMbTsMYdo LoddEsgzmy (cosP=1) s06BR0g gPHMO:

a. LYo 3sbbo 56 sGHOL
b. 50 338

c. 500 33¢%

d. 20 333

The correct answer is: 20 33¢



88 ) 5L 330639690 IM03b39w0L BHodsBy ((obs 3569w bg) s6LYdMO , , 50b0d369d30?
506MB0g 9O »O:

a. 9m 39990 50b0d369d0 2430639693l IMO(H39EOL 493BMT0 gegdgbEHIOOL MOM©IBMBSL
b. 3m39990 5060836900 330P39690L IM0Eb3gWOL BsBIOOL MoMEYbMBSL

c. 9m39999o 5060336930 43039693l JoMbobs — 5TsBoYdOl doge Lboslbgs 3e0ds@w®o
3063900530l IM0(3b39E0l Tgbiervyargdsls

d. 3m399mo 5060836930 230839693l IM03H39 0L LOBMLEHOL Jeobls

The correct answer is: 3039990 5060936900 330P39690L IBM0Eb3gEOL godbmdo gurrgdgb@gdol
5m©9bMdSL

89 ) Bo®»30L Lggdol dobgz00 gargd@mmgbgdaool IMoEbzgergdo 0ymas: s0MBoY
9O»Oo:

a. JONAM0R05D S IMZ5WEHIM0RG0D gargd@BmmgbgMaool IMo3EblgEgds©

b. 30653060 S BHOMBLBMOT>GMOH0 BsOMZ0L gengdBHO™IbOHR00L IMHOEb3gEIds©
C. 39QRBHS s LEARsBO gegdBHOMYbgMool IMO(b3xEgds©

d. 06060 ©s FoBONWO JLIJHO™IBIHFO0L IO0Eb3ILId®

The correct answer is: 3060053060 5 GOMOLBMOT>G MO0 BsOMZOL JGegd@GOM9bOHA00L
d6H03b39Wwgds©

90 ) 296L5BE3MYN 356356930l B5IYOOL Fobomds mv, Aol 5§gem0s 100 3¢ s 2203: s0MmBOY
9000:

a. 864 md

b. 490 md

c. 484 md

d. 684 md

The correct answer is: 484 0

91 ) 96bs060 LogyM®AoL S GMHOES 03539 Jobool, oM LbgsILLS 0sTYEHMOL dJmbg GO
L5B0b 9MHPO s 03539 WIHOL POHML OHMTYJ0o FoMYPsb0 MAROHM FgEOE PobMMYds: s0MBOY
9o »Oo:

a. 39956930 56 bMH9gd0sb



b. mu6™ d9@o0 39bMMH©Yds 990sM9d00 J306M9 053xEEMOL bowgbo

c. 6039 9O0b506M5© 2obMHYds

d. Mx56M 3@ gobMgds 9900000 OO 0s3)EMOL 8Jmbg Lowgbo

The correct answer is: “)R36M™ J9E5© 35HIMHYdS F9MGO00 I30MY 05TYEHMOL bygbo

92 ) 39b6L5BL3Mgm [HMrgob LMo Hobsmds Mo IMIbTsMYdWOL 3sGMoEgE Mo Tga@gdOL
@O, OGS Hobsmmdgd0s 10 mI: s0Mbog gOHmO:

a.0,2 md
b. 10 md
c.5md

d. 20 md

The correct answer is: 0,2 md

93 ) 9e9dHOM §69d0 mOO HIHBOLEHMOWOo gargdgb@o d99MH9dIE0s 30IZOMdOM,
OHMIgems [fobswnmdgdos R1 = 100 md s R2= 200 md. ®ob 260l §Ogool dgbsligerganbyg dsdgzol

LoO0wY 0,1 5 Y60l ool LoEoOL OML: s0MmBOY gOHMO:
a.3003

b.303

c. 1103

d.2203

The correct answer is: 30 3

94) 33050 6ol gargdEHOMyero (Hgwo, Gmdgeros 903536 FbMmEm 959G R fobswmdsls
35906 g99d@®mmwo gbo: so®bog ghmo:

a. Bodm®™Bgds dsd30L goBsdo 900 -om

b. 98mbg93s dsd35L Robsdo

c. MULHO9OL dsd35L oBsdo 900 -0

d. 5999300090905 dsd30L5956

The correct answer is: 99mbg935 dsd35L BoBsdo

95 ) 5L Mol ©9bo 6™ 356 bygbdo LodgEHMoM LsdBsbBs iMgdo sGH30MM30L
350335350 99960100900l OML: 50MHB0Y 9OHMO:



a. 3obBob bmdobser® bl
b. Bsd0gg BsBOL brmdobswmMo gbgdol x oAl
c. M0 BsHBoL bmdobsermMHo gbgdol xsdl

d. bl

The correct answer is: bl

96 ) LEAYBHOOMWO IGZOOMZS TJYMHNYOME0S b3MPNHYIOW, br® FsBMMO gbo BHmeos 10
3. ©5L MOMOL YBO bsbME Logbdo: soMboy ghmo:

a.20»

b.17,35

c. 22,55

d. 105

The correct answer is: 17,3

97 ) bsB996M0 0960 M0 2,2 5. 250568500390 BsHBMYOHO ©gb0, M) IBHZ0MM3S LOTYEHMOMEO0S
5 899009000 35ML3IZo35: S0MR0Y 9MmO:
a. 2,59

b.1,27 5

c. 3,8

d. 2,25

The correct answer is: 2,2 5

98 ) LodgEBHMOME LEIBIBs HHIETOLIBMMO YBO BHME0s 2,2 5. J5MOBYIMOTg0 FoBMYGO
960, ) G30MM35 T9)9IMHNYI0S 15T3MMNHYIE: S0MBOY ghmO:

a.2,2

b.2,55

c. 1,275

d. 3,8

The correct answer is: 1,27 o

99 ) ®5@ ™A HoM3My9bL 535M0 M9:50dL MMBLHYH0E LoLEYIsdo bgo@ oMo bogbols
093992 s0Mbog ghmo:



a. 969600L 3039dOL Y39as BB FoBwmdlL dod3o

b. 9696300 3090gdol 439 RobsbYg 396Yds dsd35

c. 59 @OML Ho®m3dm0ddbgds Im3wg GgMm3s

d. 9696300L 3030900l DMA0gMH® BsBIBY ToG¥IEXMBL dod3s, beagnm Bbgs BsBIBY 350D
The correct answer is: 969M300L 303M9d0L y39es BobsbY Fo@EHwEmdL dsd3s

100 ) 30O 0bs@ms LolEgdol HmIger 33506630 Mbos 0gmb la gbHo 39JGH™O0, Gmas
59300 LoddE 536 B0BMMNYO0S (250L) LoE 0L bsBolgh, brenm MgsdGHom®o
Loddo36Mg F0T>MMYE0s (390MmPOL) boBoIb LoenEolizgh? soMbog ghomo:

a. IV 33500656 do

b. Il 33500M56&d0

c. |1 33500656&d0

d. I 3350065630

The correct answer is: IV 335006056@&3d0

101 ) O™ LodMEGHYIHY S MO LOToMWgHY MBS I0EYSL IMOEH3I0? s0MboY

9o »Oo:

a. 3m0o(3639 900 YYB0S6 396M5YdT0, 3569w gdbY, 3000 JdBY. ool Lodswerg 1,4 2,7 0.
LodGMEY9, OMIGEDIE VYJOS IMO(3b390 Y6 OYML 35eLOBIE 39MFBH0IIMO.

b. 303Eb3gwo 905 3033egdlrye 458565H0gdgEo IMfYMmOoEMdGdOL 359969800, 39gdbY,
603d9080. odol Lodswmarg 0,4 — 1,0 3. LodM Y, OMIG DY YOS IMOEb3gwo Mbs
094l 3ol daliols 56 crommbols.

c. 3M03b390l ToMYdS oLIZ9d0S 3eoliEToLOL 56 omMbOL BsMgdbY. oEYTOL Lodsweny
0,8-1,7 3. bodGMEYg, O®MIYGDBIOE VIO IMHOEb3g0 MBS 0gmlb Fobsbo
3963035060, beenm 3:mbLEGHOMJ30s bozdom boli@o.

d. 3036390900l s35MJds OLETZ9005 J565EIODY, 3569cgdbY, 33egdLwE

309565)0e909e0 Ifymdowmdgdol 3099609800, 39egdbg, Bodgddo. ool Lodswerg 1,4 —
2,4 9. LodO Y, HOMIYDBYE YOS IMOEB3IWO MBS 0gmb boli@Eo.

The correct answer is: 3O03b3900L TogMYdS L5IZ9d05 3ol ToLOL 56 CromMbol Gotmgdby.

©50dob Lodsweng 0,8 — 1,7 3 . LOdGMEYY, CMIYGLDIOG YIS IOOEb3gE0 MBS ogmls
39bObO® 39MGH0350YM0, beagnm 3:mBLEHMMJ30s bozdom boli@o.



102) G Mbs sdsgMgl IMoEbgzguo? somBoy
9600:

a. 30363900l ToMYOS MBS bl LodMEGHYoL Hobs ABOOWL Lydo oo bMHsbbol
Lodwoegdom;

b. yg9ws 3sLvbo LM os.

c. 3003Eb39w0ol s M9gds «96s mbgl LOdMEHY)HY 39MEH03IOTMMS© S IFOMM® 0lY,HMA
36 06YgmL.

d. 3G03b39w0ol odsaM9gds «9bs mbgl olg, BmAd Jobo dmblLobs s sTsMYds glsdergdgero
094mb Lod®Eyob Hobs IbGOOIH;

The correct answer is: 4y39wo 35Bvbo LMoo,
103 ) O™ 99605 0L IBOL BHEOBLFRMOToBHMMYd0? s0Mb0g
9o »Oo:

a. ©9bob FoBLEBMMToEHMMGO0 16 H0YIL OLYMBI0MSE, MMA o000 Bmdobsery®o
5330035 d9qL5d5390MmYL bZSBIMEJOOL BMMbM3bYL.

b. 960l FobLEBMMToEHMEd0 b H0YSL FMTbTsMGdOl Immbmgzbgdols
3vm3seobfjobgdoom.

c. ©960L GSBLBMOT>GHMMYO0 MBS 0L OLYMBI0MH, BB F5m0 LodsL3MMEH M
9mb5399900L Godvs 0gmb fobs dbstgls, Moms dmbszqdgdol fogzombas dglisdargdgaro ogmls
300330l HM9gOoL godm®m3ol 4569dg.

d. ©960L GobLEBMMT>EHMMO0 MBS H0YPSL OGBSO, IO ST0L LT I>EGdSL
00935 bLEAMBES7M sEYOEO.

The correct answer is: 960l #5bLBMOTsEHMOHGO0 6 H0YSL OLYMBIOMS, MM Jsmno
Lo35U3MOE M IMb5399930L G9dMEs 0ymU Fobs FbsMgls, G50s IMbs399930L Hogombgzs
d9L5dE909E0 0gmb SOMOEL30L HMHgOL Fodmemm3zoL 4o69Ty.

104 ) 0ol dobg30m 2560L5BL3M9ds AM0Eb3gW b JobogMMYdgEo Logbols JobodswryMo
339070 5 65 30b0dserMo 33900L Logbo (L3owgbdo, sermdobo) Ggodargds Jogzs9MOM™
d6H03b39wob dsd30L5 s I6ME HHggddo? soMBog gHmo:

a. Logbol 3060dser GO 339000 FoblsBPIOME0s LEIBEIOGHIOOL Jobg30m s S0T39ds:
d5300L 699330 B30ggbdol — 1,0 392, s¢ydobols — 2,0 332, beerm gbx® HoHgpgddo
b3oggbdol — 2,0 392, semdobols — 3,0 392.



b. Loggbol d060TsEr @O 339000 FoblisBrzmME0s IM0Eb3 ol ImIF M ms O5TYEHEOOL
90b9300 s s0d390s: d53d0L [Hrggddo Ldowgbdol — 1,0 832, sewydobols — 2,0 332, bmom
9616 §M909090 bL3ogrgbdol — 2,0 892, semdobol — 4,0 392

c. Loggbol 30603ser @m0 339000 FoblsBL3zMME0s IGZOMMZ0L Job30m s S0TZ9ds:
35300 99330 B30egbdols — 1,0 892, s¢v)dobols — 2,0 892, beem gbm® (Mg gddo
L30egbdol — 2,0 832, serwdobol — 4,0 392.

d. Lo9bol 30b0TsE MmO 339070 FoblsBM3OME0s Igdsbo3 Mo LodEH3oEol 3oMmdom s
©5003995: 35300 §M909ddo b3owrgbdol — 1,5 392, senmdobols - 2,5 892, bmwm ©qbwmé {Mgwogddo
L3oggbdol - 2,5 392, senmdobols — 4,0 992.

The correct answer is: Lo 960l J0bodsc MO 339000 J9BLEBWZOI0s F9dsb03mEo LodE3oEol
306MB0M 5 H0J3905: 35300l §M9gddo bL3owrgbdol — 1,5 332, serydobols — 2,5 332, bergwm
9696 H6H9090do L3owgbdols - 2,5 392, sermdobols - 4,0 992.

105 ) 65 89900b393580 5 G5 300:0m0930L 45035¢0bfobgdom 35O gdm 0,4 33 IMHo(3blxEgdBY
Lodw9domgdl? s0mBoY 9Mmo:

a. 0,4 33 Jugendo MO Eb3gYdBY LHTMTomgdo MBS LML FBMEIME Y39es BsDsbY
35030l ImbLBoL 99y LO3MIMEIF0M 53565BHOL A5TMO™MZ0L 96 3(339¢gdol IMbLBOL yHom.

b. 0,4 33 Jugendo M0 EH3gYdBY LHTMTomgdo MBS FGLOMEIEIL BOEI0SEIOL SWMOEDZOLS
5 560608L{MMGOOL 2obymR0gdol J0IM 253990 ©835¢9dOL 56 3963 MgdOL
L3939 Y-

c. 0,4 33 Jugendo dM0Eb3gEgdBY LETMTomgdo Mbs GuMMEEgLl IMALIBLYHYMBOL
395G®0L 99bgx 90l J0gMH 35930l JoMqdol 3909,

d. 0,4 33 Jugerdo M0 EH3gWYdBY LHTMTomgdo Mbs GBIl FbMmEME
MR 905dMBOE0 3060l J0YM O35¢gO0L 56 2ob356MMEgdol go39dol 99 9y.

The correct answer is: 0,4 33 Jbgerdo IO0Eb3gEgdBY LEFMTomgdo Mbs 9Bl FbMmE M
94395 BoHoBHg dsd30L dmbLbol 99dgp LogMINEHOEOM 5356M0BHOL QodMO™MZ0L sb 8339w 9d0l
dmblibols gboo.

106 ) 65 35gbooH0 Bsbdoos sLd3900 0,4 33 Jugerdo IHO(Eb3xEGd0Ib Lo3MIMEs30M
9m{iymd0md59g? s0MR0g 9HMO:

a. 0,4 33 Jugerdo AMOEH3gGB06 1o3MBMEHOIGOM 535M5G0 96 F(339Wgd0 Mbs
900905Mm9M0©b9b 565 dg@gl 10 8 —obo.

b. 0,4 33 Jugerdo AMOEH39GB06 B53MTMEHOIGOM 535M5G0 96 F(339gd0 Mbs
900905Mm9M0©b9b 565 dg@gl 20 3 —obo.



C. 0,4 33 Jugerdo AMOEHZYIIOIB Lo3MTMESGOM 535M5G0 96 3339w gd0 Mbs
0009056Mm9Mdb9b 505 9@l 15 d —obo.

d. 0,4 33 Jugerdo AM0EHZYGI06 Lo3MBYEHIGOM 535M5G0 96 (339 gd0 Mbs
0009056Mm9M0b96 505 9Bl 5  —oUbs.

The correct answer is: 0,4 33 Jbgerdo IOOEHL3YIGIOG Lo3MIMEHIGOM 535M5G0 96 I(339Wgdo
b5 3d5M9gMdPB96 565 MIgE gL 10 3 —obs.

107 ) 65b bs 3035J30M yMomgds 3003Eb3gegdol oydol @OmML? soMBog

9600:

a. 3033900l HTOL POML MBS B035d30MM YIMOELYOS LOdMHYIL, HMIYBYLE WPIOS
36M03b39wo ol Mbs 0gmls (35 Lobs 39O G035 MEO.

b. 3003b39wgd0 YT 993990JOMGBS 2569A90 30DMOMH OIMZOW0gMHYdL. ImIEgdS
9ol 356M0L056Mds BH030LS s (9603 9MO FobslinsmMgdgdols Jobg3000 WS LEbLEIBPIGEHOL
94930 5OLYIMDS bEIbBIdDY, HMIgdoms BsMmgds AM0Eb3gWOlL 3MEM3MLO.

€. 439s B9gdmo Bsdmmzeromb.

d.36033b39w0ol ©sToL EOML Mbs 8035d30MM YIMmoE®Ids 30bLEGHMYII309dU,
I gdHBY©sE ©PJOS IM0(3H390 0l MBS 0gml Bs3dom boliGo 96w 56 Mbs ogmls
90069300 30365300, EIRMOT>300L s Fobs33wgdgd0L d0dsMm.

The correct answer is: 4395 B9dmm Bsdmmzwowl.
108 ) o960l Lobmdo gemgME0s? s0MBog
960!

a. 30 @o.

b. 35¢o0.

c. mdo.

d. 53396o0.

The correct answer is: 533960. 109

) 35030L LoBMmdo gHMgME0s?

50MB0g 9O ™O:

a. 3meGo.

b. 399960.



C. 35¢0.

d. 53396o0.

The correct answer is: 30 @o.

110) 99430 Loddesgzmol LyBMAo JMMYME0s? s0MB0Y
9o»Oo:

a. XM)0O0.

b. 35¢0.

C. 3w Go.

d. 30M35¢LosMO.

The correct answer is: 35¢)0.

111) 99436 ™gbgeaool LyBMIo GMMYMY0s? s0MB0Y
9O»Oo:

a. 59396ML5500.

b. 30M35EBLsMO.

C. BOMSQO.

d. 30@0M353)0.

The correct answer is: 30M35GBssM0. 112

) fobommdol Lsbmdo ghmgmeos? sombBog

9o»Oo:

a. 39BH®o.

b. 53396M0.

c. 3»yewmbo.

d. mdo.

The correct answer is: mdo.

113 ) m30b 356mbols msbsbdo gbol doews I = s06Bog
9o »Oo:

a.r/U.



b.Uxr.

c.U/r.

d. u?/r.

The correct answeris: U / r.

114 ) ®obmgol s®ob LsFotMm dMo3Ebgzgebg JogMmgdmw Lsgbgd by H9HBIMZ0L OEH™M39ds?
506MB0g 9OH»O:

a. 3Mo3b39wgdol ImdF9MHgd by d0gH YO0 b bgdol MYHBIM30 335deg3L Lodwoegdsl
15096900l sB0BYdOL Fgdmbzg35d0 IMZIBOBbM® SCMOEb3OL [HMgoL LMLgO S®EYIbs.

b. 3M03Ebggwgdol Imd FgMgdbg dogHmgdmEo Logbgdol M9HBYIM30L oEMZgds
390035¢0b{0690w0s bE9bEIMEHJOOL ImmbMmzbsms Jobgwz00.

c. IMoEb39wgdol ImdF9MHgdHg 09MHYd0 by bgdoL MYHBIM30L oEM39ds
290035¢0b{0b670w05 9egdEMHMEIbsYMGOOL IMFYmdoL Fglgdol Immbmzbsms Fglsdsdols.

d. 3o3Eb39wgdol dmdFgMHgd by ogHm9gdeo bogbgdol MgHgMm3z0 335deg3L Lodwogdsl
dm35b0bmm 25HMIZz980 9egdEHOMIBMI0 Fo®ffmbgdom s 930G F9W SISO
L5gb9gd0 08 99dmb393590 M 30 Lidgds SMILHMM LS 53MJdOO.

The correct answer is: 3®0o3b3909d0L ImdF9H9dbg J0gH MO0 Lo bgdol MYHBIM30 435deg3L
1595905l FM35HEObM™ Q5BMIZ900 gergdBHGOMIBMIo JoMfbgdom S MegolwREsE©
2390053950000 15Ybgd0 03 JgdmNb3935d0 M+ 30 Ldgds SMLHMMHS 530MJdOO.

115 ) Lodgsbs 9900 LodgEHOEPO IEHZ0MM30L MML 6oL 39JEMEMYdL Mo dgzMol
3Mobg d9op9bl: s0MBog gOmo:

a. 90°

b. 180°

c. 120°

d. 60°

The correct answer is: 120°

116 ) LsIBsDBs HM99dd0 brEIseMEO Mg10dol CMML dsd30L 39JBMMYIL FmMo dgzMol 3mmby
9950099bL: s0MBog ghmo:

a. 120°
b. 60°

c. 90°



d. 180°

The correct answer is: 120°

117 ) 35039000 3060053060 00©J3MIMds5: 50MB0Y

900:

a. ABC.

b. BCA.

€. 43905 BgImo BsIMMZE0WO.

d. CAB.

The correct answer is: 439 H99mo BsTMM3E0E0O.

118 ) ds03900L 9930080 93MMds: s0MB0Y

9600:

a. ABC.

b. 9439 Bgdmo Bsdmmgzerogo.

c. BCA.

d. CBA.

The correct answer is: CBA.

119 ) s00b3z0L §6909030 3mEod39MxsBMAGEOO0 ("3583"-0) 250m0ygbgds: s06MmBog
9B00:

a. d5030L5 s IBOL 39dBHMOMEX0 EOsYMSTIIOL OIBEWGIS.
b. 4395 Bgdmo Bsdmm3wowo 36J30900L dgbolidr)ergdes.
c. 960l LoEOOL PolvBMIs.

d. 35030l LoEOOL oLsHBMIs.

The correct answer is: 4395 B99mm Bs3MMN30Wo B49630900L TglolitrEgdws.
120) 0,4 33 Ju9ETo dsd30L SMLYGOdMBSL 35dm{Agd™: s0MROY
9o»Oo:

a. bLY3MBEMMEM bsNYOHO.

b. 8929600.



c. 95030l d5B3969090 bgwbisfymmo.

d. 4395 990 BdMM3E00 B53wY5ed00.

The correct answer is: dsd300L 9563969090 bgarbisfymoo. 121)

Moo B0 LoddEs3MOL 39933030960 (cosd) $=0° EO™Ls?

50MB0g 9MHMOo:

a.0,5

b.0

c.1

d. 1,8

The correct answer is: 1

122) ®obo GMe0s LodIEegzMoL 3953030960 (cosd) P=90°MOM™L? 0By
9o»Oo:

a.0,5

b.0

cl1

d.1/3

The correct answer is: 0

123 ) 30639 G®ogdo 36oEbggeol 9mdFgemHgd g Mmdgmo bésbbo Mbos BomFommo Logbols

3096H 0930l EOHML? s0MBog 9OHMO:

a. dM0o3Ebz9wol 3mdFgMgdbg Logbgdol JogMmgdOL ML HSHBEOL QosFgMOl
H0Q000MBL 565 9936 3603369 MdS. 9MHPO MHMIgErodg bErsbbol oo F Mol 9999y Logbols
Abmdmdo dmgdoBzo00m 30(dMbgd0m dslido, G ol oo FIMHOW0s s 890yMd 399F)Hm Jgme9
bOSHOL.

b. d603b39wol 3mdF)M9gdbg Logbgdol FogxMmYdOL MM 30M39es© §F0MYdS BYLS
bEobbo. Logbols A9dwydo dmdsBgzom 30FdMbgdom dsldo, MHMA Ol 25sFIMOEI0S S

990003 3993960 J39ws bErsbbU.
c. d603Eb3z9wol 8mdF)M9gdbg Logbgdol JogxMmgdOL ML BESHBEOL oo FgMol

6030000050 565 5938 36033690 Mds. 8935605 49300035¢0b0BM® Logbol 3MbESJEGOL
L50dgE MM,



d. d60(3b39wob dmdFgHgdbg Logbgdol BogMHmMYdOL O™ 30Mm3gWs© 9F0MYdS J39Ws
beobbo. Logbols Aydwydsc dmdobgzom 30fdbrgdom dsldo, HMA Ol A5FIMOE0S
099003 3993960 Bgs bEbBU.

The correct answer is: 3®03b39w0l 33 FgMHgdbY Logbgdol F0IMMJOOL ML 30639e>©
9306905 Dgs bGsbbo. Lygbol Abdyds ImdsBgzom 3G(dMbrgdoo dslsdo, MM ols

239005390005 5 398aMa 39F9H ™ J390s bMHObBL.

124 ) Hmam® b 2509 F0MMm bEsbbdo IMoEbggwrol ImdFgMhgd by dologMmgdgwro
L5qg6gd0L 306 odBHIOOL Ly0TIMMBOL FoBMHPOL M HBEMIMBlgEyMmzol JoBbom? s0MboY
9o »Oo:

a. d603b39wol dmdFgM9gdbg Logbgdol FogMm YOOl MM 3MmbE o900l bLyodgmMdOL
239HMOL J0Bbom 530090905 IM0EbZYEOlL FMIF OIS bEIbBYBdOL 2ooFgMs FodloToryMo
doEoo.

b. d60o3Ebzgwol dmdFgMgdbg Logbgdol JogMmgdOL MM 3mbEsdEH9d0L bLyodgmMdOL
20HMoL JoBbom 3063900 9F0M9ds DY bEbbo. Logbol Awydwydsw dmdshgom
36{39b9gd00m doldo, HMI 0l 4505FIMO0W0s s F90yMT 3FJOM J39s bOHOHEBL.

c. d603b39wgd0L IMbES70L MM JobsgMmYdE0 Bogbgdol 3mbEsdEgdol

15039 MMBOL J0BBbOMm 530090905 FobsLFo FMz5bEObMo oo IMZo3s oS — Byz00L
9965006000 Lsdwswgdom, fobsswdwgy 99dmbggzsdo byodgm 3mbEedGol MBEOb3gwymes
dbgero 0gbgdo.

d. d603Eb39wgdol IMbE 70l MM JobsgMmYdEo Bogbgdol 3mbEsdEgdol
L50dgEMMdOL JoDBbom 530 9d9E0s IMOEb3gEOl IMBFIOH s bESHEYIBOL MG 9Es350

239000 F9M. X9 d0dQ0L 256909 MBS 255 F0MHM® F5JB0To M ILYIZ900 dsEOm, brgom
990003 2505FJMH0L 35LE GO0 Jo0b (FogMod 565 NE0sbs®), HOL 9993
39bMmM3099gdm FGMEY 5 BIBMEMM oS FJMHSL bMIobscmMo dswrom.

The correct answer is: 30036390900l IMbES570L ML BoLOYMHMYIOIEO LoYbgdOL 3MbE oGOl
L5039 MMdOL J0BBom 53090905 IMOEb3gEPOl IMIFJOH s bEOSHEYIOOL MG 9E S350
390053965, X6 30dgol 2560939 b 35005 F0MM FodloTo M L3900 doEr0m, beagnm
399003 2505F9M0EL 355 GO0 Joe0sb (FogMsd 565 0sbs), Mol 898y
39bMmM309egdm FGMEG 5 LOdMEIMM 5O FJMHSL brmdobserMo dsgrom.

125 ) Hmam® mbs 3m30d390 OHmEgLsi I0Ebggeol dmb@ogo bHvyangds L3owgbdols
36535¢0doM 35 BoYboM? s0MBOY gOHO:

a. 960(3b3900b M350 (861535 I>MM35) L3owrgbdol Lsgbom dogMmYdOLSL
39930909005 §obslifjot dmzsbobmm Jolio m3oenzs Joes — Bg300L dgbobmdols

L5dMOEgdom, Hobssmday 99dmbz935d0 Ls0dgE™ 3MmbESJGOL MBEOMBlgymas dbgwo 0dbgds.



b. 360(3b3900b M350 (861535 d>MM35) L3owrgbdol Logbom dogMmgdOLSL
930009090005 F0bsLFo6 IMzb0bmom dolo 4odMEHYEgds Labgobzarm BsdmBols Ladmsegdom,

§0obosedgy 990mbgzg35d0 boodgom 3mbEod@ol MBOMbggeymas dbgwro 0dbgds.

c. 960(3b3900b M350 (861535 d>MM35) bL3owrgbdol Logbom dogMmYdOLSL
39930909005 §obsliffot dmgsbobmam Jolo m® bsfowow Aogmas s bHsbbbg dmeMaqds
(Loggary®ols AgogLo) 9HMTsbgmTo gowobgzg30oL Lodwsgdom, fobsswdgy d90mbgggzsdo

Ls0dgM 3MbGSJEHOL BEOMB3gEyma3s dbgero 0gbgds.

d. 9603b39w0oL 93500 (861350 T>MmM35) B30E96IoL Logbom JogMmgdolsl
(30009090005 §0bsLfo6 Im3z5b0bmo dolo 83F0MHM® IRMIH3s Ads3M0 dGEHYJEEWBIL

L5dOEgdom, Hobssmday 99dmbz935d0 bsodgE™ 3MmbESJEOL MBEOMBlgymas dbgwo 0dbgds.

The correct answer is: 3M0o3b3900b 635000 (I35 dsMM35) L3oEghdob Logboo
90960930b5L 5930w gdg0s Hobolifo® ImgsbEObmm Jobo dm3oezs 35 — BHY300l
9965006000 Lsdrowgdom, fobsswdgy 999mbggzsdo byodgm 3mbEedEol MBEOWb3gwymes
dbgero 0gbgdo.

126 ) Hmam® bs dm309390 Jobogmmgdgeo Logbgdol 3mb@EsddEol Lsodgmmdol yoBGMEOL
30Bbom, OHM35 30603060 BsOIM30L IM0(3b39w0L Bmdobser®mo gbo 20 5 IgE0s? soMBog
9O»Oo:

a. 099 3060530600 BsOHM30L IM0Eb3gwol bmdobswrm@mo gbo s®ob 20 5 s 9@ 0s, 35d0b
doLogMH 9090 1EYHgdOL dMEMIdO 3MbESJEHOL LsodgMmMdOL YHBOHMb3gEymaol JoBbom

b 50339MH3Mm0 dMb03gd0m.

b. 099 3060530600 BsOM30L IM0Eb3gwol bmdobswrm@mo gbo s®ob 20 5 s IgE0s, 350b
doLogH 9090 1 HgdOL dMEMYdO 3MbEIJEHOL Loy MmMdOL YHBOHMb3gEymBol JoBbom

b5 0x8IOML 39dbo3zmeo 35Bgmoboo.

c. 099 306053000 BsOM30L IM0Eb3gwol bmdobswrm@mo gbo s®ob 20 5 s 9@ 0s, 50b
doLogMH 9090 15EYHgdOL 3MbESdEHOL LoodgEOMMdOL M HBEMMBIgEymzol dobbom
3MEOWYOYE0s I F)M90DY LoYbgdOL J0IMMYdOL MM F30MHZIIOE J9WSYFOMM DY
beMobbo. Logbol bv)dwgdso dmdshgom 3MdMbgdom dsldo, HMI ol oOFIMOE0s S
d9000ma 39939H0 3905 bOHSHOU.

d. 099 3060530600 BsHM30L IM03b39wol bmdobswm@mo gbo s®ob 20 5 s dg@0s, 85306
doLogMH Y090 LYHgdOL 3bEodGHOL LoodgEMMdOL VMBI gEYmzol dobboc
(3009090005 M3 FIOS bEBBIBOL MG 93035 4oOFIOo.

The correct answer is: 0¢) 306530600 BsHM30L IM0Eb39e0l 6mdobscmMo gbo s®ol 20 5 s
39309, 85906 doLogMH M990 LEYHgdOL dMEMYdO 3MbESJEHOL LyodgMmMdol
MBOHMb39wymRol JoBbom Mbos s©03FMM3Mmm 396039000.



127 ) Hmam® b 296358b353Mmm 3060053060 Bs®mzol dMoEbzgurol boyenmgsbo bawgbo?
50MB0g 9O MO:

a. 000L5m30U, MM gobgzslbgzsmm dM0Eb3gmsdg byermgzsbo Logbo BsBMMO
15096900l MBS WIZ0MM™ WYBYBOL 39dBHMOMEO OO Ts.

b. 9603b39w g BMeEm3560 Bogbol 0bBMEsE0sL 96 oML 100 83 Loa®dg by b
3Jmbogls 356Lbg039d0 J9R9MOEIMdS.

c. 090L5m30U, MM gobgzslbgzsmm dM0Eb3gwsdy byermgzsbo Logbo BsBMMO
15096900l MBS YOWIZ0MM® d5B3900L 39JEHMOVICO OOYESTS.

d. 000L5m30U, MM gobgzslbgzsmm dM0Ebgzgwsdg byermgzsbo Logbo BsBMGO
15096900l 69M3z56 Lorbdo 5353w Ybo Wb A93BMIM™ YbMO JoMfmbols
LodOEgdOm.

The correct answer is: 3®03b39w 99 6™ 3560 Logbol OBME o3OSl 56 oML 100 30
Log®dgbg Mbs 3Jmbogl 2oblbzs39dmwo Fgz3gMHoEMdS.

128 ) G5 dmobmgbgdl «bs 53059Mmz0gdgl IM03b39eol {meMYMeEsF0sbo domgwgwo
399960%30? s0MHB0Y ghHmo:

a. 903w 9o 394560HTob gl 56 bs 3Jmbgl Mmzswom dglsdBbgzo 635G gd0.
39996030 (305360930 56 16 4590MEHYE BsBXOOL LoBEOZMYOL QoMgm Ms30L0 LoToweols
60% —B9 3939 25605 dM™ FoMX3965 (MI3OMLO) JORMEsFOlS.

b. 903w go 394560HBdob ogsl 56 bs 3dmbgl mzswom dqLsdhbgzo 635§ gd0 o
§o0H969d0. 39d560DToL 3053MO0 56 MBS 2oOMPBID RobxMHOL LosHL3MYIL QMg Msz30L0
Lodool 50% —bg 9EHo© oM dMMm JoMx39bs («93MMLO) FmOyMmEsFobos.

c. 90390 394560Bdob ©sg3sl o6 bs 3Jmbgl Mzswom gLsdhbgzo Fodfgmgdo.
39956030 (305360930 56 b A5090MEHYE FsBXOOL LoBEZMYOL QoMgm Msgz0Lo Lodsweols
50% =9 9939 25605 dMm FoMx 3965 (1I3OMLO) deOAMEsFols.

d. 30390 394560HBdob ogsl 56 bs 3dmbogl mzseom dqLsdhbgzo
23905b65.994560BTol 30RMIO0 56 MBS 49090MEBIE BsbXOOL LoBPZMYOL YoMgm Mogolo
Lol 20% —bg 9EHO© oM dMEM 50X 3965 («933MMLO) mOyMmEsFobs.

The correct answer is: 30390 394560BTob IGFSL 96 Mbs 3Jmbgl MZserom Gqledhbggzo
239000b6M5.999560DTob 30536900 56 ©6S oIEOMPBIL FsBXMOL LoBEOIMIIL Qo690 M30L0
Lodsol 20% b9 I9EO© oM dMerm Js0x39b6s («3M™Lo) ymeOYMEsFobs.

129 ) 3900855 gargdGHemboeo IHoEbggwrol 39dsbolzm@mo dmgwgwro dgdsbobdo 430h3969dLs:

50Mb0g 9Mmo:



a. ImdbdoGmgd ol JogH dmbdsMgdwyero dsdgzol LooEIUL.

b. 83b3om9deols J0ge dmbdoM9gdyeno LoddeszMol LooL.

¢. 3mdbdsGmgdols JogH dmbdsMgdwo gbgeyool Loowl.

d. 3mdbdocmgdeols dogH dmbdo®gdyeo gbol LooqU.

The correct answer is: 3mdbdoM9d¢0l Jog dmbdsMgdveno gbghaool Loogl.

130 ) b0l BHOBLRMOTsEGHMMOL BHMIBLBMOTs300L 3mgn030gbEO KT = s06Mboy

960!

a. 2/, b5 - lh o 12 5MHOL YBOL BHGIBLRMMT>EHMOOL 30603900 S FJMMSO ©gbgdO.

b. w2 / w1, Lo - W1 S W2 5MHOL YHOL FBHGIBLRMOTEHMMOL 30639e5O S FJMMISO
305260 gd0lL bgosms, Goabzo.

C. W1 X Wz, BOQS - W1 S W2 5MOL YHOL BHGMIBLBMOT>GHMOHOL 30639SPO S IJMMHO
3M53b60egdolL bgosms, Goisbgo.

d. wr / w2, LS - W1 QS W2 5MOL YHOL BHGIBLRMOT>EHMMOL 306390 S FJMMISO
305360 gd0lL bgosms, Gosbgo.

The correct answer is: W2 / w1, LY - W1 O W2 SOOL EYHOL BHOBLRMOASEHMMOL 30HZJESPO S
39MM50 Mogboegdol bgosms, Gosbgo.

131) dsd30L BHMBLRMMISEHMMOL GHMIBLBMOIs300lL 3mgxn0309bGo KT= soMbog
900:
a. U2/Uq L5053 - Ut 00 Uz 960b dod30L GMoBLgzm®ds@m®mol 306H39¢050 s 390m6Ms0 3od3990.

b. w2/w1, LOWSG - W1 S W2 SOOL A5dZ0L BHOBLFMOT>EMOOL 30MHZYPSO S TJNMOIPOO
3M53b0gd0olL bgosms, Gosbgo.

C. Wi/wz, BOEIE - W1 S W2 SOHOL Fod30L BHOBLBMOToBHMMOL 30M39WSWO s FGMOSO
3M53b0gd0oL bgosms, Gosbgo.

d. w1 X w2, BOES - W1 S W2 5MHOL o330l BHEMIBLBMMTSGHMMOL 30MHZJWOSPO S IJMMHO
3M53b0gd0olL bgosms, Gogbgo.

The correct answer is: w1/wW2 , LSS - W1 S W2 SOOL FdZ0L BMIBLRMOTSEHMMOL 30M39¢SO
39650 gMogbowgdol bgosms, Gogbgo.

132 ) @6sblggm®mdo@ Mol doaero dsd30L gMsgabol Mfmqdgb: soMBog

9o »o:



a. 00 260w, HMIob bgosms HoEbgzos dg@os.

b. 03 365360, G903 30900909905 JugEol MROM Foroe dod35HY.

c. 00 3M5360l, OG0 F0gMMGOIE0s Jugerol RO OB d5d35DY.

d. 09 36M0ab0wl, HMIol bgosms GoEbgzoi 653w gdos.

The correct answer is: 03 305360, GMIgerog J0gHMNJOME0s JugErol MGBOHM Toon dsd35HY.
133 ) HMoblgm®IsEGHMMOL dso dsd30L yMogbowl Mfmgdgb: so®Bog

9600:

a. 00 2660wWl, HMIgEoE F0gHMYOME0S JuYEPOL MBOHM Tooe dod35DyY.

b. 00 05360, HMAEOL bgosms Gogbgzos dg@os.

c. 00 3B, HMIgeog J0gMHmMJOME0s JugErol MBOHM IBSE d5d35DY.

d. 09 36G0b0wl, HMmIol bgosms GoEbzoi bagzwrgdos.

The correct answer is: 09 205360U, HMIgeroiE J0gHMYGOME0s JuYEOL MBOHM OB d5d35DY.
134) 3505¢0 dsd30L Fbotgls IH0(3b39w0l LosbRsM0TM 3Mm9n30309bEL 8goaqbl: soMBog
9O»Oo:

a. 539000 Jomsbo.

b. ©960L BHGMBLBMOT>EMMOL BHMIBLGEMOTs300lL 3MgBOE0YbGEO.

€. 35030l BHEMBLFMOoEHMMOL GHMIBLGMOT300L 3:95303096¢0.

d. d5d30L5 @5 IBOL BHEOBLFEMOTsBHMMGIOL BHEIBLBMOT>300L 395303096EJdOL BodGsgaro.

The correct answer is: dsd30L5 5 ©YHOL BHEOBLRMMT>EHMOGOOL FHOIBLGMOTs300L
3098030953900l bsdesgaro.

135 ) Hmam® 5 M5 9om©gooL godmygbadoo dmfjdgds dMoEbzguols 3dsmdol LobMLEHol
(30030905 HTOL SHDY? 50MBOY gOHO:

a. d6Hobzgerol 31dsmdols LobMLEOL 3Mmdogdol dgdmdgds bgds dsd30Ls s IbmMo
0690900 39dGHMOIO OYOSTIOOL FOWOIVJIO.

b. d6obzgerol 999mfdgds 50w By Ym3z9wm30l begds Idmdo GHMIBLBMMTsEHMOYdOL
Lodvoegd0m. d9dmfdgds 90dergds gobzsbmM309wMm© ©sdGH30MHMs30 dMymdOwMdOL
L5 9dOm.



c. d60o3Eb39wol 3wdsmdols LobLiE ol 3MI0EgdoL F9dm(jdgds 50 BY ymz9wwm30L
bgds 3BMIo GHOMIBLBMOTGMOGOOL 2o09dg. F9dmfdgds Ggodwrgds gobzosbmM30gwm©
395339BHM0Ls @ HoaLsbMAol IgoMmEom 56 Loboddm IM0Eb3gE ™Mb FgsMgdol dgmm©oo.

d. 3603b39wob 3935mdol LoBMLEOL Mo gdol Tgdmfdgds Imoisgl 8909y 9Bo39dL:
35030 §6M99d0b, 9gbmMo F6M9wgdol s 35000 F9ds9H M0G0 b bgdoL 9dm{FAgdL.

The correct answer is: 3®0o3b39ol ddomdol LoBMLEOL 3EMI0EdOL F9dm{Hdgds SO0 DY
94m39m30L begds Dm0 GHOIBLGMMToEHMOO0L o6989. 9dmjdgds 9godergds
39635bmM309m© 3533gEGHM0LS s HodlsbmTol Bgmmom 56 Bboddm IMoEblzgEmsb
39056900l IgOMOOm.

136 ) 3mobg9eol 3Momdol LobBMLEBHOL 30MI0EgdOL FdmagdoLsl Mo SOLYdOMO

30053 9LMdS 543L Bob0dMTm IMHO(Eb3gEOL A58MYgbgdsl Lbgs 90MmEYd™Mb Ggscgdom?
50MB0g 9O MOo:

a. d603b39wol 3dsmdols bLoHliEob M0 gdol 99dm{Hdgdolol Lobodwdm dMosbzgaols
2990ggb900L MM OGHZOMMZ0L (339905 MBS 56 S0LabYds gdm{AgdOL d9YA90DY.

b. d603b39wol 39dsmdols LoHLiEob M0 gdoL Ggdm{dgdolol bobodwdm dMoEbzgwols
3990996905 Ma3O@ IbobgObgdgm0s, M5B 5956 EH0390L T9am{idgdol 3MM390OSL.

c. d603b39wobL 39dsmdols LobLiEob 3EM0EgdoL G9dm{dgdolols bobodwdm dMosbzgwol
2990996900 M3065@gbMds 3EYMBMYMBL MBOHM B0 LODYLEOL JEslido.

d. d603b39wol 39dsmdols bLobLiEob M0 gdoL G9dm{Hdgdolols bobodwdm dGosbzgwol
2990yg9bg00Lsls 999m{ja9gds 990degds Aobsbm®mEogeml gMmds 30M3s MBEgdsTImboo

9993 GH99603960 396HLMbIE0Eb.

The correct answer is: 3®0o3b39wolb ddomdols LobMLEOb M0 gdOL G9dm{dgdobols Lobodwydm
d603H39wOob 253myggbgdol EOHML oGHI0MMZ0L (335¢9dEMBS 56 S0LsbYds gdm{dgdols
89930000-

137 ) 65 560l 36hobzgwol ben®dsgrm@o th @OHm? s0MBoy
9600:

a. d603Eb39wob bMMTSEOHO MM 5oL 00 (fod9d0l MomEYbmMds, MMIOol gobdsgarmdsdo
YO dm3m8s39 3M03b39e0L Bsbsmnmdgw 0bols@m®bg dm39999wo IEH30MHMZ0L O™
65 godmogmb n 0839bo (56 EoL3MAI 2553900mL N dOIX63Y).

b. d6H03b39wol brn®mdoswrmo O™ 6oL 08 {59900l Mom@gbmds, HMmIol smzwsa bgds
§50L5BMIol LodMogdom s LMo dMIMTozg IHOEHZgEPOL Fsbs0MdYE 06O 3ZsGHMOBY
9399990 333060308 EOHML MBS 25dmoyml N 083w)lo (56 EOLZMA Q55390 N d6¥635).



c. d603Eb39wol bMMISEOHO MM 5oL 00 (9930l MoMmEYbMds, MMIOol gobdsgarmdsdo
LMo dmdmdsgg IM0Eb3gwol dsbscmdgw 06035@MOBg odlodoEwM0o EHZ0O™MZOL
O™ 6o 49dmoymlb n 033wbo (96 olgma gos3gomml n d6MB3H).

d. 3603b39woL bMMISE OO O 5MOL 00 fodgdol MomMmEgbmds, HMIOL SMZWs3 bgds
§50L5BMIoL Lodmsgdom s BHMMo dMdMTogg IOO0EH39EOL FsbscMdYE 06O 3ZoGHMODY
9540 IMHO OGZOMNZ0L OOML MBS oTMOYML N 03O (56 EOLZMA Fos3gmM™l N
06Mmwb3o).

The correct answer is: 3®0o3b39ol ben®Is@O M 5oL 08 §59900L MomYbmds, Gmdwols
396853 mdsdo3 LHMEs© ImdMdsgg 30339l BsbscMdYw 0b035EMOBY dm3gdero
©53300m30L EOML 16 F5dM0gml N 033ILO (56 OLIMT 553900l N BOVY63H).

138 ) ®mam® Mbs 3056356M0dmm I603Ebggwol beaddsen®o tb oMHm? soMboy
960!

a. (3600 x 1000 x n)/(P x A), bsgss P — 9ol 30o3bzgerol doduodseMo a@300Hm30L boddwrsg),
A 9603b3900L 3505(39d0L HoEbgos.

b. (3600 x 1000 x n)/(P x A), b553 P — 5®0OL oGHZ0M™MZ0L LoddEs3MY, A IM0Eb3g w0l 3vyEdogss.

c. (3600 x 1000 x n)/(P x A), bos@g P — 560l o¢3060m30L Loddesgzmg, A IMHOEb3gEoL 453930l
MoEbz0o.

d. (3600 x 1000 x n)/(P x A), bos P — 50l 3603bggeol 6mdobswrMo s@z0O®mgzol Loddwsgty,
A 9603b3900l 330359,

The correct answer is: (3600 x 1000 x n)/(P x A), bos3 P = 500l oG300Hm30L Loddwsgky, A
d603bH39wOob goo3gdol Moiblos.

139 ) 3mob39eol Joge FsaLsBmAol dw)segdo JoBMI0wo 5J@0m™o Loddwsgg
05bg960d9ds: PIO= 5060B07g germo:

a. (3600 x 1000 x n) / (A x t), bssE N = 5G0L OLIML dBO¥YH6350s (03349 lgdOL) MOMPIOMDS
53300 t ((3) OO 496353 mdsdo, A IM03H3900L 4553990l MHobg0s.

b. (3600 / 1000 x n) / (A x t), L5QESE N — 5MOL OLZML dHBIsMs (033ELYdOL) BomEYbmds
50300 t ((3) ©OHMOL 3963530 mdsdo, A IMo3b39w0l dmdogss.

c. (3600 x 1000 x n) / (A / t), L5ESE N — 5MOL OLZML dHBIsMs (033ELGIOL) BromEYbmds
sm3oo t ((3) OH™MolL gsbdsgemdsdo, A 3hoibggarols 3dogss.

d. (3600 x 1000 / n) / (A x t), L5QESE N — 5MOL OLZML dHBIsMs (033ELYGIOL) BromEYbmds
sm3oo t ((3) OH™ol 3sbds3mdsdo, A 3Mobggarol 35390l Gogbgos.



The correct answer is: (3600 x 1000 x n) / (A x t), bso@3 N = 5MOL EOLZML dGWBZsMS (08349ELGdOL)
650096005 533000 t ((3) M™Ob gobdsgzermdsdo, A IMoiEb3gwol 4owo3d0L MHoibgos.

140 ) 360(3b39e 900l d99mdgdol EOML Mo J0b0ToE MO 59(30¢9dJ0 306OHMBYOOL
9900b3935d0 d90dgds godm30949bmo 353TgEHMols s Fo9LsBmAol Igommo s0Mboy

9O »Oo:

a. 00 9900bg935d0 HMEILSE IGHZ0OMZS 033¢dS I306MYE (£5%) S 5GIOL bmBobsgrm@ol + 10%
—%bg bogargdo
b. 5639600 Bgdmm Bsdmmzwowr dgdmbgzgzsdo

¢. 00 99000b393590 HMEILSE IGHZ0OMZS 033wYds 3B0T3bgM ( + 5%) S 56 SGOL
Bmdowsm®ol 10% —bBg bozengdo

d. 08 99000b3935d0 HMEIBSE IGHZOMMZS 56 033EYOS S SMOL brmdorsemEOl + 5% —bBg
Bozargdo

The correct answer is: 09 39000bg93590 OMOYLSE IGHZOOMZS 033190 Ib0dzbgerme ( + 5%) o

56 5oL brrdors Mol 10% —bg bogergdo 141 ) Mo s6Hob dIMoEbzgeol ddogs s0MBog 9gMmo:

a. LOOY, HMTYOG Z9FMbIEZL BodM3el MO EbZ ol JogH 49bgHoMgdEo
003990900l M5mEgbMdLS (OLZML dMMBIsmMs Mob3L) WS SOMOEbYIE 9bgMROsL Bl

b. LoOY, MM F9FMBIEHIZL BoMMBsL IMOEB3gE ol doge 3969M0MYOMWO
0032900900l MomEIbMdLS (OLZML dMMBIsMs MHOob3L) WS SPGMOEbYIE 9BgMYROsL Fmeols

c. LOOY, MM F9AMLOIbOgL BsdMsgl IMOEL3gEOL oYM SOMOEbE 9bgMPOSLS S
d60o3b39wob 3096 39690060 0339lgdol MHoMmEYbmdsl (oL3ML dGMB3smS MHoibaL)
dmOol

d. LOOY, OMIGEO3 oAMLEbIZL BoGMBIL IOOEHZYOL Foge sMOEbME 9bgegosls
d603b39wob 3096 3969006 do 0339lgdol MHoMmEYbmdsl (oL3ML dGMHB3smS MHoibaL)
dmeob

The correct answer is: L0E0Y, OMIGE0E 25TMLOBIZL FoMEMdSL IMOEb3 Ol JogH sSOMOEFbwYE
969605L5 s IMH0ob39wol Joge 2969000910 083wElgdOL MHoMEIBMBSL (obZmUL
0663505 MHobgl) Mol

142 ) G5 560l 3603b39wol 35s3990L Gogbzo
506MB0g 9O »O:

a. dM0o3Ebz9wol 3v9dogsl d9d6MbadmEo Loy, MM FodMbobogl bodtmoganls
d6H03b39wob 3096 SOMOEbYIE 9bgMosLs s IMOEb3 Ol JogH g9gbgMHoMgdvImo 0d3Elgdol
65 9bMdSL (OLZML dHBb3sms Mo3b3L) MOl



b. dM0o3Eb39wol 3vdogsl 39dMbgdEo LoOY, HMIGEOG A9FMbIEZL Bzl
d603b39e0lL d0gM 2969MG0MGOME0 033EligdoL MomEYbrMdsLs (olZmL dGMBlsMs MHoiEbll) s
s0M0EbM 9BgMA0L Mol

c. dM0o3Eb3z9wol 3dogsl 39dMbgdEo Lo, MMIGEOE A9FMLIHIZL FSMMBSL
96H03b39wob 3096 SOMOEbYIE 9bgMosLs s IMOEb3gEOl JogH g9gbgMHoMgdvIemo 033 lgdoL
650096M05L (oML dMMBIsms MoEbgl) dmeol

d. d6obzgerol 3dogzsL 90696900 LY, HMIJOE A5TMBIEOZL BOMOMOIL
d60o3b39wob 3096 3969006 do 0339 lgdol MHoMmEYbmdsLs (OoLZML dMWblsms GoEbllL) ws
30MOEbME 9bge0sls dmMols

The correct answer is: 3®0o3bggerol 330358 90696900 LoWOY, MMIJEOE A5TMbIEO3L
BOEMOL IM03b39w0ol J0ge 2969000900 083lgdOL MHoMmEIbMBSLS (OLZML dEIMBlsms
6H03b3L) s SOMOELME 9bgeOsl Mol

143 ) 50500 350300 9JengdEMHMEsbsYIMYOL J093036905 s0MB0Y

9o»Oo:

a. 90996 YMYd0, HMIgd0E 3)Fomd9b 1000 g downs

b. 909dBHOMb5YMG00, OMIWgd0E 3MTomdgb 1000 3 dES

¢. 99JAHOMPIBYMGd0, HMIqd03 32Fomd9b 220 3 B

d. 9e09dGHOH™Msb5090M9d0, MMAgdo3 3domdgb 6000 3 O3S

The correct answer is: 909J@GMMOBYMG00, G®MIWgd03 3w9dsmdgb 1000 3 SO
144 ) 36m0o3b39w0ol 33035 € 0sbgs®m0dgds: C= s0Mbog

9O»Oo:

a. (3600x1000)/A,Lssi A — 560l dM0Eb3 ol dosigdol Mogbgo

b. (3600x100 )/A, 553 A — 560l IH03b3gEr0l 35(3930L Mosbzo

c. (3600x100)xA,Los3 A — 560b dM0Eb3 Mol gosigdol Mogbgo

d. (3600/1000)/A,L5053 A — 560L IMH0EH3g0L 4593gdol MHoiEbgo

The correct answer is: (3600/1000)/A,5053 A = 560L I003b39w0L gos39dolL MoEbzo
145 ) 3505¢00 350300 gargdBHOHMmEobsysmgdl 093036900

50Mb0g 9Mmo:

a. 90996 AMYd0,HMIgd0@3 3dsmdgb 1000 3 dS



b. 9094 EHOMB5YMGO0,MHMmTgd03 d0wgdsmdgb 380 g dowrs

¢. 9099AHOMPIBYM930,HMmIgd03 3dsmdgb 1000 3 Joems

d. 9e099dEHOH™Msb650969d0,OHMmIgd03 3w9dsmdgb 6000 3 dows

The correct answer is: 9009J@OMbsYM00,60MBgd03 385d96 1000 3 docems 146 )
OHMyMOH0 bgebsfhymgdo Mbs 259m3094gbmo smo3Ebzol §Mggddo 3/dsmdol Ml

50MB0g 9MH»O:

a. L53w9d5mgdol Homdmgdobsls 259mygbgdwyero Mbos 0gmb bgdoldogmo 0bmEwomgdmwo
b9bsfymgdo s sdEeg30 bodrsergdgdo

b. L53w985mgdol HomBmgdobsls 2s9mygbgdero Mbos 0gmb doswswo baGolbol bgwmlisfymado
Q5 593530 LT Yd9d0

c. L53w9d5mgdolL HoMmmgdobsls 2sdmygbgdero Mbos 0gmb bgdolidog®mo bgabsfymgdo
0BMW0MH9do Loy IMH OO S POJYJEHE0 30 by msmTobydo

d. L53w9d5mgdol Homdmgdobsls 259mygbgdero Mbs 0gmb godmEEOWo s J9FsMMYE0
b9bsfymgdo s ©sdEsg30 bodrsergdgdo

The correct answer is: 1539995930 {oMBMGOOLOL 45dMYgbgdwEo MBS 0YML 2OTMEFPOWO
3995600 bgenboigmgdo s (3930 LOEgdgdO

147 ) G5G™a 56 990dengds 3+ds Iamds0gmdsdo dymao gbols GMsblgm®mds@m®mol dgmMso
690U goblibs s0MBog gBmo:

a. 39500 {H g0l 2oblbols FgmEso Ybol sds3sgb0GHdYE0 doerom dsdmf3gweds
05260@M0 65350001 25BMT FgmMo@ [HMgdo dgodegds 259mof30ml 0O 9.0.0 GMmIol
30329635 36033690053 990dgds dosmfiomlb dmadbobmmg 3gOLmbacrol LogmEbarobsmgol
15d0d BOZIML

b. 3mbds®mgdo gargd@BHmmgbgdaool s®moEbzol LobwliEol IML3g30L odm

c. 39Mm©500 g0l 2oblbol 99dmbggzsdo dglodergdgeros sH0sbgl b fiMgdo
Bo®0 50MH03b30LS S J9BMIZ30L ImHgmdowmdgdo

d. 39m©500 {90l 2oblbolsl 300390 960l s35d5b0EYdIO oo yodmf3zgmends
05260@1M0 6535001 25DMEsd Gg0degds odmofizoml gbol GHEMoblBMmMIs@mEMmol bgdg@o
239005bMH9d5 s Jolo IFYMOMOEID Fodmbizes, 5353OMWIWSE MM FM9To 500yBbYds
00 9.0.d H©™Iol 30376s 8603369 md53 dgodwgds dosmfioml dmdlsbweg 3gOlmbaogols
LoamEbeobsmgol bodod Bwzsel



The correct answer is: 99650 {90l goblibolisl 3063950 Yol sTsdsxboEgdgwo
oo 45dmf3999cds ogbo@Ewmo Bs3oob goBMmsad Ggodegds 3sdmofgoml gbols
AMBLGBMOT>EGHMOOL BYdgEHO 25obMH9ds s oL FHYMIMOEIL AoTMBZENs, 553OMES©
99650 90 500gHbgds OO 9.8.d Bl 30379M> 96033690 Md58 Fgodergds dosmfoml
9AbobOg 39MLMbsEol LogmEbaolsmzol Lydod BL3sMmL

148 ) 9¢9dGHOMLs53OHPbMgdoL 06033 MHMIgero Bs335C0R03530M XAMA30 v9bws 3Jmbogl
Lodwgdoml 3GoM3mgdgels IMob39wgd0l ImbLbY, oYToL s 9dm(Hagdol Lsdmdsmgdol
§963mg00LsL 1000 3—0¢09 5330l gargdEOMMmEsbssMgddo. s0Mbog gMmo:

a. IV xamao
b. Il xaM3x30
¢ VX330
d. lll xamax30

The correct answer is: 11l x39930

149 ) 9¢9JHOMLOIBOPHBMYOOL J060dT HMTY0 115335C0R03530M X3RO 96 3Jmbogl
Lodwgdomls FoMIMgdgl IM0b39wgd0L IMbLbY, IEYTOL s 9dm{HAgdOL LodmTsmgdol
§o63mgdobsl 1000 3—Hg o0 dsd30L gargd@MHMmEsbsysmgddo s0MBog ghmo:

a. lll xamayo
b. IV xam30
c. Il xamzo

d.Vxamao

The correct answer is: IV 30

150 ) b0l EH®bLgm®AsEHMmMgdol JgmMo0 ©gbgd0L bEobsME o bmdobscrmMo
36009369 mdgd0s 50MHB0Y gOHmO:

a. 3bmm 1 533960 s 10 533960

b. 4395 BgImom BsdmmzE0wwo

c. 3bmem 0 533960 s 5 5339600

d. 3bmem 1 593960 ©s 5 533960

The correct answer is: 3bmem 1 533960 © 5 533960

151 ) 3mdbdomgdeols oG300H ™30l LoddwszMol 3MgB0E0YbEHO s®OL: A= s00Bog

9600:



a.Q/P

b.Q/s

c. P/Q

d.P/S

The correct answer is: P/S

152) 360o3b39e0l LoBYLEOL Jaslio sGol s0MmBoY

9600:

a. 3obo BogdLOT> MO OLSZ900 BIMOMIOMO (30MTOEGOS A5TMLIBYIO 3OMEYBEJdT0

b. 2oB™3d30L 5dBMWO GO 3000 YdOL FGRBIMIYdS 2olsDMTo LOEOEOL MYseH
96008369 mdsLmsb godmbobmeo 36Mm396@&gddo

C. 3oBMIz0L 300MT0Gds, 2odMUBabwyeo golisBmdo LoEoOL JHMYMEgddo

d. 3obo Bogdlodo )M OLAZ900 SBLMWOEBWIMO (30MmTOEYDS J5FMLIBYIEO 30ME96EJdd0,
HMI9e03 SLbogL FoBMAZ0L 900l LosbErmgqls olisbmdo LoEoOL Mgse©
36033690 mdoLmsb

The correct answer is: dolo dodL0ToE MO LSTZ900 BIOPMIOMO (3EMI0EGS ZoFMLEBHYIWO
3639639030

153 ) Bo®m30L dobgz00 dM0Eb3gmgd0 0ymes 8900099 X3IBJOS.

a. LEALOYBO s MMbLOgbosbO BsON3z0lL IMOEb3gEgdo

b. 5dBH0MMH0 s MYodBHoMwo 969600l RsGm3z0l IM03E3gWgdO

c. 30653060, 06000 s bobgzMOMOdO BsGIMZ0L IMO(3B3)W9d0

d. ©9396boveo BsOmzol Ihobzgargdo

The correct answer is: 3060053060, 00000 5 65H93MEOMOdO BsOIMZ0L AMOEF3gWgdO
154 ) 65bg36M5006MH0d0 BsMm30L IM0b39wqd0 Jugerdo 0MmM3z9ds S0y
9600:

a. ©9bol BHEMbLRMMT>EHMOGOOL LodsEgdom

b. 359330l BHEMbLRMMT>EHMOHYOOL Lsd s gdom

€. 259Dmo (45330l s Ybol) BHMIBLGMMTSEHMOOOL Lsdwsergdom

d. 350%m3d0 (d5030L S EIBOL) BHOIBLFMOTsEHMMGdOL Qo69T9



The correct answer is: ©960L GHEobLBMOT>EMMGOOL Lod sEgdoM

155 ) 06000 Bs6n30L IMobzgergdo Jugendo 0mmz9ds s0Mboy

9o»Oo:

a. 9bol BHEMBLGBMOT>BHMOOOL Lsdsegdom

b. 498%BMdo (dsd30L s ©9boL) BHMBLBMMT>EHMMGOOL gocgdy

€. 35030l BHMBLFMOoEHMMGIOL Lodw)5egd0

d. 358Bm30 (d5030L S EIBOL) BHOSBLGEMOTsBHMMGIOL Bodwg5EgdO

The correct answer is: 450™30 (d5030L @S YHOL) BHOIBLBMEOIsEHMOYOOL LMo gdOm

156 ) 3060053060 5 Bbg3M50M0Bd0 BoMM30L IM0(3b39w9d0L bMBobserm@mo dsdzs vbs
399L505990MmgL S0MBOY gHO:

a.1003

b. d5030L FMIBLBMEOToEMOHOOL IgmE s bmdobscnrme dsd3sl c. 400 3
d. Jbgerols bmdobseryE dsd3sL

The correct answer is: Jugeols 63obsgrm® dsd3ol

157 ) 06000 s Bsbg3M9006MH0d0 BsGmn30L IMH0(3b39w9d0l bmdobscrmMo gbo mbos
399L505990mEIL S0MB0g 9PHMO:

a. B300m30L bdobswrm® gbl

b. yg39ws Bgdmm Bsdmmzwowls

€. 53H3060m30L Jodlodowr® bl

d. ©9bols BHEMBLGMOTSEHMOOOL g bmTobser® qbgdls

The correct answer is: ©960L G®MoblRMMI>EMMGOOL FgmMo BmIobscr®H gbgdls

158 ) 3m0(3b39 900l ds5d30L MoaB0EgdOL FogMHmMYds dsd30L BHEMBLRMMT>EHMMOL Igmes©
305360 gdmsb »bs Imbgl soMBog ghmo:

a. 3903353100 d99OHNYOOM
b. 80893M™md0m 99O N9d0m
c. bygzmombos 899M0gd00

d. 3565960 999MH N0



The correct answer is: 356509 MHO 9gH MO0

159 ) 3M0ob39egdol 9gb)Ho 4Mmsabowgdol 0gHmgds gbols BHMIBLBMOTsEHMEOOL dgmMo©
305360093 msb bs Imbgls soMbog gbmo:

a. LedzMmbs 999 NGOOM

b. 3000930:Md000 J99H NG00

€. 396590 999MH GO0

d. 3563305360 d99OHNHOOM

The correct answer is: 30900936™d0m0 999HPNJOO0N

160 ) 5300960 ©96w9MH0 dMIF M0 (259m3Y3560) 593L LETGIBS LEgagbE 06 IMoEbggEL
50Mb0g 9P mo:

a. mobo

b. ®35

c. bsdo

d. 9d3vo

The correct answer is: 9Jglo

161 ) 530960 dsd30L ImdFJMH0 (g8t3Y3560) 593L LodBsBs LodgegdgbEH0sb dM0Eb3 ML s0MBoY
9000:

a. mmbo

b. ©35

¢. 9Jgbo

d. bsdo

The correct answer is: m»bo

162 ) 59960 ©9b)H0 3B F)M0 (25803Y3560) 593l LEABIBS MOYgdgbEH0sb IMoEbzgels
506MB0g 9O »O:

a. 9Jabo

b. bsdo

c. O35



d. mobo

The correct answer is: mmbo

163 ) 5300960 dsd30L Im3FJM0 (298t3Y3560) 5d3L LodBsBs MMgEgdgbEH056 M0Eb3gEL soMbog
9O »Oo:

a. ™35

b. 9J3bo

c. mmbo

d. bsdo

The correct answer is: lodo

164 ) 9¢09JGHO™M9bgM00L 50lsM0EbO3© ©sd390W0s 35dM03Ygbmo BMB0 Ldoegdgdo

50MB0g 9P mOo:

a. ®3wgd03 LodoMMZ3gE MU LobgedFoxzm bEsbsMEH0M SMOL sd3HI0EJIOMEO S dgBsbowos
398BMd0 Lodwoegd9gdolL Lobgwdfogm MgqlE®do

b. 06009309960 56 30BROMEO gegdEHOMbMwo dMoEblgewgdo

c. 3Mo3H39 900, 35339BHY00, 35MTYGHMJO0 S 5339MTYBHMGO0 IM[TYdOo LoJoGN39-ErMl
Lobgedfoxm LEsbs®@Eol doge

d. ©9bols s 5030l BHMIBLBMMTsBHMMO0

The correct answer is: ©3¢ 9003 BogosMN3geML Lobgwdfogzm LEsbIMEH0M sGOL
©59(%30(390990 5 993960 0s 45dBMA0 Ldw)sEgd9gd0L Lobgwdfoxm Mgql@®do 165
) bLoABOYBO6 (MY gTg6E06) IMOEb3gEdo A BoBob dsd30L I3MA35 0f393L
50MB0g 9O MO:

a. A 350l 35030l 35635 0fi393L M0 Eb3gEol F9bgegdsl oL Mgdoo 50 — 85 %-ol
RMRA90d0.9003H39w0l (300G HTMI0IIN0S IBHZ0MMNZ0L Loddsz3MOl
3M9930309530L 3600369wmdsbBy

b. A 350l o030l 35635 0fj393L M0 Eb3gEol G969 gdsl ssbEMgdoo 10 — 30 % -0l
RO g0do. IM03b39w0l (30T TMI0YII0s IEZ0MMZ0L Lo 53Ol
3M993030953H0L 36003690 mdsby

c. A 350l o330l 35635 0fi393L IM0Eb3gEol T969gdsl oL Mgdoo 30 — 50 %-ol

Bo69030.9003H39w0L 300MI0EYds ITMIOWIOIL0S IGHZ0MHMZ0L LOIIsz3MOL
3093033095E0L 3603369 mdsbY



d. A 350l dod30l 3956M35 0fi393L IM0Eb3gEol 9969 gdsl osbEMgdoo 60 — 85 %-0l

396 030.9003H3900l 300MI0EYds ITMIOEIOME0S IGZOMMZ0L LOIIszMOL
30930330963 0L 3608369 mdsbY

The correct answer is: A 35Hol dsd30l 35635 0§393L IMoEbagEol d9bgegdsls ssbarmgdom
30 — 50 %-0b g3oMyEgddo. IMH03b390l (30MT0MWGds TMI0YII0s HEHZOOMZOL
Loddo3MOL 3093030960l I60d3z69MdsbY

166 ) LodLoYB0b (MM gTgbE0s6) IMO(b3xET0 "B"GoBOL dsd30L 35035 0fi393L SoMBog
9600:

a. "B" g5Bob dsd30l o3s6my3s 0()393L dM0Eb3geols 8969wgdsly ssbermgdom 50% -ol
BMHRWYdJo

b. "B" 350l dsd30L 05356235 56 0§393L IM0Ebggwol 969wgdsls

c. "B" 5ol dsd30l o3s6my35 0()393L dM03b3geols 8969wgdsl ssbermgdom 85% -ob
RO 9gddo

d. "B" g5Bob dsd30l 35635 0()393L dM0Eb3gemol 8969wgdsl ssbermgdom 30% -ob
RO 9gddo

The correct answer is: "B" 35%ob dsd30l 05356935 0(j393L dM03b3geol 9969095l ssbermgdom
50% -0b BoM9dd0

167 ) LsAbsYb0sb (MmM9e9396EH06) IM0Eb3gwdo "C" g3sBol dsd30L 3™z 0fj393L s0MBOY
9oH»Oo:

a. "C" gsBob dsd30L s356My35 0§)393L dM0EH3gOlL F9bgegdsl ssbemgdom 50 — 85%-0l

73969070.96M03b39wol (300MmB0ds FMIOIOI0S OGZ0MMZ0L LoAIES3MOL
3M9930309530L 360093690mdsbY



30Ol 5356935 03938 IMOEb3gEoL F9bgegdsly IS MgdOm Fotyrgddo
b."c" dsdgz0l 10-30 % -0l

. 30033b39w0l (3000 TMI0WYI0s IEHZ0MMZOL Lo >3Ol
3095303309563 0L 3609369 mdsbY
c. "C" 5ol dsd30L o3oty3s 0393L IM0Eb3gEol d9bgEgdsls ssbermgdom 30 — 50%-0l
RMR9030.96003b39woL 3M0EYds HFMI0EIOI0S EIBHZ0MM30L LOIIESZMOL
3M993030953GH0L 36003690mdsbg
d. "C" g5Bob dsd30l s356My35 0§393L dM0Eb3g 0L F9bgergdsl ssbwmgdom 60 — 85 % -ob
RO 90d0. IMH0(3b39w0L (300MmT0GdS OTMIOWIOIE0s IGZOOMZ0L LTS3l
3M993030953H0L 36003690mdsbg
The correct answer is: "C" 5ol ds030L 935635 0§)393L IO EH39w0l G9bgegdsL
©53bEMmgd0m 50 — 85%-0L FoMyengddo. 3M0Eb3gol 3MI0WGds SFMIOWIOIYOS
©53300m30L LoddEs3MOL 3:91303096@E0L 8603369 MdBY

168 ) LAV YD0SE (MOgErgdgbE05b) IMOEb3gEdo "A" BsBOL YbOL s39MY35 0393V
50MB0g ghrmo:

a. "A" g5Bob ©gbol 535635 0f393L IMOEb3gEol T9bgegdsls 9B Mgdoo 30 — 50 % -0l
7396 90d0. IH0EH39E0L 30MI0GdS ITIMI0WIOIME0s IEHZ0MHMZ0L LOIdw szl
3M9930309530L 36093690mdsbY

b. "A" g5Bob ©gbol 35635 0f393L IMOEb3gEol T9bgengdsls s Mgdoo 10 — 30 % -0l
RO 9070. IMH0(3b3900L (30MmT0GdS STMIOWYOIE0S PIEGHZOOMZOL
LOddEs3MOL3MYB0E096EGHOL 3600369 MdsbY

C. "A" 35Bob ©gbol 35635 0§393L IMOEb3gEoL 969 gdsl OB MIdo 60 — 85% -0l
RMR9070.9603b39w oL 30MI0WYds HFMINPIOI0S IEHZ0MMZ0L BLOIIESZMOL
30930330963 0L 36089369 mdsbY

d. "A" g35Bob ©gbol 35635 0§393L IMOEb3gE0L F9bgegdsl OB Mgdo 50 — 85% -0l
RoMR90d0. IMH0(3b39w0L (300MmT0EGOS EOTMI0WIOIE0S IGZOMOMZ0L LOTWHS3MOL
309303309563 0L 36089369 mdsbY

The correct answer is: "A" 535b0l 960l 35635 0f393L IMOEb3gE oL F9bgegdsls
©535bEMgd0m 30 — 50 % -0b BoMYdT0. IMHOEb3xEPOL (30MTOGdS STMIOWIOIE0S
©53300m30L LoddEs3MOL 3:91303096@E0L 860T369MdBY

169 ) LoALoEYB0D (Mg gTxbE0s6) IMO(3B39wd0 "B " BoBOL ©IHOL O39S 0393l

506B0g 9Mmo:



30Ol 5356935 03938 IMOEb3gEoL F9bgegdsly IS MgdOm Fotyrgddo
a. "B" 850l gbols 35635 0fi393L dM03b3geol 8969wgdsl ssbermgdom 50% -ob

RoMR90d0
b."B" gbol 30% -ob

c. "B" 5ol 0gbols os356mp35 0fi393L dM03b3geol 8969wgdsl ssbermgdom 85% -ob
BMRgddo

d. "B" 350l 0gbols oo356Mp35 56 0fj393L M0 Eb3geol 89bgargdsls
The correct answer is: "B" 1350l ©©960l 53560235 56 0f393L dM03b39gEol d9bgargdsls
170 ) LAV YH0SE (MOgergdgbE0sb) IM0Eb3gEdo "C" BBl Ybol 35635 0393V

50MB0g gPmo:

a. c" B5BoL gbols 35635 0f)393L M0EbZgE oL F9bgEgdsly ssbErmgdom 30 —50% -ob

7396 9dd0. IH0EH39E0L 30MI0Gds ITIMI0WYOIM0s IEHZ0MMZ0L LOIdw szl
309830330963 0L 3609369 mdsbY

b. "c" 85Bob gbols 35635 0fj393L MO EH3gOL Fqbgergdsl ssbwmgdom 10 —30% -ob
7396 9070.96M03b39wol (300MmB0ds FMIOIOI0S IGZ0MMZ0L LoAdEs3MOL
3M9930309530L 36093690mdsbY

c. c" B5Bob 9bols 35635 0f)393L MOEB3gEOL F9bgegdsls ssbermgdom 50 — 85 % -ob
RoMR9030. IMH0(3b3900L (300T0EGOS OTMI0IOIE0S OGZOMOMZ0L LTS3l
3M993030953H0L 36093690™mdsbY

d. "c" 35Bob gbols 3635 0§)393L MO EB3gEOL F9bgegdsls ssbermgdom 60 — 85 % -ob
RMY9030. IMH0(3b3900L (300mT0EGOS OTMI0IOIE0S OGZOMMZ0L LTS3l
30980330963 0L 36089369 mdsbY

The correct answer is: "c" 5350l ©9IHOL 35635 0f393L IMOEB3gEOL T9bgEgdsL ssbMgdom
50 - 85 % -0l oM gddo. IM0Eb39wol 3MI0Egds ITIMIOEIOI0S IGHIZOMMNZ0L
boddsz3MOL 3MmYB0(3096EHOL 3603369 MdsbY

171 ) mobbog6056 (L5Tgegd9gbEH0s6) IM0EbggEdo LodgE Mo OGHZOMMZ0L O™
"A"535D0l ds030L 535635 0f393L

506B0g 9MHmo:

a. "A" 535D0ol ds030L 535035 0f393L IMOEH3EOL T9bgegdsls s Mgdom 15 % -0l
SNOhYrelelo)



30Ol 5356935 03938 IMOEb3gEoL F9bgegdsly IS MgdOm Fotyrgddo
b. "A" 35%Bol dsd30l ©s356My35 0)393L dM0Eb3gOL F9bgergdsl ssbwmgdom 33 % -0l

3969030
c. "A" 535D0ol ds030L 535035 0f393L IMOH3gEOL T9bgegdsls LB Mgdoo 60 % -0l
73969030

d."A" dsd30l 50 % -0l

The correct answer is: "A" 5350l dsd30L 535035 03936 IMOb3gEol Tgbgargdsls
©59bEMgdom 33 % -0l oM gddo

172 ) moblogbosb (Bodgargdgb@osb) Ihobagedo LodgBHMowwo EGHZ0MMZ0L O™
"B" 530D0l d5030L 535635 0fj393L s06MB0g gPmo:

a. "B" 535D0l d5030L 535635 0§393L IM03b390l F9bgengdsls ssbrmgdoo 15 % -ob
3969000
b. "B" 535D0l d5030L 535635 0§393L IM03b390l T9bgegdsls ssbEmgdoo 50 % -ob
739690 d0
C. "B" 5350l d5030L 535635 0393l IM03b390l T9bgengdsls ssbmgdoo 33 % -ob
S NOPYUZylelile)
d. "B" 535D0l 35030 535635 0§393L IM03b390l F9bgengdsls ssbrmgdoo 25 % -ob
3969070

The correct answer is: "B" 535%0b dod30L 5356935 0§393L dM03b39e ol d9bgargdsls
55bEMmgdom 33 % -0l oM gddo

173 ) moblboqbosb (Lsdgergdgb@osb) IMoEbzgwrdo LodgEMomEro OG30MM30L ML
"C"3oBob dsd30L 35035 0f393L

50MB0g gemo:

a. c" B5BOL 3030l 935635 0393l IMOEb3gE Ol Tgbgegdsls ssbermgdom 15 % -ob
SNOPYUZyLelile)

b. "c" B35BOL Asd30L 35635 0393l IM0Eb3gE Ol F9bgEgdsls ssbermgdom 85 % -ob
33069000

c. c" B3BOoL 35030l 935635 0393l IMOEb3gE Ol Tgbgegdsls ssbermgdom 33 % -ob
33069000



30Ol 5356935 03938 IMOEb3gEoL F9bgegdsly IS MgdOm Fotyrgddo
d. "c" 8oBob 3030l 35635 0f)393L M0Eb3gEolL F9bgegdsls ssbanmgdom 60 % -ob

93969030

n_n

The correct answer is: "c" g3oBol dsd30L 35035 0f)393L IM0Eb3gEol 96990l osbErMgdoc
33 % -ob G3oMRE9gddo

174 ) moblogbosb (Lodgwrgdgb@osb) dMoEbzgerdo LodgEHMOEo IEBHZ0MMZ0L ML
"A"B5Bol gbols 35035 0)h393L



506B0g 9Mmo:

a. "A" 35Bob ©gbol 535035 0f393L IM0Eb3gEr0l T9bgegdsl ssbEMgdoom 50 % -ob
RoMY9dd0

b. "A" g5Bob ©gbol 535035 0f393L IM0Eb3gEr0l T9bgegdsls ssbEMgdoo 60 % -ob
RoOYqdd0

c. "A" 35Bob ©gbol 535035 0§393L IM0Eb3gEr0l T9bgegdsl ssbErmgdoo 10 % -ob
RoMYqdd0

d. "A" 35Bob ©gbol 35635 0f393L IMOEb3gEOL T9bgegdsll ssbEMgdoom 33 % -ob
RoMYqddo

The correct answer is: "A" 135b0l 9BV 35635 0f393L IMOEb3gEOL Fgbgegdsls ssbermgdom
33 % -ob g3oME9gddo

175 ) moblboqbosb (Lsdgergdgb@osb) 3GoEbggerdo LodgEMomEro OG30MM30L ML

"B" 35B0ol ©gbols 0o35M35 0393l s0MBog ghmo:

a. "B" 535D0l ©0gbols 5356335 0§393L B03Eb3gol d9bgeqdsls ssbanmgdoom 15% -0l
33069030

b. "B" 535D0l ©0gbols 5356335 0§393L M03Eb3gol d9bgeqdsls ssbanmgdoom 33% -0l
SNOPYUZyLelie)

C. "B" 535D0l ©0gbols 535635 0§393L 03390l 9bgengdsls ssbmmgdoo 60 % -ob
33069000

d. "B" 535D0l ©09gbol 535635 0§393L 03390l 9bgengdsls ssbmgdoo 50 % -ob
33069000

The correct answer is: "B" 35%0ob ©0gbols 0053560235 0f393L IG0o3bggerol 9969gdsl ssbarmgdoom
33% -0b BoMEqddo

176 ) mobbog6056 (L5Tgegd9bEH0s6) IM0EblgEdo LodgE MO OGHZOMMZ0L O™

"C" B35Bob ©9bols 39635 0fi393L soMbog ghmo:

a. c" B5Bol Ybols 35635 0f393L MOEH3gEOL F9bgegdsls ssbemgdom 33 % -ob
73969030

b. "c" 85Bob gbols 35635 0(j393L MO Eb3gEOl F9bgergdsl ssbermgdom 50 % -0l
33069000

C. c" B5Bol Yhols 35635 0f)393L MOEH3gEOL F9bgegdsls ssbermgdom 15 % -ob
33069000



d. "c" 35Bob gbols szsMy3s 0fi393L M0Eb3 ol G9bgergdsly ssbErMmgdom 85 % -0l
RoMYqdTd0

The correct answer is: "C" 5350l 6oL 535035 0393l IMOH39EOL T9bgEgdsl ssbermgdom
33 % -0l g3oMEgddo

177) Goomo 0fjygds s0Mobgolb 3356dol d9dm{dqds

506B0g 90!

a. 899m{jdgoolLols 30639 0RT0 599(30¢GOJ0s IMNZI0IOEIL 5MOEb30L 3356d0 bowywo
56393900 59mbogwgboco

b. 890{dgd0Lsl 30M39w H0do 530K 9dIE05 250DMIML FgMmMo I bgdo
c. 9990§dgd0lsls 306H39w Hodo 99930090 0s IEA0bIL IM0Eb3gEOL Fdsmdol Lobmldg
d. 899m{jdgd0Lols 30639 H0RT0 59930GdGE0s F50DMIML 30MHZ9gWsO ©Y69d0

The correct answer is: 399m{jd5d0Lol 30639 MHOATO SYFOWIOJLI0S QIMZS0IOEIL sOMHOEbIOL
339600 bomo sM©0393900L 45dmbogegbo

178 ) 890dc0gds 0799 565 50M0Eb30L 3396d0L FgMEISEO 30T EHOE00L 3509Ed0 0gmb odTMEO
d92609b300 56 FobFoz0m? s0MB0Y gPmO0:

a. 8909905 35908390 0gmb o Gm gbwmemo [HHgwogdo

b. 56 dgodegdos

c. 890dg0ds

d. 8909905 250503990 04mb 099 35025 5OOL 0OHBME0MHOME0 LESODBMWHEOM IbEHOM
The correct answer is: 56 890de9ds

179 ) 65 3mbs399900 BoJLoM©Yds dgdol Tgbobgd sMobgzol 3356d0l 899m(agdol MMl
506B0g 9MHmo:

a. ol 3MIs

b. ol GHodo s Bgmo

c. @dol 6emdgMHo s IYMBoMgmdo

d. @odol dobogms

The correct answer is: ¢0v)Jol 603960 s IYMTsMYMdS



180 ) 500 3bz0L 3396d0l mM35¢0gMH B0 MHMYME Fg0degds 935 H0BMm™ 1 FomdL 014y
565 M03Ebggwo s0Mbog 9OHMO:

a. 4395 060353MOM0 dMmbs33wgMmdom 0bmgds
b. 3G03Eb3gwol 3mM3Mlo MdOWOos

c. 360Eb39wL 593L dsd3530 RGO JergdBHMMEIbIYMOLMZ0L sTsbILOSMYdGEO F30MY
bds (bmBmbo)

d. 5839 894o60DaL 45005938 30BMYd0 s IM03b3geol JogMHmgdol LobmMol o
9dm8smdol 35839690900 06035¢™MMgd0 (3003009096

The correct answer is: 5d03 9w 394560BAL gossd3L 30530900 s IMOEb3gEPoL dogMmgdol
LobHOol s 37Tomdol Bsb396909c0 06035GHMM9d0 3093009096

181 ) 9gb5d9gd3905 M) 565 06030V MSE odM0(3b39056gdO 53MbgbEOL (353D
d603b39wob 3w9dsmdol LoLHmEOOL sghs (Aglsdsdolo AoBMIZgdOL Bo@s®Mmgdom) J3gws
bmo3ol dmblibol o939 s0MBog ghmo:

a. 3904905 v Jugerdo 2203-Hg B0 dod3Z0S

b. 90dgds vy IM0Eb39gwL 5938 OO OGZOOMZS

c. 99L5dEgdYE0S

d. 56 sG>0l Igbodergdgeo

The correct answer is: 995390905

182 ) s®obgzol 3356d80 G5 JoBbom 304969800 ©gbol s dsd30L BHMIBLBMEOTsEHMEOYOL
506bB0g gPmo:

a. ©9bol s dsd30L LoEOOL JgLsd30MYdIWS©

b. Lsdogg 35Lybo LmMos

c. bLobdo®oL FgboE3EYES©

d. 303Eb39wol 3arsliol dgboglwges©

The correct answer is: ©960l 5 d5030L LoEOEOL gL 30MYdWS©

183 ) Hmpm® 990dgds Bo35@ MM 50MmbgbEmab s0Mobgol 3356dol gbols
GMBLBMOT5GHMMHJOOL 30639050 BHIBEGHMJOS

506B0g 9Mmo:

a. 3mo(3b39w™sb IgMO 50 YbOL F5BMIZ000 S 0T3ELYOOL OMZPO



b. 56039030 B©98Ms0b0dbmwo dgomEO 56 2odm0ygbgds gbol FMIBLGBMEOTsEHMMmYdOL
30639050 BHLEGH0MJdOLIMZ0L

c. 3OYOMEO IBHZ0MMZOL POML 30MHZIWHO S FJMES>O IHIOOL FobmIzom
d. ©9bols BHEsblRMOToEHMMHJdmb 306390050 ©IBOL QoBMmIZz0m

The correct answer is: 5®U90v)0 HGHZ0OMZOL OOML 30MH3JWSPO S JJMM>O ©Y67dOL
25Bmdz0m

184 ) G5 LobJoMOL dsd355 LodsM™z39wMb gegd@M™ Jugerdo
506bB0g ge»o:

a. 5533

b.50 33

c. 60 333

d. 45 33

The correct answer is: 50 33

185 ) 079 LsIGIBS 5MOEHZOL 3356d0L YHOL FHMIBLBMEOTsEHMMYOOL 30M3ges© [iPrggddo

96900 LodgEBHMOY0s ¥bS 0gmb M) 56 LodgEMOEo TJMMSO [MJLIOOL IbJdO;
50Mb0g gemo:

a. 165 0gmb JsOGHM 9O BsHsdo

b. mbs 0gml 09 Bod@EHoeo Loddws3Mg B0sHEMGdME0s brmdobscrm®l c. Mbo
0ygmb

d. 5655 5(30€9d9w0

The correct answer is: «9bs 0ymb

186 ) 65 3538060 59300 GHOIBLBMOT>GHMOOL

3M53b60wgdL 50MHB0Y gOHMO: a. 30603060

b. 9wgdBHemdsybodmeo

c. bodogg 3sLbybo LHME0S

d. 394560360

The correct answer is: 9¢9d@O™Asabo@wmeo



187 ) s50®03bgol 3356080 ©sdmb@og90)e dM03b3gwmb Lo 9093l BB EOL
(B9BHBMEMmA00l 9H™M36w90 Bssggb@ ML) rmdo soMbog ghmo:

a. bLE3OMYMsdM 65339 MO DY

b. 33005 > bys bygby

c. gob s d0L 500 [Foboliffo 5655 2oblsBrzMmwo
d. bgs by

The correct answer is: ©95 b9

188 ) 3mo;3b39e0ol J390s bvynols swdaol Hob 3mdwm@Esgool 3o0gwmgdol
90903930b LOLHMOILMB GOMIE MO MBS osdmfdgl soMbog ghmo:

a. 3mo;3b39eol Bgs byxzol ¢rwydol bmdgHo

b. 563900 35L9bo 5655 LmEo

c. 3036390l LBo3sB3MOEM IMb539990Msb TGuodsToLMdS

d. 3999gd0lL 3mbEHogdGHoL babolbo dMoEbzgerol dmdFgMmoms 5836090msb (3argdbozmsb)

The correct answer is: 3509930 3mb6FodEob batolbo dM0Ebggeol dmdFgOHms 5936090050
(300986030756)

189 ) 13obMEJOOU, 39db03MO MYRWsTIBEIOOLS S TgEHOMEMYool 9Hm3bmwo
155396 ML by 2odmbabyeros s0MBoY gBmo:

a. J30L oo, 335690 s GGHOHMWMYOL 30650 bmdgmo, Igmyg Fbsbgls
3990LobmE0s Lo IBE ML 5B0MY305G M

b. 30053560 39GOHMEMR0MOM0 dMOSEGHMM00L o3 bBool bmdgMo, Looggb@mUL sdM9300E™E,
d9m69 bl 359mbsbveos IErdzol Howo

c. 1O9RIBGH™ML FoBETIMIMO, LH5RIBEML 50MHY305G B> S WIJol 0bEO30YISEIMHO bMdgMo

d. bo59bG™Mb 53619305GH¥GS, od30L Fgero s FgEMmMEMAOL 30050 bmdgMo, dgmy
bl 259MBObE0s 335MFHSWO

The correct answer is: Lo5396G™b 53693053 wM, oI30L Fgeo s FgEMMEMAOL 30050
Bm39gMHo, Igmeg bsMgL godmlobwyaos 335MESW0

190 ) ®5 bgarslifymb 3049b9gdm ©gbols dsgrol Loowols JoloBms
50Mb0og gemo:

a. 593969 BHOL



b. 3m@GdHOL

c. m339BHOL

d. m3036mbl

The correct answer is: 53390d9GOL

191 ) 65 bgarbsfgmb 304969001 dsd30L LoOOL FolisBMTo
a. 30w GIYGHM0

b. 5839639EHM0

c. m339GHMo

d. @do3zmmbL

The correct answer is: 30w @dg@o

192) 0,433-0L dmdbTs1909M b M5dIDO 3N EH s BBl s Beagnls Mol
50Mb0og gBmo:

a. 1003

b. 400 3

c. 3803

d.2203

The correct answer is: 220 3

193) Lodomm39emb 9egdGHM™ Jugargddo Mo LOEOOL dsd3ss
506B0g 9Mmo:

a. 22 33,110 33

b.1203,2503

c. 0,3 33, 220 33, 520 33

d. 0,4 33, 6-10 33, 35 33

The correct answer is: 0,4 33, 6-10 33, 35 33

194 ) 9900905 0779 565 BoIRIBs MOEHZYOL 30MH30M J0YMMYdS SOMOB30L HMgdo

50Mb0og gBrmo:



a. 9909 gds, ) mdIHISMGOOL IGZ0OMZ0L 5035 bs30gd0s IMH0Eb3gErol bmdobsgrme
dod35%9

b.d90dwgds, o) IndbTocmgdwrol Joglodoerwm0o IEHI0M™M30L gho T9glisdsdgds IMoEbzgurols
dogdLodoeM gbls

¢. 3904905 bgdolidogm dgdmbggzsdo

d. 8909905, ) ImdbIsM9gdol dogdlodse@Mo oG30MHM30L 9bo IgEHos IMoEbzgols
dogdLodse® ©gbby

The correct answer is: 990dg0ds, 0¢) dm3bIsMgdol dogduoTo MO OGHZ0MOMZ0L Yo
d99L5059905 dBOEHB3gEOL Aogdulodo® bl

195 ) ©9bols BHEoblgm®To@mmol 30MH39ws (HMgwdo (GHOBbLEBMEMTs300b
309953030960 K=100/5) 35000 40 533960 ©09b0, M5 LoEOOL Y60 o030l JgmEs
P6g8o soMbog ghmo:

a. 2,5
b.0,45
c. 2,05
d. 1,55
The correct answer is: 2,0 5

196 ) 960l BHEOBLRMOTsEHMMOL 30H39ws [HMgdo (GHOBLBMEOTs300b
30980309630 K=100/5) 35000 60 533960 ©960, Mo LoEOEOL EIbo 503wl FgmMa©
069do soMbog ghmo:

a.3,0
b.1,65
c.0,69
d. 2,0
The correct answer is: 3,0 >

197 ) 0960l GHEoblgm®Is@mMol 30MH39waw HMgdo (GHOBLBMEOTs300L 3mgn0E0gbGO
K=300/5) 30000l 100 533960 b0, Mo LoEOOL Y60 Foogzwrol gmea HMHgdo

506B0g 9P mo:

a.3,0



b.0,33

c. 1,555

d. 1,67

Feedback

The correct answer is: 1,67 5

198 ) 960l BHEbLRMMT>EHMMOL 30H39wo [HMgdo (GHOBLEBMEOTs300bL
30980309630 K=200/5) 35000b 40 533960 ©960, Mo LooEOL Egbo 03wl FgmMa©
069do soMbog ghrmo:

a.5,05
b.1,05
c.0,2s
d. 2,55
The correct answer is: 1,0 o

199 ) 960l BHESBLBMOT>EHMOOL 30MH3gws© FMgTo (BHEBLRMOTS300L
30980309630 K=150/5) go000b 75 533960 ©960, Mo boool gbo 3s03wol dgmMs©
P69g8o s06Bog ghmo:

a. 15
b.2,35
c. 2,59
d.2,2s
The correct answer is: 2,5 o

200 ) c0gbol GHMsbLBMEOsEHMEMOL 30M39ws© §MgTo (GHOBLBMEOBs300L 3Mmgxroi3096G
K=150/5) 35000l 150 533960 960, Mo LooEOL b 503wl FgmMa FMHgdo
506B0g 90!

a. 2,5
b.1,55
c. 500

d.1,0s



The correct answer is: 5,0 o

201 ) d533990L Mg 309930 ™MdSHBY bgds LodgsBs IMOEb3xEPOL ogMmgds
506B0g gemo:

a. 35039%0L 3060306 J09g3OMdsBY BsbYdOL J0dY3E™d0m B C A

b. 808093M™Md5L 56 5d3L 3606369 Mds 535605 LMo IMbESsg0

¢. d503900L 300306 J0dEI3MMdsDY BsBYdOL J0dEI3¢IMd0 A B C

d. d583900L 300306 J0dEI3MMBsDY BSBgdOL d0dEgztr™mdom CA B

The correct answer is: 5039006 30605306 308Y3MIMI>BY B>BYdOL d0dI3MIMmdom A B C
202 ) 5 9H»9wegddo 0HBmdgds Jugerol bobdog

506bB0g ghrmo:

a. 3m@o

b. 30m35@0

c. 583960

d. 39630

The correct answer is: 39630

203 ) ©530f900L Hobsmdol Mo dodlodo)MHo olsdzgd0 bm®mdss 1 33-Bg Bowow,
46 ©530(90me 6go@EMmowosb Jugewrdo, oM 25093930 bobgdols s0MmBog gPmo:

a. 2 mdo

b. 10 mdo

c. 4 mdo

d. 0,5 mdo

The correct answer is: 0,5 mdo

204 ) ©530f900L Hobsmdol Mo dogduodsMo allsdzgdo bm®mdss Lsdxsbs 380 g,
46 ©590{9d9 69oBHM056 Jugedo, oM Josd(39d0 baHgdols soMbog gMHMO:
a. 2 mdo

b. 0,5 mdo

c. 10 mdo



d. 4 mdo

The correct answer is: 4 mdo

205 ) 5 LOEO0WYJOOL FOBMIZ> 9A30d0s 3mFd060MHGdIMOo 0,4 33-0 JsOfMbom
506B0g 90!

a. 9bol, dsd30l, Hobswmdol, Lobdo®mols

b. bsdogg 3sLvbo LHimMos

c. $93950MdOL

d. ©/&-0b 3PLMMO 3M30EGOOL

The correct answer is: ©960U, dsd330U, fobspmdol;, LobdoMols

206 ) 5900960 (390 8950 godmdY3560 593L 0,4 33-0 IHOL BHOBLGBMODsEHMOL
506B0g 9Mmo:

a. 4

b. 8

c.5

d.2

The correct answer is: 2

207 ) 65 356b3539055 B O BsBE dsd390L ImEoL 0,433-d0
50Mb0og gBmo:

a. BoBMMo 39300 boBmMHbg

b. bsbmMo ds035 9BH0s BoBMOHBY

€. 6039 dod35 BHMEO0S

d. 5039600 356vbo 56 G0 LMEOO

The correct answer is: bsHv)M0 dsd35 39305 BsbMMHbY

208 ) 65 (3003000 500M0(3bY0S JergdBHMM9bgM0s B3oBOMYOOL 6930l G9dmbggzsdo,
MmEgLsE 056b390M0M0s Ybgdo s d5d3900

506bB0g germo:

a. 30% 30mdogdom



b. 50% 300309000

c. LHmGo© s00M0EbYds

d. 80% 3c0mdogdom

The correct answer is: L{im®o© s00MOEbYdS

209 ) 0,4 33-0L LGF>Bs IMIBToMIGOYEOL GudFOMHMYds 40 30¢MZ5EO 59dBH0IMHO LA s3MOL (cosd
=1,0) 5650aMm0L BosMmgs, M5 3mg80309bEHOL IBOL BHMIBLZMOTsEHMOL 9gm™Pg30m s0Mb0Y
9OH»Oo:

a. 40/5

b.75/5

c. 50/5

d. 100/5

The correct answer is: 75/5

210) 0,4 33- oL LEAGSBS AMILTsMYdYL GudsFoMMGdS 40 30¢MZ5E0 dEH0MO Lodds3MOL (cosd
= 0,8) 5650 yM0L BsMmM35, M5 319803096EHOL IBOL BHMIBLBMODsEHMOL T9m@Bg30m s0MB0Y
9em0:

a. 75/5

b. 50/5

c. 40/5

d. 100/5

The correct answer is: 100/5

211) 0,4 33- ob LsIGSDBS FMIBA>MYdGL GLOFOMMYDdS 80 30¢MZ5BO 9GO0 LOTIEs3MOL (cosd
=1,0) ©5650a5Mm0L BsMm3s, M5 319803096EGH0L ©IBOL BHMIBLBMODsEHMOL Tgm@Bg30m s0MB0Y
9O00:

a. 200/5

b. 75/5

c. 100/5

d. 150/5

The correct answer is: 150/5



212 0,4 33- ob LYIBIDBS IMIHA>MYdGL GLOFOMMYDdS 80 30¢MZ530 5JBHOMO Loz (cosd
= 0,8) 9650 PM0L B35, M5 3mg8030JbEHOL IBOL BHMIBLFBMODsEHMOL 99m@Bg30m s0Mb0Y
9o »Oo:

a. 150/5

b. 75/5

c. 100/5

d. 200/5

The correct answer is: 200/5

213) 0,4 33- ob LEAGFSBS FMILT>MYdYL GudsFoMMYDS 60 30MZE0 5dEH0MO LI 30Ol (cosd
= 1,0) 5650a5Mm0L BsMm3s, M5 31980309bGHOL IBOL BHMIBLBMODsEHMOL Tgm@Bg30m s0MB0Y
9e00:

a. 75/5

b. 100/5

c. 50/5

d. 40/5

The correct answer is: 100/5

214) 0,4 33- ob LYIGIDBS IMIHA>MYdGL JLOFOMMYdS 60 30 MZ5BHO 5JBHOMO LOIIESZMOL
(cos$=0,8) 650 M0L BoMrmgs, M5 3mgx50309bEHOL ©IBOL GHMIBLFMOTsEHMML Igm™Bgzom
50Mb0og gBmo:

a. 100/5

b. 200/5

c. 75/5

d. 150/5

The correct answer is: 150/5

215 ) 35¢0935D0 96 LGB IMO3b3geol Tgdmjdgdol s6 dgiE3erol 9gdmbggzsdo ogligds
50Mb0g gBrmo:

a. 50M03bz0L 3356dol JoEgds — BsdMYOOL S9EO

b. 50M03b30L 3356d0L IMZ5¢0xMOOL SJBO

c. 506M0o3bz0L 3396dol 993mfdgds — domqdol sg@o



d. 50®0o3bg0lL 3396d0L sdmfdgdol sd@o

The correct answer is: 50®03Eb30L 3356dol 99dmjdgds — domqdol sd@EHo 216 ) Mo
3900b393580 03L9ds 50MOb30L 3356d0L IMZ5¢0xMGOOL BYOEILO
506B0g 90!

a. 50M03bz0L 3396d0l M35 0gMHgdOL O

b. 5060b30L 3356d0l 99dm{Agdol oM™l

c. 9bsEro I6-OEH39w0l JmbEog0l MM

d. ©gbols GHEMsbLgMmOIsEHMOMm9d0oL d9i33¢0l oM™

The correct answer is: 50®03b30L 3396d0l oMZs0gMHYdOL ML

217 ) 50603bg0L 3396d0L om35¢0gMHgd0L @390 d9a960L 9999 b 35009 (39L
506B0g 90!

a. 50mbybBo

b. «9d60U 96 3/(3-0b 3969x 9L

¢. $9d60306 dgbgxg®OL

d. 56 MBS 290099:39L 96530l s bs 0bsbgdMegly 999gbger b

The correct answer is: «3060U 96 3/3-0b 9gbgx gL

218 ) 59¢9b 99960560 IM0Eb39w0 353Mm0Yghgds Mmmblogbosb itgwgddo?
50Mb0og gBmo:

a. 90y 9dgb@GHosbo

b. 56396000 35bIbo 56 560 LMo

c. mM9w9gdgb@osbo

d. bodgergdgb@osbo

The correct answer is: L9 939bE0s60

219 0.4 33-0L Jugardo bsGreE EMT 3o3ol IGoEb3ggul 50920 533l 3sbocmgds,
MHMaMO M95306090L 5dBg IMoEbgzgo so®Bog ghmo:

a. 06035¢ MM 900 IMM0YgMd0m 060gds S JMgds

b. 439 0600353 MEM0 39T0350 b0



€. 4395 060353HMM0 BsIJMo0s

d. 50565065 56 9506090l

The correct answer is: 06000353™Mq00 dMOH0ygMd00 0bmYds s JMgds 220)

306:3bmgol 3060390 356mbol 3obo gm0 360d3zbgemds (56Lo) - sGOL

5) §6900L MdbgdbY 2obLEBOZMZL OO0 Je9dBHIE LOWOYJOL FMEMOL 353806;

0)6930LdogM 3MbEGHWOTo 33900 figoMMms 9ad K580 GHME0S 53 3MBEHMOL gergdgbEgdbyg dsd30L
3506900 X 530bY;

) 3396dd0 ©9bgd0L dosBLOL 35bMbo: 3356d0 Ms3dMYMOWO (30:90500) YbgdOL Y50 bryEols
GHME0;

©) 969605, HMIG03 259M0YmRs Hobowmdsbg Joldo 3535350 IHOL OMU, 3GIM3MEOFO0Y0S
@960 doeob 335006530l s Hobswmdol Loool Bsd®msgzaob.

The correct answer is: 3356d30 969000 dosbLOL 356Mmbo: 3356dd0 Mogdmy®m oo
(36905000) 6900l K530 byl Bmeros; 221. gergd@®weo HMgol d@m - sGols

5)3m{igmdoMdsmM GOHOMIOMDdS, HMIGO03 3ob3m3600s gegd@®veo gbols
dobo©gd5;

0) 3503505 bbgomds boBob mogls s dmMEmdo;

) 3oLo MBsb0, HMIGOE bW SRYOME0s MM 3356l TmGOU;

@) 9egdEHOHero Hgoob HohEowo, Gmdgerdog 9O m©gds Lsdo sb dgEo bogbo;

The correct answer is: Jolo 0560, G®MIGE0E 96RO ME0S ME 3356dL Fmols

222. 306:3bmgol Igmeg 356mbol goBo3mmo 3603369wmds (sGL0) - sGol

5) §6900L MdbgdbY 25bLsBOZMZL OO0 Je9dBHIE LOWOYJOL FMEMOL 353006;

0) 6900L30ge 3mbEHMGTo 33980L HgoMmM™ms 9Id X 5T BHME0s 53 3MBEMHOL 9egdgbEgd by dsdz0l
3506900 X 530bY;

3)3396d80 ©969gd0L doesbLOL 356mbo: 3356dd0 M530MYMOO (3M9d50) IHYBdOL K50 Bmeols
&H0Y;

©)969605, G003 359Mm0gmgs F0bomdsBHg dslido 459535¢00 960l MM, 3OHM3MOE0VIE0s
@960 doenol 33500650l s [Hobswmdol LoEoOLLYFMSZEO.

The correct answer is: 55003096 3mb@OHTo 339000 FysOrMmMs 98d K50 GHME0S 58 30bEH MOl
999963 90bg 5330l 35M:bgdOL X sTols

223. 99d@®eo §6go - s6ob



5) 80fgmBOWMBIMS GMMNMOOMDS, MMIGd03 3963936005 gergdBHmewro gbols
9oL, oaL(39350, 2oMaLOgIBYEs© s MbEbTSMS®;

0) dobo 93560, HMIgo§ bW sRgdIMOs MM 33560l TmGOU;
3) 999G MEo HH9gol FgOhEowo, Hmdgedos 90r0©9ds bodo sb dg@o Lowgbo;
@) B539@00 3Bs, MHMIgE0a 2ol M5dqbodg dGHmby.

The correct answer is: 3m{jymd0 M55 GOMNMIO0MdS, HMIGd0E 3963M3boos
999 BHMM0o ©gbols Jobowgds, A5oLS(3JTS©, MILOJIbgEsE s MLsbTs®s;

224.0090b 356mbol 30bo3wem0o 3609369 mds (sGL0) - SG0L
5) 690 MdbgdbY 2obLEBOZMZL OO0 Je9dBOIE LOOYJOL FmEMOL 353306 U;

d) 6900Ld0ge 3mbEHMMTo 33990L HgoOMmms 9Id X 5T BHME0s 53 3MBEVMHOL 9egdgbEYd b dsd30l
3506900 X 530bY;

3)3396d30 ©969d0L doesblOL 356mbo: 3356dd0 1530MYMOO (3M9d50) IHYdOL K530 Bmerols
GHME0;

©) 96900l K530, HMIYE0E 35906935 POMMYM HIMY30©JIJ 3MbEHWEOT0.

The correct answer is: {}H90U v8690%g gbLsBW3M3L JoHoMs© Jergd@ My LoOEYIOL
dmMob 303d06ML

225. 350300 5653560 - 560b

5)3m{igmdoMdsmM GOHOMIOMDdS, MMM 3ob3MmM3b0w0s gegd@®mo gbol
doL509gd5;

0) 3503505 bLbgomMds boBol Maglis s dmermdo;

3)99d@GeOeo fiMgoob oo EHowo, ®mdgedos ghmEqds Bsdo 56 dg@o bowgbo;
©)B539G 00 3Bs, HMIYo3 2900l M3dgbodg IBHmby.

The correct answer is: dsd350m0 Lb35Md5 baBol ma3Ls s dmenmdo

226. LOIIWH3MYS B5EBLOL FoBOIMGO I60d369WMdS(5GLO) - SGIOL

5) 690 MdbgdbY 29bLEBOZMZL JOM0MS Je9dBHIE LOOYJOL FMEMOL 353806 U;

d) 6900Ld0ge 3mbEHMGTo 33990L HgsMMms 9Id X5F0 BHME0s 53 3MBEVMHOL 9egdgbEYd b dsd30L
3506900 X 530bY;

3)3396d30 ©969d0L doesblOL 356mbo: 3356dd0 M530MyM OO (3M9d50) IHYdOL K530 Bmerols
GHME0;



©) LOAIE936Y, F630MYOMWO JegdEHOMIbgMFOOL Fysmrmgdol dogm, Gmero »bws ogmb
LoddH3MOL, MMIWO3 FoM0Jdbgds gergdBHMmgbghaool HMHgwodo Lbgs Labol gbgMaogdsc.

The correct answer is: Ll03d9369, F630X5MJOMWO JegdEHOMIbgMRFOOL Hysmrmgdol dog®,
A0 965 0gmb LoddErsgzMmOL, HMIX0E A9Ms0ddbIds gegdBH™M9batyools fMgdo bgs
Lobol 9bgMa0qds©

227. 3060 gbo - 560l
5) §0bs0MdYdOL K530 MOMMGME ©sTMY300909w 3MbEHMOT0;
0)99dd X580 MOOMYME EIMY300YdJ 30bEWOT0;

$)99d %580 M0MgMeE» IMbOBOZOY 3063 M9dT0;

©) 96900l K590, HMIGE0E 359006gds POMMYM HTM300JdJ 3MbEHWOT0.

The correct answer is: ©96900L x990, ®™MIGE03 359006935 POMMYME HTM30JIJ
3mb@m&mdo

228. 3569%)mgdol 3356do (oM GHowo) - 560l

5)3m{igmd0MdsM GOHOMBEOMDdS, MM 396336005 gegd@®vIero gbols
dobo©gd5;

0) 3503505 bbgomds boBob mogls s dmMEmdo;
) 8oL »dsbo, HMBE0E bR MWOs MG 3356dL TmGOU;

©) 9egdEHOHero Hgoob HohEowo, Gmdgardog §OHm©gds Lsdo sb dg@Eo bogbo;

The correct answer is: 9¢9J@ Mo §M9gol FadEHowo, HmIgedos 9OHmMIds bydo 6 dg@o
bogbo

229. 9e9d@GOero §Ogolb 30bEw6o - 560l

5) 80fgmBOWMBIMS GMMNMOOMDS, MMIGd03 3963936005 gergdBHErmewo gbols
doLo©gdsQ;

0) 3503505 bbgomds boBob mogls s dmeErmdo;

3) B339G0w0o 3Bs, HMIYoa 2900l M3dgbodg IEHmby;

©) 999G §Ogoob fadEowo, HOmdgedos 900@gds bydo b g@Eo Lowgbo.
The correct answer is: 539300 gbHs, ®MmIgeros 4900l Gsdgbodg 9@ ™Mby

230. 3350 LOEOEOL 5330 GO0 360369 MBS - SGOL

5) 335000 LOOEOL Y39 (33COEGOOL GOPNMIOMDY;



0) 396000b 2563530 ™ds0 (3350 LOWOJJdoL dyolog®o 3609369 Mdgd06 y3gwsby
©OO;
3) 331500 LoEOOL 360d369EMds PMHMOL Bydoldog dmdgbEHdo;

©)3900Mo ©9bo, HMIwol yzgws 3603369¢mds IgmEmgds OHMOL 9MM00d39
dogdo.

The correct answer is: 39060Mm©OL 25605303580 (3350 BLOWOYGOOL dyobogMHo
96039369 d900056 y39wsHg oo

231. 3bMEmE 59GH0mM0o fobsmmdom bsllosmgds fMgpgodo:

5) GEbLGZMOTSEGHMMHGd0m;

0) L39dgM bsHgdom;

3) LoMdMBIO bgarbofiymgdom;

©) ©GH30MMNZ0M.

The correct answer is: Lo®dMd0 bgwbsHymgdom

232. 3bemerm© 0600g30H™d0m boliosmgds §6Mgwogdo:

5) BOBLBMOTSEHMOHYIOOM;

0)b53509m bsBYdOm;

3) L399 ™ bsHgdom;

©) 396BMYoMYOME0 IGHI0OHNZOm.

The correct answer is: 3®obLgEMOTsEGHMOHgd00 233.

33500 LOEOOL dyobogMo 360dzbgEIMdS - sGOL:

5) 335000 LOOEOL Y39 (33COEGOOL GODNMIOMDY;

0) 331500 LoEOEOL 3603369EMdS MHMOL Bydoldog dmd9bEdo;

3) 39600 ©9bo, MHMIol yz9ws 3603369 Mds IgmEOEYds EOHMOL JMN00T39
901500 90d0;

©) 39600 3563530Md530 (3350 LOWOEYd0L dyobogMo 360d369wMdgd0L yz9gwsby
©OQO.

The correct answer is: 33¢05©0 LoEOEOL 360369 Mds POMOL bgdolidoge dmdgb@do

234. 3bMEm© 3§9350Md0m bolinsmgds [HHgwogdo:



5) BOBLBMOTsGHMOHYOOm;

0) L39dgM bsBgdom;

) BLomBdMBO bglisfiymgdoom;
©)396B™M5090w0 IGHZ0MNZO0M.

The correct answer is: 1153509 ™ bsbgdom

235 .335000 ©gbob ({9900l 9Hom - 90000 J0OOMSPO LI30M5GJuMds 3ydogz0 bl
§69090056 956930 5GOL

5) 99dBHM™9bgMH00L 45053990l gLodwgdemds e dsbdowgdby);
0) 9 9gGH®MgbgM00L 456l FgliadErgdEMds MBdYG s 39dsbo3MM 9bgMy09gds;
93) 69080 45030 (3300 gdol FglodErgdMdS GHMIBLRMOTsEHMEMOL Lsdwysegdom;

©) 99dEHH™9b9MH00L 253990l FglodergdEMmds Imeng dsbdowgdby.

The correct answer is: ()30 5330l 3300 9d0L FglsdEGOCMDS BMIBLBMOTsEHMOOL
b53MOEgdOm

236. 0L GHME05 350308 oMM BM-MHOL 30639e50 s FJMESO FMsRBowgdOL
9m03F96m90%9?

5) 9b IM30YOE0S 3MBLEMWYJ 30 M530L90)MYdSDY;
0) 593560l 25000L5)Y439B9© 56 3OO 153d5MOBO IMbS(3999d0;
3) 9b ©59M 30005 MRBOEgdOL FggHmngdol bdgdby;
@) 26093600930l bgosms MHoEbgzol BoMmdOU.

The correct answer is: 305360930l bgosms MoEbzol BsMMdOL
237. ™39 d5d35H9s d0BsbTgfmbowro gbgeyool gosigds?
5) Bo@oby;

0) adsbY;

3) 3960LOBOZMYdS [HBrgol dsboliosmgderols Jobgz0m;

Q@) 56 593b 360369 Mds.

The correct answer is: dooe by

238. BHM-M0ob 30603905 3M9b0wol MoMMYME BsHSTo bgosms GoEbgos 1000, dgmeso
3053600l momMgMe BsHBsdo 200. 33390530 JugErol bsbwemo dsdgzss 1000 3.



3963L5DL3MOM™ bsBMMO dsd35 BHMBLRMOTSEHMOOL 2oTMLLZEgEbDYg, ) AGMeabowgdo
399600901005 ,,350L33Ws30- by3MObgO* Bygdom

5)200 3;

) 200/V3;

) 1000/v3;

©) 200eV3,

The correct answer is: 200/V3

239. BHM9bLRMOT>EGHMMOL 30MHZ9WHO FMbowols 9dd 10 3, gmMsob - 130 3. 30MH39WdO
30530600l bgosms ®oEbzos 20. 2563L5BOZOMM TgMESO MA6oOL bgosms MoEbgo )
2;

0) 13;

) 260;

) 200.

The correct answer is: 260

240. BH6-6H0b 3003905 A6MRB0WOL MOMMYME BsBsd0 bg0sms MHosbgzos 1000, IgmErso
3Mgboolimommgme 35Bsdo 200. 83390530 Jugerol bsBwGHo dsdgss 1000 3.
3963L5DW3MOM™ bsBMMH0d35 GHGIBLBMOTGHMOOL Q5dMbOLZMGEDY, vy 4Gsbowgdo

399600901005 ,350L33Ws30 - 39ML3IZs30“ bgdoom
5) 200 3;
d) 200/v3 g;
) 1000/v3 g;
) 200eV3 3.
The correct answer is: 200 3

241. 35¢0R85D GHMBLBMOT>GHMOO F0gOHJd0s 220 3 JugebHg. dmbIoM9gdeo Loddwszyg
560b 2,2 33¢3). ©960 39mMo Mogbowdo sG0L 2,5 5. 3030m3Mm GHMIBLBMEOTs300L

3M980309630 o) = 2;



The correct answer is: = 4

242. 306395 3053600l momMge BsHBsdo bgosms GoEbzos 1000, dgmMso yMogbowrols
000M9w) Bsbsdo 200. 93390530 Jugarol bobmMo dsd355 1000 3. 4563L5BLZOHM bsBMHO
39935 BMBLBMOTsEHMMOL godmboligegw by, 1) 4Msgbowgdo 899MmMYdvYos
,1583990bgEO - 35ML3Zs30“ bgdom

5) 200 3;

) 200/V3 g;

) 1000/V3 g;

@©) 200eV3 3.

The correct answer is: 2000V3 3.

243, b5 g9dM0Y9bqd9b BHOIBLFRMOsEHMMYOL?

5) 929 HOMx3399 Jugerdo ;

0)53GH™do3H035d0;

) 398Dm™a 39db035d0;

©) Y39s 35Bvbo LHimGoo.

The correct answer is: 439s 3sb9bo bME0s.

244, 2563L5B030MM” GHEMBLRMOT>300l 3M95303090630L 3b0d3z6qwmds, o Ul =200 3;

P=133%;12=0,55

5) K = 10;

0)K=0,1;

3)K =100;

00)5dm 3560l goslog393ow 96 5M0L Ls3doMoLo dmbs39dgd0.

The correct answer is: K = 10;

245. ©©5350058¢9090 GMIbLRMOTsEHMMOL MMIgEo 3¢0gdgdo Mbos ogml JogHmgdwo
9330823 Jug0y?

s)a, b, c

0)A,B,C;

3)0,a,b,¢c



©)0,A,B,C.

The correct answer is: A, B, C;

35Q0

246 ) H™39w0 LBESGHLOL IJmby LETSOTMMEHM BYMHEFLJOOL A5IRDOZbsS
d9L5dE909gE0 B0 OBYOL 3BIMAEMST5T0? S0MmBOY 9BIMO:

a. EabMYYEYIEO

b. goblbogro

C. 25053bogboos

d. sbsero

The correct answer is: QsLEOWEGO)PO

247 ) 5 3960H0m©0ob 25605303580 0b5bgds dM0oEbgzagdol B39690900L
fo30mbgz0lsl sxz0dloMgdME0 0BBMEOTs300 35d0? s0MBog gPmo:

a. 1 {ierols 3963530 mdsd0

b. 83936m 030L LsFsOTOYEHM BWOEEYOOL BsIMEGHI0M3500)

c. 1 33060 56853wmdsdo

d. 9m0936m ol 10:00 Losmsdy

The correct answer is: 3m3936m 030l LodsOIOWYEM FMOEELIOOL BsIMGHIZ0MM3500)

248) 36o3b3z9wob B396900L Fo3000b30L 35BbmM309wqd0Lsl Mo MU
1304L0MYdS IOOEb39gOL 3MOEObsE OO s0MBOY gBmO:

a. LOFMIOWE M FMO3egOOL BTMEHZOMMNZ0L O™

b. LsFSOHIOBHM BYOEEYOOL 25 HI3BOL O™

€. 5ME9M00 35Uvbo 56 SM0OL LMo

d. 5bse0o B396900L T9Eobolisls “d9bobgs” o 3ol 4sdmyqbgdols oMmls

The correct answer is: sbocro 396900l 99Eobolols “99bsbgzs” o 3ol godmygbgdol Mmml
249 ) sboewo B396900L d9¢obobsl 396900l 3geo mv 4sdf3obcs:

506B0g 90!

a. B396905 Joborgd0s, 5699 53mbgbEHOL J0ge ImbIsM9d0 33BHB0-900 56 5GOL bMm) g6
239000 F56M0900 50MbgbEHOL d0ge LsFYSEME JMMO M39d0 MbIsMYGdI 33EHLM-90DY



b. sbsgwo B39690s Hobs B39bgdol @maero Bgqbgdss
c. B396900L 520360500 80JLOMYdIY0s T9bodzbs

d. B396905 b9 F3Ms, 5699 53MbBYBEOL oge FMHTSMYOMEO 33EB-900 BYNXIO 4505 FMBJOWOS
20mbgbEBHOL Joge LM GO0 M39d0 FMbIsMgdve 33BLM-90DY 96 Bogargdos fobs
B396905%9

The correct answer is: B396905 JoLogd0s, 5649 53MbBxBEHOL J0geM FMbTsMGOE0 33EB-9d0 56
56MH0L bmox 9O 290 FoMdGO0 5dMbgbEHOL J0gH LsdrsEMmE 9MHNO 13930 b GdE
330b-gd®Y

250 ) sboero B396900L 993sbobsl B3gbgdols 39eo vy goflomanos:

50Mbog ghmo:

a. 396900L 9530365 730JBOMYdIME0s T9gbodzbs

b. B396905 LogF3ms, 564 50mbBg6EHOL Boge AmbIs®dIeo 33EL0-900 brMX IO 2500 FoMBGOI0S
50mbgbEGHOL Joge LT M GO0 M39d0 FMbTsMgde 33GLM-90DY 96 Bogargdos Hobs
B3969d5%9

c. B396905 Joborgd0s, 5699 53mbgbEHOL J0ge dmbIsM9dI0 33BB0-900 56 5GOL bMm) g6
239000 F56M0900 50MmbgbEHOL d0ge LsFYsEME JMMO M39d0 MbIsMYGdIME 33EHLM-90DY

d. sbaewo B39690s fobs 396900l GHmero Bggbgdss

The correct answer is: B396905 LogF3ms, 5649 50MbB9gbEOL o9 dmbIsMgdo 33ELM-900 brmx e
3953560093905 53mbIBEHOL 09 LTS M YOO 13930 FMbIsMgd 33GLM-90bY 56
Bogargdos {obs B396905%9

251) sbogno $396980L d9Eobolols B396930L 39000 0799 oY30mE.:
50MB0g gemo:
a. 396900l 3530305 Ix0JLOMYGOME0s 89603365

b. B396935 Fobomqd0s, 5699 53MmbgbEHOL Joge dmbdsMgdweno 33EHB0-900 56 sGOL brmxge
3900535639090 50MmbybEOL doge LydMsemE JMHMO M3900 FMbTsMYdIME 33BHL0-90DY

c. b0 B39690s Hobs B39bgdol Gmaero Bgqbgdss

d. B396905 LogFzms, 961 5dMbgbEOL J0gH BMbIsMgdEo 33BLM-900 bmR IO 2500FoMDIOMEI0S
50mbgbEBHOL Joge LT M GO0 M39d0 FMbIsMgdve 33GLM-90DY 96 Bogargdos fobs
B396905%9

The correct answer is: sbocno B396905 §0bs B396900L BHmeno B39bgdss



252) 5 oMmb bm6M 3090 @gds 9550 BodsMIOHGHM BMEOEd0L BsdmEGHZ00m35 3500d0? s0MB0Y
9O00:

a. 93H™I>GHMO® 03060905 M30L dmerm Bsd)dsm Ol

b. 563900 35Lbo 56 5HOL LMGO

€. 93¢MA5BHvMH© 0BH30009ds 16:00-Lo-by

d. 53¢™BsBHvMo© 033000905 10:00-Lo-by

The correct answer is: 5®39000 355vbO 56 SG0OL LMOO

253) 3m0o3bg9eol B39690930L 50930l ML vy IM0Eb39w0 BoB0ZMMO® 56 SOLYIMOL:
50Mb0g gBmo:

a. 30do B396900L 39l 33900 (35009l S 3INO0MYdM 9603365l ,,dM0EblgEol B39bgds
396 0300bgds“

b. 563900 35Lbo 56 5HOL LMGO

c. 3500do B3969d0L g39edo 39O m fobs 3969358 s 37m0mMgdm 9603365l ,IM0Eb3gE0 oG
oMLgdMAL”

d. 3500do B3969d0L 39 3GM39dM (35009l S 310MYdM F9603365L ,IM03EIYEO 5O
oMLgdMAL”

The correct answer is: 35030 $396900L 39¢0l 333900 (356109L s 39NO0M YO J960d365L
»96003b390 56 sSOUYOMIL”

254) 5 oM™ 5O 530009090 063 IOBYEOL sOLGdIMdS IMO(3b3EgdoL
£396999%0L oz0mbz0Ls s B0 dBOWobYOL 3OHMYMsT5d0 slobz0LsM30L. s0MmBOY
9OH»Oo:

a. 396009360l oxnodlocmgdols O™
b. 5bsno B396900L Gg@sbolsls “9965b35” 030l 45dmygbgdols ML
c. 3mo3H39w9d0L B39693980L §o30mb30L o osbo 3Mm3gLol gobdsgermdsdo

d. L3OO EHM BMYO3IOOL BsIMEHI0MMZOBS S B0 BOOBYOL 3OMYEMSTSA0 gosRBIZ60L
OML

The correct answer is: L5356 IOYEHM BMOEELIOOL BsFMEHI0MMZ0LS S om0 doObYOL
36MaM535d0 2509aH5360L MM



255 ) fo300b3930L O™ Hrmym® bgds Mobawol sbowo B39690900L 4oogH3bs 3500sb
000byols 3OMyMdsdo?

506B0g 9Mmo:

a. O30 ,B59MmGHZ0MHMZ5“-ls 25dmygbgdom

b. 53¢ ™3s& M5 ym3z9ger 15 mmdo

C. QO30 ,39H365-ls 4o8mygbgdom

d. 93»™dsGH o ymz9w 5 Hmdo

The correct answer is: 00530 ,,35053H5365-ls 45mygbgdom

256 ) 5 8900b393580 56H0b dgLadagdgaro 3mb3M9G I LsFsOIGMME™

ROHEIdo s80JL0MYINO 0bBMOT3E00L owoyHagbs dowobyols

36Ma659580? s00mBog 9MHmo:

a. 0¥ bLYFsOIOMEM B39 do dm399E Yy39es IMOEH39W DY R0JLOMGdIMEs B3gbdS

b. 099 LsdsMIOEHM BMOEIEdo IMEgdmE y39ws IM0Eb3gDBY IBOJLOMYOME0s d9603d3bs c.
9439w 35Lvbo LMoo

d. v LYFOIOMEM BMO3gdo IMEIdME Y39ws IM03b39MDY IROJLOMGdME0s B39bgds 56
396009365

The correct answer is: 4y3qwo 35Lvbo LMoo
257) 6039 LsomBg bt (309000900 golscodo s0mbgbEgdol Lools sdm@GHz0Mmm3s 35¢do?

506B0g 9MHmo:

a. ymggr 15 fyomdo ghobgen

b. gmggw 30 {ymdo ghmbgen
c. 10:00 bon-bg

d. 16:00 bon-by
The correct answer is: 10:00 boo-bg

258 ) ©5909b bsbdo 0gH536905 93BHMAEIM© BoFMa/50ygbol B39b7d9d0 35006
00 0ba0l 3OMAM53530? S0MBog ghmo:

a. OOL 3l

b. ymggw 5 momdo



c. 16:00 Loson by
d. gmggaw 3 bysmdo
The correct answer is: ymggw 5 Fmodo

259 ) 35000b L3000 BoFMs/50ygboL 45bbMM 309w gd0LOL Mo MM
1304LOoMYdS IOOEHZEOL 3NMOHEObIEHJO0? s0MHBOY 9OH™O:

a. 56 80gLOMEYOS SM(396M 0 BsdMmmMzEroE d9dmbggzsdo

b. “BoFM5” -0bd o “o0965” -0l O30 Podmygbgdols oMmls

c. ImALabuym9d0L (396GH®OL 5MRI30L (2obsbargdol) otmls

d. B5365/503960L Lool BsdmGH300mM30L MM

The correct answer is: “B5365” -0l 5 “50A965” -0l VOWS30L goBMmYgbgdol MM
260 ) Hmam® 56»ob dnbodbo 5350 YdIME SOLPIBO 5dMbYbEHOL IMoEblwo 35do?
50Mb0g gBmo:

a.v

b.1

c. +

d. X

The correct answer is: V

261) 80093900 300mYdoL Fglsdsdolo 56 MbEs gobbmMEogwgl 3sdo
939090 25L5000d0 50MBIBEHOL gomdgzs s0MB0Yg ghmo:

a. 37900m9dm d9600365L “56 0¥0Tgds”

b. 39902000930 d960d365L “56 000089ds” s B396900L MxMsdo F9a35J3L B39bgds

€. 96056506 J89gdL 56 356bMM 309w gdM

d. 56390000 3sLv9bo 56 SGHOL LmeMo

The correct answer is: 371000930 996093650 “56 0>009ds”

262 ) 3500d0 10:00 L5500DY B53MEHZ0007790 20150080 50MbybEJOOL Bsdmbomzao 56 o(33wgds:
50MbB0g ge»o:

a. 3000bsMg ol dme ™I

b. 8m3936m ool 12:00 bon-dg



¢. 9m30bstyg ol 16:00 Lor-y

d. 9m8@936m ol 10:00 bo-dy

The correct answer is: 309©936m ol 10:00 bon-d)

263 ) HMOob be®3090©Y0s 50LRI60 5dMBIBEJdOL Lools BsdmE30M™M3s 35¢d0?
506B0g 9MHmo:

a. 10:00 Lo>-b9 5 000bYOL 3OIMAEM5T50 SBObYIO FoobEYdOL glisdsdols ymggwr 15
{modo b. dbmerme 10:00 bon-by

c. dbmem 16:00 bon-by

d. ol dmeml

The correct answer is: 10:00 bo>-Hg 5 d0W0bYOL 3OMYMB5T0 SLbMEO FoIBEYdOL
d9L5d5d0bO© ymgger 15 fymdo

264 ) @6 bgds 350030 d9@¢9boo BsFms/s0wa960L yzgas 0bgm®mdszool
393H9360L ILEOMEGOOL A5sdMjAdY, 3¢sbdgE oL L8 s gdom s0MBog 9Hmo:

a. §oeHgMom, “Qosgbogbowos”

b. foefgmom, “slermegds”

c. 5039600 35Lv9bo 56 G0l LfimGo

d. §oe9gMom, “396 goo0aBs3bs 0 39690s”

The correct answer is: {jo®{g60m, “396 o036 0 396905”

265 ) 5 396H0m©OoL 256053003580 BoJLOMIOS 0BBMO305 00 450000
50mbgb 900l Fgliobgd, HMIgd0E 4>00dbIb 3500l LT>EGOOM S SE
9093096009002 506B0g 9OHO:

a. Ibmwm 1 Eol 356353crmdsdo
b. 3bmerm 1 33060 go63sgwmdsdo
c. 50396000 35Lv9bo 56 M0l LfimGo
d. 3bemem 1 ol 2063530mdsd0

The correct answer is: 5®»39000 355vbO 56 GOV LMOO



05693 )0MYoIEo

1) ,,9099dGHO™M9b9M9EH030LS s BMBIOM0Z0 goBol Iglabgd“ LadoMmzgwml 356mbols
dobgz0m, 9egd@®™™9bgMA00L HMAMmMO IMIbBIsMGOGd0 5OLYIMDdID S0MHBOY 9O mO:
a. 339Q0GBO0IMO OO 55335C0R0EF0IOO

b. Loymaxzs3bmz®mgdm s 5MoLogMBI3bMZMIOM

€. 306053060 5 BOEFIE™

d. gggws 3sbvybo Lmemos

The correct answer is: 306530600 5 LoEIM

2) 3m3bds69deol dmbmzbol Logwdzgw g M0 Eb3gEo Gg0degds S6M109d0MEMS©
399m{0ql Lo 39w MT0 536090 EGHIOE 5gdOLAOYH IBMOSGHME05d0, G9dm{dgdol
3909350 009 3M03H39WO B0 YOMWO 56 5©0IMBEPS 306 ObEOL sdMMSGMEMOOL botrx gdl?
506B0g 9P mo:

a. bLobgedfogm

b. 49650 gd0ol oEgbbos@o
c. 565306

d. 9mdbdsmgdgero

The correct answer is: 3mdbdomgdgeo

3) 30600999 (1599bo 35960 PVOM 5O b J36MdML IMIbT>MGdYEOL
99dEHOM969600000 3MmTo60900L 393300 FY39E0L @OHMOLS s boby®mdwwogmdol dglabgd
506B0g 9Mmo:

a. 10 oo sy 35063

b. 6 Om 506 3506(3. 5F5L9b, ) A5BsFogdOL 0EIEBOsEOLD TM30YdJO
30BgBol 259m 396 bgds ImIbTscm9d9gwms Hoboslifo® 0bxm®moMm9dOL ool 33,
9mdbds6909wms 06x3mOT0Mgds bs dmbgl dmbsembawo fyzg@ol gLsbgd
0b6x3mM35300L Jomqdobmsbsgg

C. 3 OO 5QMY 35063



d. 5605999939L 5 960565390 1 EOM 5@MY. 5Fbb, v A56sFogdOL 0EIEBOSEOLYD
509930009090 d0BYHOL 35dm 3960 bgds BmIbIsMgdgms Hobsbiffo® 0bxm®IoMmgdols
35000l 5339, 3MIbT>MYdI S 0bBMOHI0MGOS ¥bS JMbgls Imbowrmobgwro (4393 oL
d9L5bgd 0bGFMOTs300L JoYdOLMLb39

The correct answer is: 50599939b 5 560565390 1 CEOM 5. 535D, M Aobsfoergdols
039605306 M 30gdgo FobgHBOL godm 396 bds IMIbBTsMYdgms Fobolifoe
0683060306500l 3500L 339, IMIBAMYdGMS 0bBMOT0MYdS Mbs dmbgl Imbsemobgwo
£939)0L Tgbsbgd 0bRMEAs300l JogdOLMbsZ9

4) 049 bygMBsEHMZMGOM IMTHT>MGOEPOL JogM FMmbIsMgdveo Jegd@®mmgbgMaool
39bLsBOZMS G993 gdg0s (9egdBHO Mgl AMOEb3gEoL IB0sbgdOL Fgdmbggzsdo),
9mdbdoMgd9wl 50MHO(3bogs IMbsMmgdol 39MH0MOBY s930UMYOS A5LIBEOIEO, HMIgEo3
39900003935 50M03EH3056Md0L dMFglmogqdol 3gMommdo s0MmBoYg 9O mO:

a. 9ol Jog Lsdo 35960 MZ0L gobIsgzMdsdo bIsMmgdEo gargd@EMmgbghaools
50 9bMdOL Lodw)seM MZ30MO JMbIsMgd06

b. 9ol 309 gm0 35960 MZ0L gobdsgemdsdo dmbdsMmgdero gargd@Mmgbgdaool
50 9bMdOL LodwoeM MZ30MO JMbIsMgd06

c. 3oL 3096 943Lo 39960 M30L 2563530 MdsTo dMbIsMgdo gegd@Mmgbgaools
50 9bMdOL Lodsem MZ30MO JMmbIsMgd06

d. 3oL 3096 350960 ol 256853 Mds80 dmbdsMgdeo gegd@MmgbgMaools
50 9bMdOL LodseM MZ30MO JMbIsMgd06

The correct answer is: 3o J0gM Lodo 35960 MZ0L 6>z MdsT0 dMbIsMgdO
999 BHM™9bgMA00L MH5MmEgbmdol LodrsEm M3099MH0 IMbIsMHJd06

5) 39650 gdol o3gbBosbEl »iwgds 533l mdbIsMgdgel dmbmbmgmlb dols
©930D0GHg 0s6bol Gg@sbs mvy: soMBog gBoo:

a. 8mdbdoMgd9els IMALabwym9ds 9vmHigs Jergd@®mmgbg®aool ©9356mbme dmbdsdgdolbmgzol

b. 9mdbdomgdgeds 3-x9gM 56 F9BXIM 3509ROIGOLYGO00 oI0bss IMbTsMgdwo
99dEHM™gb96M00L LogslryMo 12 M30060 3gMHOMEOL gobsgErmdsdo

€. 3060 50Mb7BES© MYROLEHMOMS Job MM BoMYIOMBTO 5OLYdIY JoLsTsMDY d.
939w 35Lvbo LMoo

The correct answer is: 439s 3sb9bo LM



6) 303b390ol 5MBLHMMO Fo300b30L 39dm, 30l Ho®mBmImdol dgdmbgzgzsdo
3965§0gd0L wo396%0sEHOL Fo0dmdsygbgends mbs 8950mfidmlb dMoabggarol 396900
5 395000bmb Fgliodsdobo sg@o s0MBog 9Hmo:

a. 96530069L Lsdo oL
b. 505230569l 5000 OOl
€. 3657930569l 90 M30LY
d. 565930969 bymo mols

The correct answer is: 505330569l 500 @OLY

7) ) 5200 5338 ImabTsM9dol oge MO M30L5 S FgGO 39HOMPOL Yobdsgzemdsdo
5350056900l 2505bYEMdL, 3d35606 s IMIBTsMYOJo 396 T9msbbdbyb
535056900l 356(0w350930L 306:M37dBY S bobaMI03Mmd5BY, 95806 50bodb o
5350056905 M6 49650l 565653090 s0MB0g 9PHmo:

a. 153 3gbEsOY figwby
b. 933L 399bsOYw 03909
c. 1od 3oegb M M39HY
d. 06 35@9bEsOYw Fowdy

The correct answer is: m® 350966 Fganby

8) ®5 3500590 b5 AoL39L WILIBMMYOMEO S SMYYTIbEHOMYOO FIMHOWMBOMO
3obgbo 4obsforgdol oEgbBosEds ImabTsMGOOL 2obEbogdsls soMBog gbmo:

a. 39b3b5BOL F0YIOIL 5930569l 10 Lodwgdom oL
b. 3963bowgd0l F0Md0Ib 5659230569 2 33060L0

C. 3963350900l F0YI0IL 5930569l 1 MZ0oLY

d. 2963b5g00L J00gd0IHB 5530569l 2 M30LS

The correct answer is: 4553b500900L 3009306 5530569l 10 Bodw)To OLYS



9) 3m3bds69dol dmmbmzbom 3m33sbools dmdbobm@gdol d9(y39@s

©5MR9600 9e9dBHOMYbgMHRRO0L 25olvbIOL oGO gOOLASD s0MboY
9OH»Oo:

a. 50530L)BgdL IMIbIsMGOYEOL

b. 50530LvREdL 3 M30L 39MHO0MPOM

€. 96 53530L¥)BgdL IMIbT>MGOIEL

d. 505305393l 10 EOOL 396H0MEOm

The correct answer is: 56 50530LvBW9dL AIbT>MYd9El

10) 08 d908mbgz93580, ) IMIHT5MGOJ0 5MBL35EH0M (ILIdMIMNYdIE0) FoDYBOm 56
5999390 gobsfogdol wo3gbBosEol Fotrdmdoygbgurl oyd o Loddwsgmols
3B596500 5 5RO g3l IMIBT>MGOEPOL Jog 53 FoMdMTogberol Loddosbmdolimzgols
583565 bgenols 99dqnsl, 35906 256550 gd0l oEgbBos@l MBegds 9d3L 35b6mbme
dmbdoMgd9o gargd@BmHmgbgMaool Mom@gbmdol 2oblsBmzMs dglisdsdolo sg@ol bogmdzguw by
3965bmM3090mb 9090 Fobom,

a. Imdbdomdol F9OHOWMBOMO JoBOMLOGd0L 2 Lsdrdsm ol 999y MBS 593U,
Q59Mm03bmb 9939356%7 (LogbBY) L3930 FodloTo MO OGZOMMZoLSl Asd30L, gbols
5 o3I H3MOL 309530309EEGHS 6533l (6MT0bser Mo LoddwsgMol) 15-rosbo
259my96900L 56356089000.

b. 3m3bds69d¢0ol F9M0MmdOmMO Q9BOMLOEGd0IH 2 LydMdsm MOl d939Y WssMOEbM
9999356%7 (LoYbDBY) L3900 FoJLOT>WIMHO WHEHZOMMZ0LOL dod30L, IboLS s
LOddEs3MOL 3M9R03090EHMS BsdMSZwOL 10 OsHO Fodmygbgdol ssbysM0Tdgdom

€. 3mdbdogdol M0 Md0mO RO d0sh 5 Bsdwdsm Eol 8909y WIsGOEBML
8999356%7 (bLoYbDBY) L3900 FoJLOT>WIMHO WHEHZOMMZOLOL dod30L, IboLs s
LoddO3MOL 309B0(309D6GHS bsFMSZOL 30 OB BMmYgbgdoL ObYM0TgdOM

d. 39990930 9e9d@GHM™gbgMaools Jofmqds s 8950030bmb BodsMmowsMm3930L Mmddo

The correct answer is: 3mdbds69d¢0l oM MdOMO Q9BOMLOEGd0L 2 bydmdsm Mol

3900092 IBRE9ds 5943L, 9MOELML 999y356BDg (L5g6YY) L3900 ToglodsgrmEmo
©5E300m30L5L dod30L, YboLs s LOAISZMOL 39B0309BEHMS BsdMSZOL (Brdobswr®o
LoddWs3MOL) 1500560 259MYygbgdol I6YIMOTGdOM

11) 3 db3sgdeol Lbgs JoLadsMmMBY gooligeol s6/@s ImdLsbmmgdol d9Fy39E oL

d9dmbggzsd0: s0MBog ghmo:



a. 30935605 56 F9v9d0s 35MBOY0 MBbS MBMbMZMUL 96 2500¢)BIBMUL sboen Bolsdsmm by
b. 3835605 gemEgds InIbTsM9dE0l JogH 0sbbol 6gdogmBEMdOm 4oobEIL
€. 30035605 35009005 Bs3M[gHML 250sMbYo Mabbo

d. 30335605 MBWg35dMLOW0s 4oIHOYE0 M9BBS FMBMbMZMU 56 sMOEbo Oz 06 ds
390050356l 59 IMIHAsMGOEPOL sboer ol by

The correct answer is: 3935605 )53 9353MLBOMOS PoIYBOIEO MBBS FMBMbMZML 56
M03bME0 35056905 950EBML 53 FMAHAsMGOEOOL s BolsdsmrNbY

12) 2565(0¢900L 0396B05E0 Rwgdsdmliowos 9Hmo dmdbdscmgdeols
535056905 2oo530LEMML b3 IMIbIsMgdgl 0d Jgdmbggzsdo s0MBog gOHmo:

a. 099 5OH1GOMBL 59 THToMGOEOL MBBOL MBOMLOLS S BgbozMLoL FgHowmdomo
2963bogds

b. yzgws 3sbwgbo Lmeos

€. ) 5MLYOIMBL 53 99356513690l FoMomdomo MsbbIMds

d. 099 56OH1gdMBL 59 BTHsMYdOL BI6DY 0ToMm YOO Fgdbozmbol FaMowmdomo
3bEGMOO

The correct answer is: 0399 5GBYOMOL 5 356513690l HgHOWMdODO MEHIMBS

13) 00 d90mbgz93530 07¢) 500 593L 99dEHOMIGbIOFO0L 5M539330w6 (535M0) §i439ESL
Q5 3mFoM53930b 5©0g65 LEFOMHMGOL FoMEH0Z0 Lodwydoml Tgie¥egdLL, sdMbYBEHIOOLMZ0L

99dGHO™9b96M00L 5096 bs 2obbmME0geEal: s0®B0g gMmo:
a. 9M5m39@ 9L 12 Losmdo

b. 565999¢9L 10 LssTo
C. 50519393 9L 4 Losndo
d. 5651999@9L 6 Losando

The correct answer is: 5653939L 6 Lssodo

14) 9m3bds69dgms o000 gdHg s 296(3bowg09dHYg oLLdYMYdMEO 35LIbols
393995 L35 YIMEM: S0MROY gPIO:



a. 905393 9L 10 Lodwydom gdo

b. 565999939l 7 35 gbsMve mgdo
€. 56519393 9L 4 3996 ®9do
d. 505393 9L 5 35961 wgdo

The correct answer is: 5653939L 10 Lodwdom Egdo

15) 09 9900b3935d0, 079 ImIHAsMgdgo 56 guiMGds 9 9dEO™IbgMRO0L 35bMbm
dmbdoMgdol Gglobgd s9d@ol 99agbsls 56 ©oMl 0@Y30L 53 5g@0ol bgwdm{igmsby, dsdob
506B0g 9Mmo:

a. 990039600 5JG0b dgLobgd dmbo399980 93bmdMUL L@ gwgrmbm dg@ymdobgdom
b. 890039600 5940 b BsdsM@L Bols I9HBMdgl (Lb3s LG 30ML)

¢. 8990039600 5J&0 dmabIsgdgel 6 2593Bo3bMmb B39O Fgdowom

d. 439es 35Lbo LMoo

The correct answer is: 990039600 5J&0 ImIbBAsM9dGL b A593Bo36ML sBLZgMo
Podowom

16) 3 db3s69d¢0ols IMI>MIMNZ0L Loggwydz9wHg 50Mo3b3oL by lisfymgdol sy By
39003905 L35 YOMEIMS: S0MBOY gPIMO:

a. 5651999@9L 30 35w 9bst M Egdo
b. 565999939l 10 bsdmTom E®gdo
c. 305393 9L 10 35¢9gbsMm¥Ye Edo
d. 505m39@ 9L 14 Lodwydom gdo

The correct answer is: 5©539@ 9L 10 Lodwdom Egdo

17) 12 »30U 25605303530 dmdbIsM9dolomzol g3mbHo@Eob smoEbgs dglsdwgdgaos
506B0g 9Mmo:
a. bLodyxg®

b. m6xg6



c. 9hmbgw
d. 439 35Lbo LMoo

The correct answer is: gGombgen

18) o) 9¢9dBHO™9b96M00L 91Y39G)d 399Mm0§393L 5530560l Logmabarol s6
X 96IOMIEMBIOL gor9s6gligdsls 56 IMIbTsMGOEOLMZ0L 5H5M9BsBMT0YMHI© O botxgdL

M0EbME 350056905056 0FsMGdT0 s g 2o6M9MGds 3BMBOEO 2obgds
3965§0gd0olL o396%05EHOLMZ0L (30335600bmM30L) 3580b Fobsfowgdol woigbbos@o

399005 oblasBO3zOMML 9350056900L goobols s gegdBHM™gbgcyoom
dmd5653900L 9909Y3930L 4mbogzmHo 3509, HMIgerois: s0MR0g ghHmo:

a. 56 1605 0ymU 1 330659 bs3wgd0
b. 56 ¢bs 0gmb 3 m39%g dgGo

c. 96 mbs 0gmb 1 39y bogargdo
d. 56 mbs 0gmb 2 m39bg bogargdo

The correct answer is: 56 )65 0gmb 1 39Bg bozegdo

19) ©3mbo@GBg 9@ 9600 Mbbs Mbs IMBdMHMBbLIL FMIBAsMYdgL, T
506B0g 9Mmo:

a. 12 »30b g96d53mdsdo dmdbscmgd9ewo 39000¢Lobol0gMHIE SlMYEgds Job dogH Bo3ole
350093l 5 IMOELMEIO MBLS LOWS S POHMYYWSE 59d3L YoobOwO

b. mombmgzs ©g3mboE by sOBYGOdME0 MBBOL OMHNYBJdS FMALbMEMgdOL gofigzol T9FyzgEHol
S

c. 6 ®30L 296353c0Md5d0 dMmIHTsM5d9w0 39000LobEOLOYMHI 0bEOS Jegd@mmgbgMaool
LoggolyML

d. 10 ®30L 25635300 Mdsd0 Im3bsdgeo 56 ImobTsMs 9egdBHMmgba@aosl «356mbmo

The correct answer is: 12 30U 356353 Mdsdo dmdbsc9d9w0 3900lobologMs

L6 gds ol JogM 65306 35 YO GIGOL S PIMOEFHYYIO Msbbs LGS s
OOMMSQ 5J3L Z9IBOOEO

20) H960Mm30m0 56 9e9dEHOMbMWo BMOIom T9Eobow gobsboBy gobdEbowgdgwls
3590 b 2593Bogbml: s0MBog gPHmo:



a. 00539 3MOHIom, M5 FMOIoMsE IMbS 50060 A5BsEbsOL FoMgds () 296dbogdrols
9096 3s9bols bbgs 3mM3s 56 sGol Immbmzbogo).

b. 3bmwm fgHowwmdoo.
€. 9@9dOOMbYIQ.
d. LAL-om.

The correct answer is: 09539 30OJom, Mo ROIoMs3 IbES 50060 4obsEbsol Jowgds
(00 25693bogdeol doge 3slrgbols Lbgs BmMTs 56 sGol Immbmzbogo).

21) 30{irg00Ls s mbdstgdol [aligdol dobgz00 35056930l oIMbLIEMBOL
259t 3mdbTo69dolMZ0L GegdBHM™M9byMa000 dMTsM54900L d9(Y393)> 56 BgodEgds
50MB0g gBmo:

a. 1999 s 11396900l MYxddo, 14) 58 YJITO ILEOL 37BJEHJO0 56 TBomdL

b. LoodMUL LosYdT0, BV s 3Z0MLL, S939 LodsMMZggEml IOHMIOL 3MEJLo” OEYIBOE

mJd9 ©©©9ggddo s 9999 M990l obs L. «Jdg s sLZYBIBdOL ®Ygddo Lywsdmls 6 Lor-ols
99902

d. 85050 @5 3306

The correct answer is: Lo5dML 155019dT0, TodoNL s 330MSL, Sg39 LodsGMZgE Ml IO MIoL
319700 sEYIBoE g3 YT s J8) ELIHOOL Hobs L

22) 53mbgbEGH o M920LEM300L 999, 965§ 0wgdol wo396D0sEH0 F5egdIE0s,
MBOHYB39wyml ImdbTsM9dgmsb gargd@mmgbgmaool boliyomdol bgandgzmcngdol
39RMMTJds:

a. 3bmerm 00 999mbgzg35d0, HMEILsE bgardg3mIegdol oim®dgds begds s6obs3wgd 943L
03056 3960

b. 3bmm@ 59mbs3ewrol 99dmbggzsdo

c. Ibmerm 09 d9dmbgz935d0, HMEILsE bgedg3mHIegdol goimMdgds sfymodl 30835605l
d. 3mdbdstgdrols bvyHzowols 3gdmbggzsdo

The correct answer is: 3mdbdo9d¢0l bLyM30e ol d9dmbggzsdo

23) 296550 gd0L wo3gbBosE0 MBgdsTMLOE0s obsbmM309wMl 5MLoYMEBIEHMZMIdM
9 dbds6H9d¢0l gergdGHOHMmEsbs 900l 39db03MHMLsBOMbMYdOL bra®dgdmsb



d9L50530LMdOL Fgam{agds 9egdBHOMIbgHR00L IMbTsMGBME 39380MdME Loz
153000bBY 25698M9d0L IHBMLEHIOOL F0BBom 96 MBOBOMbMIdOL 30MMdJdOL sMV3g30L
d9Lobgd LoxrmAdz0sbo 0bBMMTs300L sGBYdMOOL T9dmbg935d0, slgo MM Asbsfowgdols
wo3gbbos@o: s0Mbog gMHmo:

a. 359390 dIHToM9dqL Fobolfo® 53bmdMUL bsdo Vo™ sMY

b. 56 560l 350900 dTbToMgd9L FobolHo® 536MmdML G9dm{Hdgdol MsMmOMO s O™
C. 3593905 dIbo9d9el Fobolfo® 536MmdmL 99dm{dgdol MsMm0mo s O™

d. 35¢0930s F9MH0EMB00 Q55B3MMBOW ML dmdbdsMgdgwro

The correct answer is: 56 5®0b 3500 IMIHT5MGOYEL FoboLFoe 53bMdML Fgdmfdgdols
05MHOPO S POHM

24') 43000600 56 d0gds dmIbIoMgdgels:

506B0g 9Mmo:

a. 50530 BGIL Ge9JBHO™MYbIMRO0L LEGslXIMOL FoIBEOOL Z5¢ YO GOOLIRSE LsTo
3909650 M30L o6dogemdsdo

b. 50530LvREWOL gergdBHOMIbYMHROOL BoBILYIMOL YoEIbEOL 35 YdIGdOLOYSE
c. 6o mdMH03 53530LvREOL gergdEMMIbgMHRO00L BoBILMMOL dosbol
39QIOIEGO0LOY6

d. 56 50530L9RwOL Je9gdBHMMIbIMAO00L LoGILMMOL oEILEOL 35EIdIGOOLOYSD

The correct answer is: 56 50530Lv153W9dL 929G OMIbIORO0L BogsliryGOL goobol
3oL QYO YOOLOYD

25 ) 3mdbdsMg0gel YYBAIGES eererrennee » §obLHo® 45050bsML gargd@mHmgbgMaool Logslm@mo:
506bB0Yg gemo:

a. 99J3L go3Mbs 3ol d9dmbgzg39gddo

b. 593l

C. 5695 593l

d. 5J3L 89msbbdgdols G90mbgggzsdo

The correct answer is: 5J3L



26) 12 330560 396MH0MmEO0L 3563530 ™dsd0, 9egdBHMMIbgM00L LogzslryMol badx g 56

39GXIO 39009R9PIGOWIO00 2500BEOL 15%3d390HY MOEHYIO I3MDOEGEHO 56 Wb
0ymUl ImdbdsMgdeol doge dmbdo®mgdweo gargdG®mgbgdaool so®Rog gMmo:

a. 0m 1 §gedo smoEbve msbbsbg dg@o

b. LeBMOEMOMBOL omzsobobgdoo dMIHAsMYdOl doge IMbIsMmgdmEo gegdBM™mgbgeyools
LodwoEm 0300 Msbboby dg@o

c. 30639 bosbMOTM 39MH0MPTO PIMOEFLYI Msbboby dgBo
d. 439es 35Lbo LMoo

The correct answer is: 1)HMBMOMIOL Q5035¢0OLH0bIO00 FMTBTsMGdEOL Joge dmbIsMgdvIeo
9994 BHM™9b9gMA00L LEFSEM N30 MsbboBg 9o

27 ) 890305 0 565 LoYgMBS3HMZOHMIM dIbT5M9d9wl 930LOML IymdGOH
39900 EsH0569do IMHO(Eb3gE0L A9dM (3oL botxgdo ? s0MmBog gMmo:

a. Ibmwm 150 ool mEpgbmdom

b. 0sb, mv) IOH0Eb3gEgd0L Foog0s MO bsHymddo c. 56

d. ©0sb, ™) 93303, MM 5MOEb30L 3356d0l sB0sbYdS Podmi3gmer0s 58 IMIbTsMGdEOL
J89gdo0m.

The correct answer is:

©O0b, 99 IBHZOEWS, HMI SOMOEH30L 3356d0L BB F9FMF39M0s 53 BMTbTsGYdEOL
J89gdo00m.

28') 259565H0egd9w0 Jugeols 3803m@) dsd35%g sbswro ImdbIscgdwols JogHmgdol bogsliv®o
10 33¢%. JoLogMH™MYdg LoddEs3MgbY Fg500a9bL

50Mb0og gBrmo:

a. 1200 @>6

b. 400 oM

c. 4700 o®Us

d. 800 @6

The correct answer is: 1200 (o6l

29) 5b50 dmIbTogdol (26O 3M035¢d0b0560 LogbmzMgdgwro Loberols JogmmgdoLH)
JL9bg JogmHMgdoL ML 3OHMEIEEIWOE MIBBOL Go MmEYbMds Mbs dgo@sbmls



8mdb3s6909wds 300835600 56256089 0dolM30l, MMI s0fyml JogHmgdoL 3OMEILMGN.
50MB0g gPmo:

a. 80%
b. 25%
c. 50%
d. 30%

The correct answer is: 50%

30 ) sbsero dmdbdsMgdeol Jugebg dogHmgdol LsdMTomgdol 2oblsbrgtmem
3500590 LM MdOL 99dmbggzsdo s0oMBog ghmo:

a. 306039 93o3bg J0gHm9doL Logslwyemo 99d30MHEYds 50 %-0m.

b. 30335605 53MbgbBHL 306039 9B93Bg 9396 MOMHNYBJdL Job FogH F5IBEOEO LogslryHol 30%-
b

C. 50MbgbBGL MB360L FgM0wMdom 99EYmd0bgdsl s »YbOl dmodls

d. 30935605 30639 9E93Dg 53MbIBEL 396 »dEGIMBAdL Bob Joge Aooboo LogslivGols
100%U

The correct answer is: 306390 9353b9 09O OOl LogslryMHo Jad30MYds 50 %-00).

31 ) dofimgdols s dmbdostgdol Hglgdol dobgwgzom gergd@®mmgbgtyool
Logowm dmdbds®mgdgwms Lbgsabbgs 3939aMmM09d0 0Ymas MM XaIRs© S0MBR0g
9e00:

a. 5M5L5Y4mMRs3bMZMIOM @S LEdOYKJEHM BTHTMYOES©

b. LogmxzoEbM3zMHgdM s 5MLOYMBIEBM3MYdM IMIbTsMGds©

c. bLogmRsEbM3zMYdM s 3MIGM 30 IMTbTSMYdEs©

d. gggws 3sbvybo LmGmos

The correct answer is: Logmyo3bM3ZOHFOM 5 5MIBOYMBO3LMZMGOM FMTBAsMJdWS©

32) HmamM00 bgdg30oLb dog® 220/380 3@ dsd35Dg FbobergmdoLIMZOL
5039600 BHom0ggdo s0MB0Y gOHmO:

a. 3593Me0 5MmoLoRGHMMYIM O30
b. 56535930 LoggbwmEqd®ogz0

C. 96535030 5M5LRGHMMGOM 030



d. 3593Me00 LoxgbMHgdmH030

The correct answer is: 50535930 Boggbm@gdH0og0 33)

999 BHM™9b9gMA00L 356Mmbm Imbds®mgdsdo 0dwwolibdgds

50MB0g ghmo:

a. 99dAm™9bgMyool IMoEbzgeol 30gMmWEo d5B39690 ol goyswdgds

b. 9egdBHM™mgbghaool IMobzgwol dMKXGHJOOL gobBMIb IB0BYdS (sm0oEbgzol LobmlEol
5M©3930L dgdmbgzgz5d0)

€. 350565(0wqdge JugeHg ImfymdoE™Mdgdol 1M30693)Mo 0gM0gds
d. g39es dsogobo
The correct answer is: 439es dsogobo

34) 9agdBHmmgbgMao0ol sMoxgdol dglsbgd Lgdg3oL iagbowgdol Jobggom dmbdsmgdeo
9993969600l LGslIOHOL LosbysMOdM 3gMoMmEOs S0MBOY 9MMO:

a. 30 35@9bIMwo ©Y

b. 9600 35¢96@MIME0o ™39

€. 3MO(3b30L (30300l 5OLBYOMIOLIL 3gMHOMPO 303e0b-(303¢5d©Y
d. 9600 35¢9bsmeo fgwro

The correct answer is: 30 3500960 VY

35) G5 d9dmbggzsdo 990degds Jugerosb Rsblbogn dmdbdsmgdganls
©5930LOML gargdGHOHMYbgMHR00m IMTsM52gd0L 5©RJbOL LogslmMo soMmBog
9O00:

a. 439es HB9Imo©bodbyen dodmbgzgzsdo

b. 8cmbds69do gargd@Bmmgbgmaool LogslmMol dosbgEMdOLLL
c. 99dGHOMH™M9bOH00L ©356Mmbm dmbds®mgdolols

d. MLsxzmmbMgdol §algdol scmM3930L 4odm

The correct answer is: 439¢0 H99ms0b0dbw)e» dgdmbggzsdo

36) 296500 900LE0E6B0BE, godsbsfiorgdgwr Jugw By, 0.380 33. Jsd30L LogggbwyHbYg 10 333.
LoddWs3MOL, J0gMHYdOL MbMm3zbom JodoMmms 39EH MY Jo30s60dgad 2016 fierol 1 ogerobl.
3965365 b IMEmM Q5T5b5{owgdge JugeHg sboero ImabIsMgdol dogmmgdol



Log3oliryol 50%-0U, 39MdMm 200 oGOl 45IBEOOL TILEIMYdJO M 3MTIDEO.
396500 gd0oL wo396%0563)3s oYRIbO 350sd0 IHOLS boz9Bo, Mo@ma?

a) 39369 Jox830560d9L 9bs3boolim3z0L bs osgMmm 100%-0b yosbols
©585@b(HHIOIL0 ©M3TIBHO;

b) 39369 Jox80560d9L 49bs3boolm3z0L bs osgMmm dobodwad 75%-0b gosbols
©585@b(HYHIOILO ©M3TIBHO;

c) 39369 Jox830560d9L 49653bsoLM30L Mbs ogMm™ 30b0dwad 600 oGOl FoIbEOL
©585@b(HYHIOIL0 ©M3TIBHO;

d) 39369 Jox30560d9L 45b53bsOlM30L b ogMm™ 30b0dwad 400 GOl FoIbEOL
©585@b(HHIOIL0 ©M3IIBHO;

The correct answer is: 39369 Jo530560dgL 9bs3bsoLM3z0L Mbs sgdmm dobodwmad 600
WHMHOL 2oobOL sToEILEHWMYOIE0 M3IdgbEo; 37) oty LoddesgzMols
99dGHOHMBOEYMO0 SGOU:

a) 9e9dGHOMLOYMO0, HMIoL LodMmgd@™ Boddwszcmg 56 509853 gds 10 A9yo35@;

b) 9e9dGHOMBoYM0, OOl LodMMmgd@m LOIIWszMYg 56 509BsBHYds 13 Fo35B;

¢) 9e9dGHMMLOEYM0, GO LadMmgd@m LoddwWszcmg 56 509853 Jds 15 89ys35@U;

d) 9e9dBHMmboym6m0, HMmIob LadMHmgd@Em LoddwsgzMg 56 50gdo@Jds 5 935G

The correct answer is: 9e9JGOMBOYRIM0, HMAOL BodMM9JG™ LOTIs3EY 56 50gdo@gds 13

9939353);

38) 9w9d@mmgbgeaool IMoEbgzgeo mbos sdmb@ogwgl:

a) 9mdbds6gd0ols 37360 EIOOEMMOSLMD (BHIMOBHMOOOL 2o690), BoaMod 56 MIgEgL 50
39GHM0L sdMmMH9d00 08 LobMZMIOYO BOBOWL, LoHoMTMPIB 56 Bb3s MB0YJEHOWB, Bowss
bgd5 gagdGHmmgbgMaool dmbdsdgds, 039 (9db03mo M1gysdgb@oms 56 gobsfowgdols
©0396%B0sGLS s BMTHTsM9dL FmEOL Jgmsbbdgdom Lbgs 30MHMdS 56 sl
23500350 bfiobgdmwo;

b) 3mdbdocgdeols 3360 GgMH0EHMM0LMIE (BHYMHOGHMMO0L QoMgm), ogsd s6s Ig@EHaL 20
390l sdmM9gd00 IMIbT>MdEOL 33600 BHIMHOEGHMM00ID (FoM S IM35d060sBO
Logbmg®mqdgeo Lobeols 98mbggzoLs), M) 39dbolzmMo Mg sdgbEH0m 56 gobsfowgdols
©@0396H05GLS s IMTHAs0gdgEls InGMOL Fgmsbbdgdom bgs 306Mds 56 sGOL

2390035¢0b{iobgdmeo
¢) 3mdbdo6gdeoldog® J0M0MYOIM 5RO DY;

d) 2965(0wqd0l o306D056¢3H 0l Jog goblabrzme s by.



The correct answer is: 3mdbdoM9d¢0L 370360 FJMHOEHMMOLME (BHIMOEHMMOOL Q5Mgm),
o0 565 MIgE gL 20 IgEBHEMOL EsdmMgd0m IMIbTsMGdEOL 3MmM360o FHYMHOEGHMMO0Ib

(39600

3653500060560 LosbMmzMgdgo Lsberol Ggdmbgzgzols), v 39dbozMMo MgawrsdgbEoo sb
39650 gdol wo396BosEH s s FMBBAsMgdgl IOl gmsbbdgdoo b3 30MHMdS 56 SGOL

39035¢0bfobgdmwo
39) 29650000l wo396D05EH0 35 IO0s I9MJAOLEMOMML JMIbIsMYdgEo S0MbgbES:

a) 00mbgbBHo© M9a0LEM300L gLsbgd Asbs3Ebool 0MgdOEIH 55 “Ya30569L Lodo Lsddom
©OObY;

b) 00mbgbBH o M9a0LEM300L gbobgd A5bsEboOL F0MYOOWIL 5616 XA30569L 5000 LodFom
©OObY;

c) 00mbgbBHo© M9a0LEM300L gLobgd AsbsEbool 0Mgd0EIL 56 »a30569L bmmo
Lodwgdom EOOLY;

d) ©594™M369003, d59M53 50MbgbE o M90LEHME00L Fglobgd gobsabsols Jomgdosb
565 30969l 9O Lsdw9dom OL..

The correct answer is: 536963 o M9a0LEM300L dgLobgd AsbsEbosol B0MYIBOIL 5615 XYa30569L
bmo bodwgdom oL

40) 35650 gdol 0o3gbBosE0 35¢gd0s, IYM3BId03 FMobobml Lymsbswm
952060905 © 99Y303H™b 9009dGHOMgbgMR000 FMToMo3gds, 01v9:

a) 8cdbdogdeol J0gE 25bEOO 56 G0l IMbTsMGOME0 9egdBO ™Mbyl Logslivy®o;
b) bLsFoMms 393809960 56 535000 LoMYGIMBEHM Bodmdomgdol Bo@s9gds;

€)0ob39EBgIM0Bo300L W0 3g6B0sEHOL F0gM o399 I0s BomsbsMm o35¢ds
999 GHMM9bgMA000 35059980l F9BMM30L 56 89(9y393 0L dglobgd;

d) 8c3bdo6gdeol Joge 0603930 393565{owgdgen Jugaenbg JogMmgdol 39dbozme 3oHmdsdo
9dm 3900 dmmbmgbgdo.

The correct answer is: ©0ob39®BgMH0Ds300L WOo396D0sEHOL F0gM go399I0s

Lo09bsEM 35BS JegdEMMBIOR00m IMBoMoggd0L 9B 30L 96 dgfiyzg@ oL
dgbobgd; 41) ImdbIsMdOL gergd@MmMm9bgMR000 IMToMoag00lL 50YIboL LogslwGo:

a) ©OY-0L Bsm300 60LsBMIMYS 2 MOl MmEgbmdom;
b) 560 MRsbim;

€) My-0L 256M9d9ga560LsBMZMYds 2 WGl MYbMmdom;



d) ©©a-0L Bsm300 560LsHMZMYdS 1 oMol MmEgbmdom;
The correct answer is: ©©-0b Bom30m 2560L>BOZMYOS 2 WML MPIbMBO;

42) 0779 53000 543L ©9dM530 JMbgdoL Aogma3sls (50mbgbEOL goyma3sls) s sOLYdMOL
399094 z30o Jmbgdol dglsgmom®mol Joge sdmbgb@Eow — bogmzsabmzmgdm dmdbIscmgdws© —
0930LEMs300L Immbmgboals:

a) 239650 gdol wo3gbBosEo 35¢gdEos, 50MbybEI© MgAoLEHMSE00LmZOL
9dmIbdoM9d9wl ssMOEbML FbMmEMmE 50M03Eb30L 3356d0L dMFYMmdsbY 2oFgwo bobrx o, doparoed
565 m3gE gL 400 o®m0ObS EEA-U Psm30m (3500 mMob, IMH0Eb3gEP0Ls S bbgs bsAMIdOLS
099 b5 Gd9d0L Fgdgbols s Bmfymdol botrxo);

b) 239650 gdol wo3gbBosE0 MBEgdsdmMboe0s, 25dmymaowo Jmbgdol dglsgzmom®mgls
©59MH0EbML IBIOMO #6-000 om35oLobgdEo S0MOEbloL 3356dol ImFymdol bygslivy®o.

c) 39650 gdol wo3gbBosEo MBEgdsdmboeos, 5dMmbgbE s MgRoLEHMmoEooLmZ0L
dmIbToM9d9wl ssMOEbML FbMEME 50M03Eb3oL 3356d0L MFymdsbY 2ofgeo bobrx o, dopaoed
565 Mm39@ 9L 100 o®m0bd O Bsm30m (3500 Mob, IMH0blgEols s bgs obsastgdols
099 153 gd9d0L F9dgbols o dmfymdol botrx o)

©) 39bsfogdol oEgbBosE0 39eYdM0s 1530B0 batrx 00 MHBOHMBIgEYml godmygmzowo
Jmbgdol dgLozmm®obmM30L s5MoEb30L 3356d0L dmfymds.

The correct answer is: 565(0 900l 0396%05E0 MREGdSTMVBOE0s, 50MbBIbES©
0930LEMs300LmMZ30l IMIBAsMOIL s3MOEHML AbMEPME 50MOb30L 3356d0L Jmymdsby
3909990 botxo, JogMsd 565 2999EH9L 100 ws0ls Y-b Bosmzwom (dso ImGol, dMoEbgzgarols
5 Bb3s 0b50gM900Ls 0 LodwgsEgdgd0L 89dgbols s Imymdols botrxo)

43) 00 99000b393590, HMOGLOG SYOWO 593 Fodsbsfforgdger Jugwbg IMs35wd0BOBO
LSEbM3MYdgo Loberol ogMmYdLls, FogMHmMgdol AbwyM39eo (563(3bowYdE0) 35eEYdIMW0s:

a) gobsEbool omygbsdg LEWWSE A9IOBIML Pobo3Ebodo SLobo Qodsbsforgdgar
JB9EBg 9bseEro FmBbIsmgdol JogMHmgdol Logsliw®o.

b) 39653boL 56 oML godsbsfiorgdger Jugw by sbsro dmIbTsmdEol JogMHmgdols
Lox3olbMOL 50 %—0b 25sbEOL F>EIBEIMYOIO ™M3YTI6EO;

c) 39653boL 96 sMOMMUL godsbsforgdge Juge by sboero dmdbTsMgdEol dogMmgdol
BogoLbIMOL 75 %—0b 25sbol sF>EILEVIMYOIO ™ 3TI6EO;

d) 563 96000 356bo 5655 LimGo.

The correct answer is: 45b53bs0ob §o6965909 LOHYIESE Fo0boEML gobobodo sLsbwwo
3995650909 JugE By sbsEro IMIbTsMgdOl JogHMYOOL LogsLwGO.



44) 2456550 gd0bero396D05EH0 MREgdsdmbow0s 2595650 gdger Jugabg dozdmboddwsgzmol
9099 GHOHMBYMHOL 0gMHMGdOL dmmbmgbols Tglobgd gobsbol” oma0bml bozqBo:

a) ) 3036MMBoddEs3M0L gegdGHOMLIYMOMOL AT LoddEs3MY 509ToEJds 100
30@M3oOb

b) 079 80360300l GEgGOMBOEAIOOL IYTME0 LOTIS36g 59T s
9dIbdocm9d¢0ol Jugermsb JogMHmgdols Loddesgzmgl

c) ) 30360mboddws3zMolL gargdGHOmboym@ol 353s65fowmgdgen Jugarmsb dogmmgdol

3909250, 3965§0gd0lL wo396D05EHOL 453565(0wgdge Jugermsb dogHmgdyeo
30360mb0ddes3Mm0l 9e9dEOHMBOYIMJIOL X 5TMMO Ao Lo s3MY 5FoMdYGOL
3965f0gdol oEgbBosEobsm30L furom®o 3039600 sGI0MMZ0L FobLBOZM BO3OU.

d) y39ws Bgdmo Rsdmmgzwowr dgdmbgzgzsdo
The correct answer is; 4395 Bgdmm Bsdmmzwow dgdmbgzgzsdo

45) Bsdmm3momsqsb, Hmdger 9900mbgg35d0 96 sM0OL 35030 4565H0wgdol oEgbBos@o
50M03b30L 335630l IMfymdsBy:

a) g3sbosbo dogMmgdols 99dmbgzgzsdo;

b) 5569290693500 (39760300 306HMdOL Lorwdz9wBYg) dogMmgdol I9dmbzg3sdo;
€) ©OHMYd0m0 dogHmgdol dgdmbggzsdo;

d) bLoddEs3MOL FobBMOL F9dmbgqzsd0;

The correct answer is; ©®Mgd0m0 d0gM009d0L 99dnb3z93500;

46) 8036 LI H3MOL JEgdBHOMLIYMOO SGOU:

a) 9 9JdGHOMLOYYOO, MHMAOL YT BLoAIWH3MY 56 509ToEgds 1 Bgo39B3);

b) 9a9dGHOMLoyM0, HMmIol LodMmgddE™m LOoTAEsgMg 56 09T Y0S 13 9a0353);

¢) 99dGHOMLIYMMO0, HMIOL YT BLOAIEZMY 56 5©gd5EJdS 100 30eM3SA;
d) 9e9dBHOmboymeo, HGMmIob bodMmgdEem LoddwsgzMg 56 509353Jds 50 30EMZsGL

The correct answer is: 9e9dGOMBOOYM0, OOl YT 0 LOIIWH3MY 56 509ToBgds 100
30M353);

47) 309006569 farols 15 53600l 16:30 bod-bY, 35000565700l oMb IMBdOLMZOL
39000303 dIbToM9d9eds, 58 93505690 FoIbEOL TS ILEHMIOIO J300056(0
D065 2565H0egdol moEgbBos@L. Bsdmm3mowmaysh, Mo 3gMom©do Mbs
MBOHYD39ymL 356sFogdol o3gbBos@ds sdmbgb@ol gargd@®mmImdsmaggdol sepygbs:



a) ©9395¢056980LYILEOOL sT5ILEHMIOIEO J30006M0L [otMIB0IHB sMMTgBHIL 3
Boosmobo;

b) ©535¢056900L goobOl sdoEILEHWIMYIOIE0 J30MOL Fobgbol IgmMg ol
365730069l 12:00 Losmoby;

€) 535056980l 4509bEOL T5ILEHYIMYdGO J30mEOL FoMygbol dgmeg Lol
65730569l 16:00 LosmOY;

d) 56396000 350 5Mvs L{irmMo;

The correct answer is: 53500569000 g5obEOL s35ILEHWMYOIE0 J30MOL Fobra9b0l
39069 oL 56592305691 12:00 Losmoby;

48) 3cdboMm9dE0l 256(3b505BY 56 SMOL 59930 GdGO LB YOMEO 35LIbol 45390,

o0vy;

a) 59 mmbm3bsBHg Imbs LEMIBIM M1YoQ0MYDs, MOBSE MTBTMYOYEO 5LEIMGIL Tglsdsdols
234 96/ bgerdg3mmergds®g bgerdmfigmom;

b) 59 3»bM360L ©530594MB0EGdsBY gobdEbogdgWl 0bZM®Ts305 oghims Lodgugimbm
Do®ol d9d39mdom;

¢) 3mmbmgbs 96 ©53059MBOEY;

d) 58 mmbm3b5BHg b LEMIBIM M1YQ0MYDS, MBS BTbTIMYOIEO 56 5ELEHIMIOL
d9L50530L 5gBHBY 96/ by 393609 gd5Bg bgedmfig®oom;

The correct answer is: 53 3mmbMgbsbg dmbs Bomsbosm MYosa0Mqds, MoLsE ImabAsMgdgEo
5Q3bEMMYOL gladsdol s9@bg 96/s bgedn30rmeEgdsbg bgwdmfgdom;

49) 0,380 33. 5030 LoRgbYOHBY sboro IMIBAsMGOEOL oYM YOOLOL, FSTMMNZWOW MY 306
56H0L 35Lbolidy 1090 sMOEb30L 3396d0lL 8989y IMfiymdowo dos Jugwrol
399003390 bs s Bb3s dmfymdoemdgdol/©sbsysmgdol 30039ws@ BsGm3als s
MBOBOMbMYGOsDY: a) sboewo dmIbdscmgdgwo;

b) gob5fogdol woigbBosdo;
c) Lobgerdfogm;

d) 8509379069090 MMHsbm;

The correct answer is: sboqnro dmdbds6gdgero;



doemobgo (2019)

1) 998mm35¢go IM03Eb39woL Losbas®odm 3mgn030gbE 0, 09 3Mo3Ebggwol fobs B3969ds

0ym 00315 5bseo 3o 00355 o 50MbgbEHL 53 396900l Bobg300 WogHOEbs 800333/ /Lon?
506B0g 90!

a. 15;

The correct answer is: 20

2) 35800m35¢ 90 3603b3gob fobs 396905, g 36MdO0s, HMI IMoEbggEol sHoEro
B3969d55 004356 5 53Mb76EL 53 B39BdOL Jobgz0m sgMOEbs 126033 /L. IMoiEbgzgwrols
L5956 9M0TM 3mgz30(309630 3=30? s0MB0g 9PMo:

a. 004305;
b. 004334;
c. 004326;
d. 004314;

The correct answer is: 004314

3 ) 060003000955 A53M0(3H39w 05590 FMLsbeng 53Mb9bGHIOL, 30 ®9do JMbsIGMYdIO
101 33¢/bo 9egdGHOMIbyMR0s gMHOEHYBSM GHM0TB0M?

50Mb0og gPmo:

a. 0.142367 ws60;
b. 0.182133 ws60;
c. 0.227327 @oo60;
d. 0.2108306 ¢s60;

The correct answer is: 0.142367 560

4 ) 060003005 25dMH0(3b39E05693) Fmbobeng 50MmbgbEH9dL, 30 wgdo dmbdsmgdwyero



301 33¢).bo 9e9dBGHOMYbIMR05 sgMHOEHYdS B9M0TZ0M?
506B0g 9MHmo:

a. 0.142367 o6o;

b. 0.182133 s®0;

c. 0.227327 qo6o;

d. 0.2108306 s60;

The correct answer is: 0.182133 s60

5 ) 0600030005 MEO© 259M0(3b39w0569d)e Fmlisbeng 5dMmbgbEgdl, 30 wgdo dmbdsMgdwyero
302 33¢).bo 9e9dBHOMYBIMY05 IYMOEHYdS BOM0TR0?

506B0g 9Mmo:

a. 0.142367 o60;

b. 0.182133 ws60;

c. 0.227327 ¢@o6o;

d. 0.1625096 s60;

The correct answer is: 0.227327 ws60

6) 36mdoos Hmd 01/01/2018_3d0, dM03b39wol F3969d5 ogm 9152, beenem 01/02/2018_do
B39b90ds 0g4m 2566. M53960 33¢3/Lo IIMOEbS 5dMbYBAL 53 39MHOMPOL J56353MdST0? S0MBOY
9e»0:

a. 566;
b. 3414;
c. 6586;
d. 1134;

The correct answer is: 3414



7)) “s6bogmxzo3bmzmgdm™ 353 9amM00l 50mbgb@El,dM0Ebggwro Losbysmodm
309830309630 K=120, Infiymdowo sJ3b s0®moibgol 339560 0.4 33 dod35Bg. dglsdsdobo,
dmbdoMgdaro gargd@BemHmgbgmaos s MbEs IIMOELML BHoMOGoM? s0MH0Y gOHMO:

a. 0.227327 ws60;
b. 0.2108306 s60;
c. 0.1625096 60
d. 0.1485974 560;

The correct answer is: 0.2108306 560

8) 3bmdoos Hmd 01/09/2017-3o, IM03b39wolL B3969d5 ogm 99526, bmerm 01/01/2018_0o
B39690s 0gm 01698. M550 333/LO SIOOELS 50MbIBAEL 53 39HOMPOL 356353 MdS0?
506B0g 9Mmo:

a. 2172;
b. 4591;
c. 7828;
d. 1251;

The correct answer is: 2172

9) “5eLoygmBo3bmzmIM 35393MmM00L 53MbBIBEL, MMIgubss s0MoEbgol 39356d0, AM0Eb3gE ol
L5956 9M0dM 395303096 EGH0m K=120, Infymdogro 543b 6 33 ds035Dg. dmbdsmgdwero
99dGHH™9b96M00 bs ogMosbmlb GsMogoom:

a. 0.227327 @s60;

b. 0.2108306 s60;

c. 0.1625096 60

d. 0.1485974 s60;

The correct answer is: 0.1625096 sM0



10 ) gbmdoos Gmd 01/01/2018_do 3Go3bggerol 39bgds oym 99812 bmerm 01/02/2018_30
B396905 0gm 00235 IHOEH3g0L Losbys®0odm 3m9n03096E0 K=10. G53gbo 333/Lo
©596M03bs 50MmbgbBHL 58 39HOMPOL gobdsgzemdsdo? s0MmBOY gMmO:

a. 2090;
b. 4230;
c. 9870;
d. 6345;

The correct answer is: 4230

11 ) “sGLogmxzssgbmz®mdm™  35¢)9am®ool  53mbgb@l, ©mdgebsg  smMoisbgzol  3s356d0
dmfymdowwo 5Jal 35 33 d9035Dg. dmbIoMmgdmo gwgd@mmgbgMaos Mbs ogmosbmls
GSM0gom: a. 0.227327 qws6o;

b. 0.2108306 s60;
c. 0.1625096 s60;
d. 0.1485974 s60;

The correct answer is: 0.1485974 ¢o60

12)) “5s6bogmx3s3bmgzmgdm* 35393mM00L sdMmbgbBl, MMl s0Mobaol 39356d0 Imfiymdocro
593U 110 33 dsd35Dg. ImbToMmgdwo gergdBHMmgbghaos Mbos IgMHOEbML GHoMogom:

506B0g 9Mmo:

a. 0.227327 ws60;
b. 0.2108306 s60;
c. 0.1625096 60
d. 0.1485974 560;

The correct answer is: 0.1485974 560



13 ) “s6bogmxzs3bmzmadm* 353)93™M00L 5dMmbgbB, HMIELss s0Mobaol 39356d0
9mfymdoo 5943b 10 33 dsd35Dg, mbIoM9d0 9egd@mM9bMa0s Mbs ogMoEbml
G9M05300: 506B0Y 9MMO:

a. 0.227327 s60;
b. 0.2108306 s60;
c. 0.1625096 s60;
d. 0.1485974 360

The correct answer is: 0.1625096 60

14) 060003005 Mo@ godMr03Eb3zgm0sbgdwem dmbobang 50mbgb@EgdL, 30 wmgdo
3mbsdmgdo 220 33¢/Lo gargdBH®™IbgMR0s IIOOEHYO0 BOMOFGOM:

506B0g 9Mmo:

a. 0.142367 o60;

b. 0.182133 qo®0;

c. 0.227327 qo6o;

d. 0.2108306 s60;

The correct answer is: 0.182133 (s60

15 ) ®©m3gwo GHosmogom b IgM0EHML 5dMbIbEHL HMIOL 353JAMM0sS
“b59gOBgem FmbIsMgds”: s0Mbog 9Pmo:

a. 0.1625096 s60;

b. 0.1485974 qs60;

c. boxggbm®mmzsbo (BEg3) BHoMozgom;
d. Bmemgsbo Gomogoo;

The correct answer is: bm3560 GHoM0g00m



16 ) 359mmzsego IMHob39wol 3095303096G0 vy IGoEbggwol fobs B39bgds ogm 01335
5boeo 30 01379 o 50MbgbEL 53 396900l doby3z00m WogMoibs 880333/ /Lon? s0MmBog ghmo:

a. 20;
b. 10;
c. 30;
d. 15;

The correct answer is: 20

17 ) 350mom35¢0g0 3MoEbzgerol obs B3qbgds 0v) 36mdoos, ®mad dMoEbggerol sbowo
B3969055 01256 s 50MbgbEHL 53 B3969d0L obygz00m WIMOELS 2642033¢)/Lo. IMoEbggErol
LosbgOMOTM 3m9n303090630 3=20? S0Mbhog ghmo:

a. 01225;
b. 88995;
c. 00025;
d. 99935;

The correct answer is: 99935

18 ) 36md00s, HMI 5HSBOYMBI3HMZMIIM 353)JAMM00L 5dMbgbEHOUL (FoMogo 0.2108306)
dmobzgerol obs B396905 ogm 04245 o 53 IM0Eb3geol sbowo B3969d0L dobgwgzom
50mbgbEL ogMoibs 202,40 o60. odmom35¢go IM0Eb3gEol sbowro Bzqbgds 09 1939
3b™d00s, ®Md IM03b39ol Losbys®odm 3mgxroE0gbE0s 3=30? s0MmBoYy 9O mO:

a. 04205;
b. 04277;
c. 04230;
d. 04305;

The correct answer is: 04277



19) 36md00s, HM™MI 53mbyxBEHOL §obs B3gbgds 0gm 12597, bmerm sboewo 3o 13245, Ihoisbgerol
Lo5BAIMOTM 3mgB0(3096EH0 3=60 S 5dMbY6EL 53 B3967dgdOL dobgz0m WogMoEbs 6318.37
WM0. M5 BMOFGOM gMHO3bs 50MbgbEL? s0oMBog ghmo:

a. 0.227327 ws60;
b. 0.2108306 s60;
c. 0.1625096 60
d. 0.1485974 560;

The correct answer is: 0.1625096 560

20 ) 36mdoos ™3 06030 Mo godt0Eb3zge0sbgdwyero dmlisberols batxds 31
930 89503065 103333)/L0. 2o0MmOMZ5gMN ILIOOEHO Mabbs? s0MB0g 9O™O:

a. 22.09 goMo0;
b. 14.03 w560;
c. 17.44 ¢0s60;
d. 14.66 ¢s60;

The correct answer is: 14.66 (0560

21 ) 3bmdoos, “sMm5LoymRo3bmzMmgdMm” 3539aMmMm00L 53mMbgbEOL (GHoMogo 0.2108306) Lofiyolo
@5 0 B39690930 00850 5 00875. 5003MmBBS, M3 d0oobyol 36MAMssdo dMobagwols
L5562 5M0IM 39530309630 Fg3MI0Msd IGOJLOMGOE0, 3=30 Fo0365 GOJLOMGINEOS
3=10. 580960 33¢/L0-00 S M3dEHHO MBboM MBS 3MOIIEHOMIL 5dMbIBEHOL BoMS™O?
50Mb0og gemo:

a. 500 333/Lo» s 105.42 Ws60;
b. 500 33¢/bo> s 81.25 EoM0;
c. 200 33¢%/Lo s 32.50 oMO;
d. 200 33%/Lo s 42.17 EoMO;

The correct answer is: 500 33¢%/bo > 105.42 560



22) 50mbgbGHads dmobdo®s 250 33¢3/bm, G0 35L ELgMoEbs sGLTMMO EsMogom.
©M03Eb3s Imbs 0.178670 BHo®ogom, vbs sMoibgzmes 0.2108306-00. God9bo sGom
MBS 3MMJBHOMEIL 50MbgbEOL doM500? s0MR0Y gMmO:

a. 6.34 wsMHom;
b. 6.65 go®00;
c. 7.87 osHom;
d. 8.04 ewsrom;

The correct answer is: 8.04 ¢(v5(00»

23 ) 39580m35¢90 IM03Eb3gwolL BssbysModm 3m95303096¢0, 0wy IMoEbagEw ol {obs B39690s oym
089621 sbocno 30 089671 5 5dMbBybEL 53 B39bgd0oL Jobgz0m ogMoabs 3000333)/L0?

506B0g 9Mmo:
a. 80;

b. 10;

d. 60;

The correct answer is: 60

24 ) 459mmzgsegom IMobzgerol fobs B39bgds, v 36mdowos, HmA IMobggwrol sboero
B3969055 09671 s 50Mbg6EL 53 B3969d0L obggz0m gMOEbs 180033¢/Lo. IMoEbggeols
L5956 M0IM 3mgz30(3096BH0 3=60? S0MB0g gPmO:

a. 09601;
b. 09651;
c. 09641;
d. 09631;
The correct answer is: 09641

25 ) 36md00s, HMI “s6r5L5g4mBo3bM3MIOM” 3539MM00L 5dMbIbEHOUL (FoM0go 0.2108306)
dM03b3zgobl obs 396905 0ym 08546 s 53 IMHO(3b39 0L sboero B396900l Jobggzom 5dMmbgb3l



©59M03bs 1752.00 ¢0560. odMmom35¢gm dM03b3gEol sbawo Bg9bgds 049 slsg39 36MdoE0s,
603 3M03EH39oL LosbysMmodm 3m9n303096@¢0s 3=30? s0MmB0g gMMO:

a. 08837;
b. 08840;
c. 08816;
d. 08823;
The correct answer is: 08823

26 ) 36md00s, HMI 53mbybEHOL IMoibggwol obs B3zgbgds ogm 00075, bmerm sboero 3o 00825,
dM03b39wob Losbysodm 3m95303096@0 3=100 S 5dMbIbEL 53 39690900l dobgz0m ogMoEbs
12188.22 ¢0560. 5 3960500 o9Mo3bs 50mbgb@ls?

506B0g 9Mmo:

a. 0.227327 ¢s60;
b. 0.2108306 s60;
c. 0.1625096 s60;

d. 0.1485974 s60;

The correct answer is: 0.1625096 s60

27 ) 36md00s M3 060003005 Mo@ 5300339056900 dmbobarol bo®xds 28 mgdo
99500065 102 333/L0. 250000359 IBEMOEFHO Mobbs?

50Mb0og gBmo:
a. 14.52 ¢s6o0;
b. 17.27 ws60;
c. 15.68 goMo0;
d. 18.58 goMo0;
The correct answer is: 18.58 ¢vo®o

28 ) 36md009, “s6r5L594mBo3bmzMmIdM” 35(3)9MM00L 5dMbgbEHOL (FoMm0go 0.2108306) LsHyolo
5 3 B39690900 0001 5 0540. 53R, HMI 3M:MYM535d0 IMO(3B39E0L LosbYIMOTM



309803095630 9930MmF0mss IB0JLOMGOMEO, 3=60 bo33w s IBOJLOMIdME0s 3=40.
5900960 33GH/L-0m S M33EIHO MBHOM MbEs WIIMMYIEOMPIL 53MBYEEOL dGOMO?

506B0g 9MHmo:

a. -10780 33¢/Lo> o -2272,95 EoM0;
b. 10580 33¢/bLo> s 2230.59 sG0;
c. 10780 333/Lod s 2272.75 @0s60;
d. -10580 333/Lo s -2230.59 @oM0;

The correct answer is: 10780 33¢3)/Uo ©s 2272.75 560

29 ) 50mbgbBds dmobdoMs 853 33¢%/Lm, HMIGEro3 FoL OgMOEDbs SGSLFMMO EsMOGOm.
©M0Eb3S IMbs 0.1625096 (3sH0TB0m, 96O oMOEb3M©s 0.2108306-00. ©53IBO sGom
MBS ©33MMJBHOMOIL 50MbgbEHOL doMm0? s0MmBOY gPIMO:

a. 41.22 wsGom;
b. 45.72 cwos6rom;
C. 46.37 05600
d. 48.04 ws®oo;

The correct answer is: 41.22 (ws6Hom

30 ) 06003005 MESE 259M0(3b39w0569d ) Tmlsbeng 50MbgbE9dl, 30 owgdo
dmbdoMmgdo

95 333/Lo 9B MIbIMR05 IIOOEHYDOM FIOHOGOM?
506B0g 9MHmo:

a. 0.142367 o60;

b. 0.182133 s®0;

c. 0.227327 @oo60;

d. 0.2108306 s60;

The correct answer is: 0.142367 60

31 ) 06003005 MO© 259M0(3b39w05690)e Tmlisbeng 5dMbgbEgdl, 30 wgdo
dmbdoMgdo



295 33630 9e9dBHOMYbMY0s IGMOEYdS BHOMOBROm?
506B0g 9Mmo:

a. 0.142367 o60;

b. 0.182133 s®0;

c. 0.227327 @o6o;

d. 0.2108306 s60;

The correct answer is: 0.182133 ¢o60

32 ) 06000300095 259M0(3b3900569d)e dmlisbeng 5dMmbgb3gdl, 30 owgdo
dmbdoMmgdweo

315 33¢)-bo 9 9dBHO™MYbgMY0s IGMOEYdS BOMOBO0m?
506B0g 9Mmo:

a. 0.142367 o60;

b. 0.182133 qo®0;

c. 0.227327 @o6o;

d. 0.2108306 o60;

The correct answer is: 0.227327 @s60

33 ) “s6OLoygmBo3bmzMmgIM 353 93MmM00L 50MbrbEL, MMIgebsg s0MoEbgzol 35396d0,dM0bggwols
L5562 96M0dM 3095303096 EGH0m K=120, Infiymdowo 543b 6 33 350359, 30 ®qdo dmbdsm9gdeo
360 33®.bo gagdBHmM9bgMHA00L OMYOEgds B OIMOELML BHOMOR0M? S0MROY gBIMO:

a. 0.227327 s60;
b. 0.2108306 s60;
c. 0.1625096 s60;

d. 0.1485974 @5610;

The correct answer is: 0.1625096 60



34 ) “s6OLogmxzobmzmgdm”  3539gamO00L  sdMbgbBHL, MMIgElsg  sMoEbgzol  3s356do
dmfiymdoo 5J43b 35 33 dsd35D9, 30 egdo IMbIsegdmeo 7000 33¢3).Lo gEgdEM™gbaMaool
00690 gds b IYMOELML BHoMogom?

506B0g gPmo:

a. 0.227327 s60;
b. 0.2108306 sM0;
c. 0.1625096 s60;
d. 0.1485974 s60;

The correct answer is: 0.1485974 560

35 ) “oMloymaogbmzg®mgdm®  3539amMmool  sdmbIbBHL, MHMIgELsg  sMOoEb3ol  35356d0
9mfymdoro 5343b 110 33 dsd35DY, 30 gdo BmbIsdgdyero 33000 333).bo> gwgdBHOM9bgcyos
MBS gMHOEbML G5M05300m? S0MB0g 9MmO:

a. 0.227327 s60;
b. 0.2108306 ws60;
c. 0.1625096 s60;
d. 0.1485974 360

The correct answer is: . 0.1485974 60

36 ) “sOlogmxyobmzmgdm”  3539aMmO00L  sdMbgbBHL, MMIgElsg  sMoaEbgzol  39356do
3dmfymdoeo 5943b 10 33 d5d35B9, 30 EEgdo dmbIsMgdeo 12000 333).Lod 9w9dEHO™gbgGos
MBs OgMHOEHML BHoMozom? s0MBog gOHmO:

a. 0.227327 qs60;
b. 0.2108306 s60;
c. 0.1625096 s60;
d. 0.1485974 s60;

The correct answer is: . 0.1625096 560



37 ) 53mbgbEHobm3z0L GHomogol 060 Fgds sdm30gdEos?

50MB0g gPmo:

a. 50M03b30L 3396d0l Imfigmdol dsd30l LoggbMHby

b. 50®0oEb30l 3396d30 dsd30L BHEMBLGBMOTSEHMMGIOOL SOLYGOMDsDY

c. 506M03bz0L 3396d80 YboL FHMIBLFMEOTsEHMMGOOL sOBYOMDIBY

d. 506M03bz0lL 3396d80 bol s dsd30L BHMBLFMOTsEHMMIIOL sOLYGdMdSBY The correct answer

is: 50MoEb30L 3356d0L IMFymdol dsd30L Loggbwr® By

38 ) 99dBHMMgbgMaool ImbTsmgdol EHoMm0gBgIL 5Oy qdL?

50Mb0g gemo:

a. LOgoMM39W ML 9bgMPE030L LsTobolEBHMM

b. Logdo®mzgaml 93mbmdozol s yMso gob30ms®mgdols bsdobolEmm

c. LogoMMZ9gW ML MHgL3BO30L 350EsdgbEO

d. bogdomzgml 969MH G030 s §godMToMm9d0L oMM gdgwo gMM3629o 3mdobos

The correct answer is: LodoGM39™L 9o9MHAIEHOIO0L s [ioeIMTsM5ggd0L BoMgAIOMJIIO
96H™36eo 3mdobos

39 ) 50M0bg0l 3356d0L sH0sBgdOL Fgdmbgzg35d0 sdMbIbEBHL Fglodergdgaros IgMOEbMU?
506B0g 90!

a. 309600900l gosLiobso

b. 50MMoEbg35 FmbdoMgdero gargd@mmgbg®aos

€. ©93mbBoGO

d. %5600

The correct answer is: 502036535 dbTsMgdMWO gargdBHOmgbgMos



40 ) 9cnbdom9do gergdGHM™mgbghaool oM9gdIgdol gooIbIMdOL yodm
3950008300 d90mbgz935d0 9e9dGHOMgbge00l Jofimgdol sA960LL 50mMbgbEL
59M0(3bgds? s0MboYg gPmo:

a. 50M0;3bsg5 dmbIsMmgdo gwgd@emmgbgtyos

b. %5600

c. 3096900l 45olobIO

d. @g3mbBo@o

The correct answer is: 3096900l 450 sLoboEO

41 ) 960 ol 3563530 md5d0, Inbdo®gdeo gargd@Emmgbgdaool oMgdregdols
390595 MdOL 2odm Igbodx e 45000830l Igdmnbzg3500 sdMbgbBHL ogMOEbYds?

506B0g 9Mmo:

a. 50MH0(3bs35 IMbIsMYOME0 99 BHOMgbghyos
b. 809600930 gooLEbOEO s Y3MBOEGO

c. 309607900l gosliobso

d. x56M00s

The correct answer is: 3096900l 450 5L5boEO S I3MBOGEHO

42 ) 359mmz5ego IM03H3900L LosbRIM0TM 3Mm9B30309bE0, v IMoEblgEol Hobs B3gbgds ogm
134485 5b5¢0 30 134565 s 50mbgbGHL 53 B3969d0L dobggzom ogMoisbs 1200336 /Lo?

50Mb0og gBmo:
a. 15;
b. 30;
c. 10;
d. 20;

The correct answer is: 15



43 ) 359Mm0m35¢90 IO03Ebggwol [obs B39690s, v 36MdOE0s, H™A IMoiEblgwOlL sboero
B3969055 00275 s 50mbg6EL 53 B3969d0L dobggzom sgMoEbs 33150 33¢3/Lm. dMoEbggEwoL
Losba®0dM 3m9gx303096E0 3=30.

506B0g 9Mmo:
a. 99170;
b. 98840;
c. 67125;
d. 00052;

The correct answer is: 99170

44 ) 3bmdowos Gm3d 01/12/2017_30, IHozbggerol B39b9ds ogm 99832, bmerm 01/01/2018_do
B396905 0gm 00566. G560 333/Lo IIMOELS 50MbIBAEL 53 39MHOMEOL Q56353 Mds0?
dM03Eb39wob Losby®modm 3mgxno3ogbdo 3=1.

506B0g 9Mmo:
a. 566;
b. 734;
c. 610;
d. 157;

The correct answer is: 734



45 ) 3bmdowos Gm3d 01/01/2018-3o0, IHoEb3zgeol B3969ds 0ym 99738, beerm 01/02/2018_do
B396905 0gm 01698. H5dI60 333/Lo IIMOELS 50MbIBAEL 53 39MHOMPOL Q56353 MdS0?
dM03Eb3z9ob Losby®modm 3mgxno3ogbdo 3=1.

506B0g 9Mmo:
a.2172;
b. 4591;
c. 7828;
d. 1960;

The correct answer is: 1960

46 ) 36mdoos ®M3d 01/01/2018_do dMobagarol B39bgds ogm 99903 bmenrm 01/02/2018_do
B396905 0gm 00235 IHOEb3g0L Losbys®odm 3m9n03096E0 K=20. G5dgbo 333/l
©59M03bS 50MbgbBHL 53 3gHOMPOL #obdsgzemdsT0? s0MmR0Y gMmO:

a. 2090;
b. 4230;
c. 9870;
d. 6640;

The correct answer is: 6640

47 ) 359mmzg0cgom IM03b39w 0l LosbasM0dm 3m9z30309bE0 M) IMOEb3 ol Fobs h3969ds
0ym 55648 5b5¢0 30 55790 o 50MmbgbHUL 93 B3969d0L Bobgzom @ogHoisbs 426033¢/bo?
506B0g 90!

a. 20;
b. 10;
c. 30;
d. 15;

The correct answer is: 30



48 ) 2459Mm0m35¢ g0 dM03Ebggol fobs 396905 v 36MdOE0s, HMA IMobggEol sboero
B3969055 01256 s 50MbgbEHL 53 B3969d0L dobggz0m ogMOEbs 3966033¢/Lo. IMoEbgzgeol
LosbgOMOdM 3m9n30309630 3=30? S0Mbog ghmo:

a. 01225;
b. 88995;
c. 00025;
d. 99934;

The correct answer is: 99934

49 ) 36Mmd00s, HMI 5MHIBOYMBI(3HMZMIIM 353900l 53MbYbEHOL (BHoMoxo 0.2108306)
dM03b3zgob obs 396905 0ym 34578 s 53 IMO(3b390L sboero B3969d0l dobgwgom
50mbgbEL ogMobs 602.98 sG0. Jo3MmomMZ5eg M3l sHoro B3gbgds vy sbg39
3bmd00s, ®MI IH0Eb3gol Losbys®odm 3mgz03096G0 3=20? s0MmBog gPmo:

a. 34205;
b. 34277;
c. 34721,
d. 34805;

The correct answer is: 34721

50 ) 3bmdO0s, HMI 5M0LoYgMBIEHMIMGOM 353 JaMmO00L 50MbgbEOL (GoMozgo 0.2108306)
dM0o3bggol B3969ds 01-01-2018 oym 134485, 01-02-2018 B396905 — 135567. g00mm35¢0go
Q3LIMOELO 30 MZ5BHL5MYOOL 5 MBbOL MoM©YbMdS vy 3bmdoos, H™A IMoEbggwol
LosbgMOTM 30m95303096E0S 3=20? S0Mbog gBmO:

a. 21620 333/Loy; 4279.83 ws60;
b. 21640 33%/bo; 4562.37 s60;
c. 10820 333/bov; 2141.89 woMo;
d. 10840 333/Loy; 2145.85 ws60;

The correct answer is: 21640 33¢/bo; 4562.37 @s60






